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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 

Fifth Semester 

Commerce with Corporate Secretaryship  

CORPORATE ACCOUNTING – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is share? 

 “£[S” GßÓõÀ GßÚ? 

2. What is forfeiture of shares? 

 “£[S J¸¤Ç¨¦” GßÓõÀ GßÚ?  

3. Briefly note on “Issue of debentures”. 

 “Phß £zvμ[PÎß öÁÎ±k” £ØÔ _¸UP©õP TÓÄ®. 

4. What is replacement of capital? 

 ‰»uÚzøu ©õØÖÁx GßÓõÀ GßÚ? 

5. What is fresh capital? 

 ¦v¯ ‰»uÚ® GßÓõÀ GßÚ? 

6. Briefly note on cum-interest on debentures. 

 PhÜmk¨ £zvμ[PÒ «uõÚ P®&Ámi _¸UP©õPU TÓÄ®. 
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7. What is financial statement? 

 {v{ø»&AÔUøP GßÓõÀ GßÚ? 

8. What is balance sheet? 

 C¸¨¦{ø»U SÔ¨¦ GßÓõÀ GßÚ? 

9. Explain the “profit prior to incorporation”. 

 Cøn¨£uØS •ß C»õ£zøu ÂÍUSP. 

10. What are the incorporation expenses? 

 J¸[Qøn¨¦ ö\»ÄPÒ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A company issued 6000 shares of Rs.10 each 
payable at premium of Rs.3 per share. Instalments 
were fixed as under: 

  Rs.3 on application (Including Re.1 for premium) 

  Rs.3 on allotment (including Re.1 for premium) 

  and Rs.7 on call (including Re.1 for premium) 

  All the amounts were fully received. Prepare cash 
account in the books of the company and pass 
necessary journal entries.  

  J¸ {ÖÁÚ® ¹.10 ©v¨¦ÒÍ 6000 £[SPøÍ 
öÁÎ°mhx. Âsn¨£zvß «x ¹.3 (¤Ÿª¯zvØS 
¹.1 Em£h) JxURmiÀ ¹.3 (¤Ÿª¯zvØS ¹.1 
Em£h) ©ØÖ® AøÚzv¾® ¹.7 (¤Ÿª¯zvØS  
¹.1 Em£h) AøÚzxz öuõøPPÐ® •øÓ¯õP¨ 
ö£Ó¨£mhÚ. {ÖÁÚzvß ¦zuP[PÎÀ £nz 
PnUøPz u¯õ›zx, ÷uøÁ¯õÚU SÔ¨÷£mk 
£vÄPÒ u¸P. 

Or 
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 (b) Mr. Senthil is a share holder in Kiran Ltd holding 
2000 shares of Rs.10 each. He has paid Rs.2 and 
Rs.3 per share on application and allotment 
respectively but failed to pay Rs.3 and Rs.2  
per share for first and second calls respectively. 
Directors forfeit his shares. Give journal entry. 

  v¸. ö\¢vÀ Qμs ¼ªöhm {ÖÁÚzvÀ u»õ ¹.10 
Ãu® 2000 £[SPøÍ øÁzv¸US® £[SuõμõP 
EÒÍõº. Âsn¨£® ©ØÖ® JxURmiÀ •øÓ÷¯ 
J¸ £[QØS ¹.2 ©ØÖ® ¹.3 ö\¾zv²ÒÍõº. BÚõÀ 
•uÀ ©ØÖ® CμshõÁx AøÇ¨¦PÐUS •øÓ÷¯ 
¹.3 ©ØÖ® ¹.2 ö\¾zu uÁÔÂmhõº. C¯US|ºPÒ 
AÁμx £[SPøÍ CÇUQÓõºPÒ. SÔ¨÷£mk 
£vÄPÒ u¸P. 

12. (a) A company wishes to redeem its preference shares 
amounting to Rs.1,00,000 at a premium of 5% and 
for his purpose issued 5,000 equity shares of Rs.10 
each at a premium. The company has also a  
balance Rs.1,00,000 on general reserve and 
Rs.50,000 on Profit and Loss account. 

  Pass the necessary journal entries to record the 
above transaction. 

  J¸ {ÖÁÚ® uÚx ¹. 1,00,000 •ßÝ›ø©¨ 
£[SPøÍ 5% •øÚ©zvÀ «möhkUP Â¸®¦QÓx. 
÷©¾® C¢u ÷|õUPzvØPõP ¹.10 Ãu® 5000 \õuõμn 
£[SPøÍ •øÚ©zvÀ öÁÎ°mhx. ö£õx 
C¸¨¤À ¹.1,00,000 ©ØÖ® ¹.50,000 «v EÒÍx 
»õ£® ©ØÖ® |mhU PnUS. 

  ÷©÷» EÒÍ |hÁiUøPPøÍ £vÄ ö\´¯ 
SÔ¨÷£mk £vÄPÒ u¸P. 

Or 
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 (b) Redemption of 20,000 preference shares of Rs.100 
each was carried out by utilisation of reserves and 
by issue of 8,000 equity shares of Rs.100 each at 
Rs.125. How much should be credited to capital 
redemption reserve account? 

  20,000 •ßÝ›ø©¨ £[SPÒ ¹.100 I «möhk¨£x 
øP°¸¨ø£¨ £¯ß£kzxÁuß ‰»® ¹.100 UPõÚ 
8000 \õuõμn¨ £[SPøÍ ¹.125&US öÁÎ°kÁuß 
‰»® ÷©ØöPõÒÍ¨£mhx. ‰»uÚ «m¦U PnUQÀ 
GÆÁÍÄ ÁμÄ øÁUP¨£h ÷Ásk®.  

13. (a) A limited company issued 2,000 debenture bonds of 
Rs.100 each at premium of 10% repayable at per at 
the end of the 10th year. The debenture bonds were 
payable 25% on application. 25% on allotment 
(including the premium) and the balance on first 
and final cash. All the moneys were received by the 
company in the course. 

  You are asked to journalise the above transactions 
in the books of the company. 

  J¸ Áøμ¯ÖUP¨£mh {ÖÁÚ® 10 B® Bsiß 
CÖv°À 10% •øÚ©zvÀ u»õ ¹.100 Phß 
£zvμ[PÒPøÍ öÁÎ°mhx. PhÜmk¨ £zvμ[PÒ 
Âsn¨£zvß «x 25%, JxURmi 25% •øÚ©U 
Em£h) ©ØÖ® «u•ÒÍ öuõøP •uÀ ©ØÖ® CÖv 
AøÇ¨¦ AøÚzx £n•® £i¨¤À {ÖÁÚzuõÀ 
ö£Ó¨£mhx. 

  ÷©÷» EÒÍ |hÁiUøPPøÍ {ÖÁÚzvß 
¦zu[PÎÀ SÔ¨÷£mk¨ £vÄPÒ ö\´²®£i 
÷PmP¨£kQÕºPÒ. 

Or 

 (b) Journalise the following transaction at the time of 
issue of debenture and redemption of debentures : 

  (i) Debenture issue at Rs.95, repayable at Rs.100 

  (ii) Debenture issue at Rs.95, repayable at Rs.105 

  (iii)  Debenture issue at Rs100, repayable at 
Rs.105 

  (iv) Debenture issue at Rs.95, repayable at Rs.100 

   The face value of each debenture Rs.100. 



S–7090 

  

  5

  Phß £zvμ[PÒ ©ØÖ® Phß £zvμ[PøÍ 
«möhkUS® ÷|μzvÀ ¤ßÁ¸® |hÁiUøPø¯ 
£vÄ ö\´¯Ä®. 

  (i) Phß £zvμ[PÒ 95 ¹£õ´US öÁÎ°h¨£k® 
100 ¹£õ´US v¸¨¤a ö\¾zu ÷Ásk® 

  (ii) PhÜmk¨ £zvμ[PÒ ¹.95US 
öÁÎ°h¨£kQßÓÚ, ¹.105US v¸¨¤ ö\¾zu 
÷Ásk® 

  (iii) ¹.100 US Phß £zvμ öÁÎ±k ¹.105US 
v¸¨¤a ö\¾zu ÷Ásk® 

  (iv) ¹.95&US Phß £zvμ öÁÎ±k ¹.100 CÀ 
v¸¨¤a ö\¾zu ÷Ásk® JÆöÁõ¸ Phß 
£zvμzvß •P ©v¨¦ ¹.100. 

14. (a) Explain briefly the major change related to 
statement of profit and loss introduced by revised 
schedule VI to the companies Act-1956. 

  {ÖÁÚ[PÒ \mh® 1956 US v¸zu¨£mh 

AmhÁøn Gs&VI ‰»® AÔ•P¨£kzu¨£mh 
C»õ£® ©ØÖ® CÇ¨ø£ AÔUøP&öuõhº£õÚ •UQ¯ 
©õØÓzøu _¸UP©õP ÂÍUPÄ®. 

Or 

 (b) From the following balances, prepare the balance 
sheet of the company in the proscribed format. 
Goodwill Rs.1,50,000; investment Rs.2,00,000; share 
capital Rs.5,00,000; reserves Rs.1,10,000; securities 
premium Rs.15,000; preliminary expenses 
Rs.10,000, profit or loss account (Cr) Rs.25,000; 
debenture Rs.2,50,000; fixed asset Rs.4,70,000; 
stock Rs.80,000 debtors Rs.60,000; bank balance 
Rs.30,000; unsecured loan Rs.65,000; sundry 
creditor Rs.35,000. 
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  ¤ßÁ¸® {¾øÁPÎÀ C¸¢x £›¢xøμUP¨£mh 
ÁiÁzvÀ {ÖÁÚzvß C¸¨¦ {ø»U SÔ¨ø£ 
u¯õ›UPÄ® |Øö£¯º 1,50,000; •u½k 2,00,000 
£[S ‰»uÚ® ¹.5,00,000 Põ¨¦ ¹.1,10,000; 
£zvμ[PÎÀ •øÚ©® ¹.15,000; •ußø© 
ö\»ÂÚ[PÒ ¹.10,000, C»õ£ |mhU PnUS (ÁμÄ)  
¹.25,000 PhÜmk¨ £zvμ[PÒ ¹.2,50,000; 
{ø»¯õÚ ö\õzx ¹.4,70,000 \μUQ¸¨¦ ¹.80,000; 
PhÚõÎPÒ ¹.60,000 Á[Q°¸¨¦ ¹.30,000; 
£õxPõ¨£ØÓ Phß ¹.65,000; £Ø£» PhÜ¢÷uõº 
¹.35,000. 

15.  (a) What is profit prior to incorporation? How do you 
treat it in account? 

  Cøn¨£uØUS •ß GßÚ C»õ£®? Aøu G¨£i 
PnUQÀ Gkzx öPõÒÃºPÒ. 

Or 

 (b) Arumugam a sole trader, dedecid to convert his 
business into a limited company from the following 
relevant dates, you are required to compute the time 
ratio for the purpose of ascertained profit prior to 
incorporation 

  (i) Date of sale of the business to the company 
31.12.2014 

  (ii) Date of obtaining certificate of incorporation 
1.5.2015 

  (iii) Date of obtaining certificate to  commerce 
business 16.7.2015 

  (iv) Date of finalising the first account of the 
company 30.9.2015. 
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  uÛ¯õº ÁºzuPμõÚ BÖ•P® ¤ßÁ¸® Á¸Áõ´z 
÷uvPÎÀ C¸¢x uÚx ÁoPzøu J¸ 
Áøμ¯ÖUP¨£mh {ÖÁÚ©õP ©õØÓ •iÄ ö\´P. 

  (i) 31.12.2014 {ÖÁÚzvØS ÁoPzvß ÂØ£øÚ 
÷uv 

  (ii) Cøn¨¦a \õßÔuøÇ¨ ö£Ö® ÷uv 1.5.2015 

  (iii) ÁoPzøu öuõh[SÁuØPõÚ \õßÔuøÇ¨ 
ö£ÓÓ ÷uv 16.07.2015 

  (iv)    {ÖÁÚzvß •uÀ PnUøP CÖv ö\´u |õÒ 
30.9.2015. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. M. Ltd issued a prospectus offering 10,000 equity shares 
of Rs.20 each at Rs.22 per share, payable as follows: 

 On application Rs.3 per share 

 On allotment Rs.8 per share (including premium) 

 On first call Rs.6 per share 

 On final call Rs.5 per share. 

 Application were received for 10,000 shares and all 
money on allotment, first-call and final call were except 
the final call amount on one holding of 400 shares. These 
shares were forfeited and 300 of there were subsequently 
reissued at Rs.20 per share, fully paid up, make the 
journal entries. 
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 G®. ¼ªöhm, 10,000 \© •ßÝ›ø© £[SPÒ 
JÆöÁõßÖ® ¹.20 Ãu® J¸ £[QØS ¹.22 GÚ 
ÁÇ[P¨£k®. ¤ßÁ¸©õÖ ö\¾zu¨£k® Âsn£zvÀ 
J¸ £[SUS ¹.3; J¸ £[QØS ¹.8 JxURmiÀ (•øÚ©® 
Em£h) •uÀ AøÇ¨¤À J¸ £[SUS 6 ¹£õ´ CÖv 
AøÇ¨¤Ú ÷£õx J¸ £[SUS ¹.5. 

 10,000 £[SPÐUS Âsn¨£® ö£Ó¨£mhx ©ØÖ® 
JxURmiÀ £n® ö£Ó¨£mhx. 400 £[SPÎÀ J¸Á›ß 
CÖv AøÇ¨¦ ö£Ó¨£mhx. C¢u £[SPÒ £Ô•uÀ 
ö\´¯¨£mhÚ. CÁØÔÀ 300 £[SUS ¹.20 GÚ «sk® 
öÁÎ°h¨£mhx. •Êø©¯õP ö\¾zu¨£mhx. 
÷uøÁ¯õÚ SÔ¨÷£mk £vÄPÒ u¸P. 

17. On January 1, 2014, Madras motors Ltd., issued 3,000 7% 
redeemable preference shares of Rs.10 each all of which 
were taken up and fully paid. On 30th June 2021, the 
company decided to redeem these shares at a premium of 
Rs.4 per share. For the purpose. it issued 1800 6% 
preference shares of Rs.10 each at a premium of Rs.1 per 
share on July 15, 2021. The shares were subscribed and 
paid for by July 31, 2021. The 7% redeemable preference 
shares were redeemed on the same date. The  company 
had a balance of Rs.28,000 in its profit and loss account 
On 1st September 2021, the company decided to issue 
5,000 fully paid bonus shares of Rs.10 each for allotment 
to equity share holders in the ratio of one equity share for 
four shares held. It had also a reserve of Rs.1,10,000. 

 Give journal entries in the books of the company. 

 áÚÁ› 1, 2014 AßÖ ö©mμõì ÷©õmhõº ¼ªöhm 3,000 
7% ªmuSa ö\´¯UTi¯ •ßÝ›ø©¨ £[SPøÍ ¹.10 
JÆöÁõßÖ® GkUP¨£mk •Êø©¯õP ö\¾zu¨£mhx 
áúß 30, 2021 AßÖ {ÖÁÚ® C¢u¨ £[SPøÍ 
•øÚ©zvÀ «möhkUP •iÄ ö\´ux. J¸ £[SUS 4 
C¢u ÷|õUPzvØPõP ¹.1,800 6% •ßÝ›ø©¨ £[SPøÍ 
öÁÎ°mhx. u»õ 10 ¹£õ´ •øÚ©zvÀ áüø» 15, 2021 
AßÖ J¸ £[SUS |õßS £[SPÒ \¢uõ ö\¾zu¨£mk 
áüø» 31, 2021 USÒ ö\¾zu¨£mhÚ. 7% «ÒuS 
ö\´¯UTi¯ •ßÝ›ø©¨ £[SPÒ A÷u ÷uv°À 
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«möhkUP¨£mhÚ. {ÖÁÚ® ¹.10 Auß C»õ£® ©ØÖ® 
CÇ¨¦ PnUSPÎÀ ¹.28,000 ö\¨h®£º 2021 AßÖ, 
{ÖÁÚ® 5000 •Êø©¯õP ö\¾zu¨£mh ÷£õÚì 
£[SPøÍ ¹.10 |õßS £[SPÐUS J¸ \© E›ø© 
•ßÝ›ø©¨ £[S GßÓ ÂQuzvÀ \© •ßÝ›ø© 
£[SuõμºPÐUS JxURk ö\´¯ u»õ ¹.10 øP°¸¨¦ 
¹.1,10,000 

 {ÖÁÚzvÀ ¦zuP[PÎÀ £zv›øP (SÔ¨÷£mk¨) 
£vÄPøÍ u¸P. 

18. Aurn Ltd; had Rs.9,00,000 10% debentures outstanding 
on 1.1.2013. On that date, the sinking fund stood in the 
company’s books at Rs.7,50,000. The fund was invested in 
Rs.7,95,000 6% Govt. bonds, the annual appropriation to 
the sinking fund was Rs.1,23,450. 

 On 31.12.2013, the interest on the investment was 
received. The bank balance before receiving interest was 
Rs.2,40,000. On that date, the investment were realised 
at 90% of their face value and the debentures were 
redeemed. 

 Show the important ledger accounts for the year 2013. 

 A¸n ¼ªöhm ¹.9,00,000 1.1.2013 AßÖ {¾øÁ°À 
EÒÍ 10% Phß £zvμ[PÒ A¢u ÷uv°À {ÖÁÚzvß 
¦zuP[PÎÀ ‰ÌS® {v ¹.7,50,000 C¢u {v ¹.7,95,000 
6% Aμ_ £zvμ[PÒ ‰ÌS® Cμsk BsiØUS 
JxUP¨£mh öuõøP ¹.1,23,450. 

 31.12.2013 AßÖ •u½kPÐUPõÚ Ámi ö£Ó¨£mhx. 
Ámi ö£ÖÁuØUS •ß Á[Q°¸¨¦ ¹.2,40,000 A¢uz 
÷uv°À •u½kPÒ AÁØÔß •P ©v¨¤À 90% ö£Ó¨£mk 
Phß £zvμ[PÒ «möhkUP¨£mhÚ. 

 2013 B® BsiØPõÚ •UQ¯©õÚ ÷£÷μmk¨ £vÄ 
PnUSPøÍU PõmkP. 
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19. From the following balances as on 31st December-2018 of 
a limited company, prepare statement of profit or loss for 
the year ended and balance sheet as on that date : 

Debit Rs. Credit Rs. 

Stock (1.1.2018) 33,380 Subscribed  

Discount 6,788 of paid up capital 50,000

Land 22,000 Sales 1,46,268

Plant and machinery 10,700 Sundry receipts 200

Purchase 91,888 Creditors 39,532

Furniture 2,750 Provision for  

Debtors 63,600 bad debts 5,300

P and L account (Dr.) 4,960 Discount (Cr) 5,904

Carriage 3,780 Bank overdraft 13,823

Wages 9,016  

Bad debts 1,820 Customer’s deposit 400

Office expenses 10,275  

Cash in hand 470  

 The following adjustments have to be male : 

 (a) Stock on 31.12.2018 Rs.35,400 

 (b) Depreciation on plant and machinery at 10% and 
furniture at 6% 

 (c) Provide 10% for bad and doubtful debts 

 (d) Customer’s deposits has been forfeited 

 (e) Proposed dividend at 10% 

 (f) Provision for taxation Rs.7,500 

 (g) The manager director is entitled to 10% 

  Commission on net profit before charging such 
commission.  
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  J¸ Áøμ¯ÖUP¨£mh {ÖÁÚzvß 31 i\®£º 2018 
{»Áμ£i ¤ßÁ¸® C¸¨¦z öuõøP°¼¸¢x, A¢u 
÷uv°À •i¢u C»õ£® ©ØÖ® |èh® ©ØÖ® C¸¨¦ 
{ø» AÔUøPø¯z u¯õ›UPÄ®. 

£ØÖ°¸¨¦ ¹. ÁμÄ°¸¨¦ ¹. 

öuõhUPa \μUQ¸¨¦ 
(1.1.2018) 

33,380 \¢uõ ö\¾zu¨£mk 
©ØÖ® 

uÒÐ£i 6,788 ‰»uÚ® 
ö\¾zu¨£mhx 

50,000

{»® 22,000 ÂØ£øÚ 1,46,268

Bø» ©ØÖ® 
C¯¢vμ® 

10,700 £À÷ÁÖ μ^xPÒ 200

öPõÒ•uÀ 91,888 PhÜ¢÷uõº 39,532

AøÓP»ß 2,750 ÁμõUPhß 

PhÚõÎPÒ 63,600 JxURk 5,300

C»õ£ |mhU P/S 
(£ØÖ) 

4,960 uÒÐ£i (ÁμÄ) 5,904

Ási 3,780 Á[Q÷©ÀÁøμ £ØÖ 13,823

T¼ 9,016 ÁõiUøP¯õÍ›ß  

ÁμõUPhß 1,820 øÁ¨¦ 400

A¾Á»P ö\»ÄPÒ 10,275  

öμõUP&øP°¸¨¦ 470  

 ¤ßÁ¸® \›ö\´uÀ ö\´¯¨£h ÷Ásk® 

 (A) CÖv \μUQ¸¨¦ 31.12.2018 ¹.35,400 

 (B) Bø» ©ØÖ® C¯¢vμ® «uõÚ ÷u´©õÚ® 10% ©ØÖ® 
AøÓP»ß «uõÚ ÷u´©õÚ® 6% 

 (C) \¢÷uPzvØPõÚ ©ØÖ® ÁμõUPhß 10% JxUQkP. 
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 (D) ÁõiUøP¯õÍ›ß øÁ¨¦ JÖ¨¤Ç¨¦ ö\´¯¨£mhx 

 (E) •ßö©õÈ¯¨£mh £[Põuõ¯® 10%  

 (F) Á¸©õÚ Á› JxURk 

 (G) {ºÁõP C¯USÚ¸US&AzuøP¯ Pªåß Á`¼US® 
•ß {Pμ C»õ£zvÀ 10% PªåÝUS E›ø© Esk. 

20. How do you apportion various expenses and incomes 
between pre and post incorporation periods? 

 Cøn¨£uØS •¢øu¯ ©ØÖ® ¤¢øu¯ Põ»[PÐUS 
Cøh°À £À÷ÁÖ ö\»ÄPÒ ©ØÖ® Á¸©õÚ[PøÍ 
GÆÁõÖ £[Rk ö\´ÃºPÒ? 

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is income tax? 

 Á¸©õÚ Á› GßÓõÀ GßÚ? 

2. Who is person? 

 ‘|£º’ Gß£Áº ¯õº? 

3. What is statutory provident Fund? 

 “\mhŸv¯õÚ Á¸[Põ» øÁ¨¦ {v” GßÓõÀ GßÚ? 

4. What are the provident Fund? 

 Á¸[Põ» øÁ¨¦ {v°ß ÁøPPÒ ¯õøÁ? 

5. Explain “Deemed profit”. 

 “P¸u¨£mh C»õ£zøu” ÂÍUPÄ®. 

6. What is meant by capital gain? 

 ‰»uÚ Buõ¯® GßÓõÀ GßÚ? 

Sub. Code 
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7. What is meant by clubbing of income? 

 “Á¸©õÚ® CønzuÀ” GßÓõÀ GßÚ? 

8. Give a short note on “minor’s income”. 

 “]ÖÁº Á¸©õÚ®” £ØÔ J¸ ]Ö SÔ¨¦ öPõk[PÒ. 

9. What is CBDT? 

 ].¤.i.j GßÓõÀ GßÚ? 

10. Who is an Assessing officer? 

 ©v¨¥mk A¾Á»º Gß£Áº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b).  

11. (a) Distinguish between “Direct tax” and “Indirect tax”.  

  ÷|μi Á¸©õÚ Á›US® ©ØÖ® ©øÓ•P Á¸©õÚ 
Á›US® Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ & ÂÍUPÄ®. 

Or 

 (b) State the income tax rules regarding residential 
status of a firm and AOP. 

  J¸ “{ÖÁÚ®” ©ØÖ® “H.K.¤ (AOP)” Cß 
Si°¸¨¦ {ø» öuõhº£õÚ Á¸©õÚ Á› ÂvPøÍU 
SÔ¨¤hÄ®. 

12. (a) What are the items included under the head salary 
U/S 17? 

  Á¸©õÚ Á› \mhzvß 1961 £i “\®£Í” 
uø»ø©°ß RÌ GßöÚßÚ ö£õ¸mPÒ 
EÒÍhUQ°¸US®? 

Or 
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 (b) Calculate the annual rental value from the 
particularly given below: 

  Actual rent Rs. 7,000 p.m 
  F.R.V Rs. 66,000 p.a 
  M.R.V Rs. 60,000 p.a 
  Standard rent Rs. 69,000 p.a 
  During the previous year 2023-24. Accesses could 

not realise rent for two months. 
  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x Á¸hõ¢vμ 

ÁõhøP ©v¨ø£U PnUQhÄ® 

  Esø©¯õÚ ÁõhøP ¹. 7,000 JÆöÁõ¸ ©õu® 

  {¯õ¯©õÚ ÁõhøP ©v¨¦ ¹. 66,000 ¤.G. 

  |Pμõm] ÁõhøP ©v¨¦ ¹. 60,000 ¤.G. 

  {ø»¯õÚ ÁõhøP ¹. 69,000 ¤.G. 

  •¢øu¯ BsiÀ 2023-24 ©v¨¥mhõÍμõÀ Cμsk 
©õu[PÐUS ÁõhøP ö\¾zu •i¯ÂÀø». 

13. (a) Explain the general principles of computing income 
from business. 

  ÁoPzvß Á¸©õÚzøu PnUQhÁuØPõÚ 
ö£õxÁõÚ öPõÒøPPøÍ & ÂÍUPÄ®. 

Or 

 (b) Mrs. Ramya had bough a residential house on  
1-1-2012 for Rs. 3,00,000. She spent Rs. 75,000 for 
its renovation on 8-12-2013. She sold the same on 
15-02-2021 for Rs. 12,50,000 for which she had paid 
a brokerage of Rs. 10,000. 

  Computer capital gain. 

  v¸©v μ®¯õ 1-1-2012  AßÖ ¹. 3,00,000 US J¸ 
Si°¸¨¦ Ãmøh Áõ[QÚõº. AÁº 8-12-2013 
AßÖ Auß ^μø©¨¦UPõP ¹. 75,000 ö\»ÁÈzuõº. 
Aøu÷¯ 15-02-2021 AßÖ ¹. 12,50,000 US 
ÂØÓõº. AuØPõP AÁÒ ¹. 10,000 uμS 
ö\¾zvÚõÒ. 

  ‰»uÚ Buõ¯zøu PnUQk[PÒ. 
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14. (a) State the provisions relating to set-off of the 
following Loss: 

  (i) Long-term capital Loss 

  (ii) Short-term capital Loss. 

  ¤ßÁ¸® CÇ¨¤ß ö\m&BL¨ öuõhº£õÚ Âvø¯U 
SÔ¨¤hÄ®  

  (i) }sh Põ» ‰»uÚ CÇ¨¦ 

  (ii) SÖQ¯ Põ» ‰»uÚ CÇ¨¦. 

Or 

 (b) State any four donation for which 50% deduction are 
allowed.  

  50% Â»USPÒ AÝ©vUP¨£k® H÷uÝ® |õßS 
|ßöPõøhPøÍU SÔ¨¤hÄ®. 

15.  (a) Give a short note on inspectors of income tax. 

  Á¸©õÚ Á› B´ÁõÍøμ¨ £ØÔ¯ ]Ö SÔ¨ø£U 
öPõk[PÒ. 

Or 

 (b) Discuss the various secrecies of income to an 
individual.  

  J¸ uÛ|£›ß £À÷ÁÖ Á¸©õÚ Buõμ[PøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. State the procedures followed in computing the total 
income of an assesses. 

 ©v¨¥mhõÍ›ß ö©õzu Á¸©õÚzøuU PnUQkÁvÀ 
¤ß£ØÓ¨£k® |øh•øÓPøÍU SÔ¨¤hÄ®. 
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17. Mr. David a Government employee, furnishes the 
following particulars of his salary income for the  
AY-24-25 computer his taxable salary. 

 (a) Basic pay Rs. 15,000 p.m 

 (b) D.pay 40% of salary 

 (c) Bonus-one month pay 

 (d) HRA Rs. 36,000 (rent paid by him in Chennai  
Rs. 60,000) 

 (e) CCA Rs. 24,000 

 (f) Medical allowance Rs. 12,000 

 (g) Deputation allowance Rs. 18,000 

 (h) Children education allowance Rs. 6,000 

 (i) Entertainment allowance Rs. 9,000 

 (j) Warden allowance Rs. 3,000 

 v¸ ÷hÂm J¸ Aμ_ FÈ¯º, ©v¨¥mk Bsk, 2024-25 
UPõÚ uÚx \®£Í Á¸©õÚzvß ¤ßÁ¸® ÂÁμ[PøÍ 
AÎzxÒÍõº. AÁμx Á› ö\¾zu ÷Ási¯ \®£ÍzøuU 
PnUQk[PÒ.  

 (A) \®£Í® ¹. 15,000 (©õu®) 

 (B) APÂø»¨ £i 40% \®£ÍzvÀ 

 (C) ÷£õÚì & J¸ ©õu® (\®£ÍzvÀ) 

 (D) Ãmk ÁõhøP öPõk¨¦nºÄ ¹. 36,000 
(ö\ßøÚ°À AÁº ö\¾zv¯ ÁõhøP ¹. 60,000) 

 (E) |Pμ CÇ¨¥mk öPõk¨¦nºÄ ¹. 24,000 

 (F) ©¸zxÁU öPõk¨¦nºÄ ¹. 12,000 

 (G) ¤μv{v öPõk¨¦nºÄ ¹. 18,000 

 (H) SÇ¢øuPÒ PÀÂ EuÂz öuõøP ¹. 6,000 

 (I) ö£õÊx÷£õUS £iPÒ ¹. 9,000 

 (J) Áõºhß&US EuÂ öuõøP ¹. 3,000. 
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18. Agricultural Land purchased in 1988-89 for Rs. 1,50,000 
was sold for Rs. 18,00,000 on 1-5-2023. The assesses 
purchased another piece of agricultural land on 1-8-2023 
for Rs. 1,60,000 and deposited Rs. 1,00,000 in capital gain 
account scheme, 1997. Find out the capital gain 
chargeable to tax for the assessment year 2024-25. The 
cost inflation index in 1988-89 was 125 and in 2023-24 : 
1125.  

 ÂÁ\õ¯ {»® 1988-89 CÀ ¹. 1-5-2023 AßÖ  

¹. 18,00,000 US 1,50,000 ÂØP¨£mhx. ©v¨¥mhõÍº 

©ØöÓõ¸ ÂÁ\õ¯ {»zøu 1-8-2023  AßÖ ¹. 1,60,000 

©ØÖ® ‰»uÚ Buõ¯U PnUSz vmh® 1997 CÀ  

¹. 1,00,000 øÁ¨¦ ö\´xÒÍõº 2024-25 ©v¨¥mk 
BskUPõÚ Á› ÂvUP¨£k® ‰»uÚ Buõ¯zøuU 

PshÔ¯Ä®. 1988-89 À ö\»Ä £nÃUPU SÔ±k 125. 

BPÄ® 2023-24 : 1125 BPÄ® C¸¢ux. 

19. Sri Anand earned gross total income of Rs. 5,00,000 in the 
previous year 2023-24 and made the following donations 
during the Year. 

 (a) Rs. 10,000 to chief Minister’s Earthquake relief 
Fund 

 (b) Rs. 15,000 to national Foundation for communal 
Harm only 

 (c) Rs. 40,000 to Municipal corporation approved for 
promotion of family planning. 

 (d) Rs. 25,000 to approval institution  

 Computer the amount of deduction addmissible to him 
U/S 80G for the AY 2024-25. 
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 ÿ BÚ¢z ö©õzu Á¸©õÚ® ¹. 5,00,000 •¢øu¯ Bsk 
2023-24 B® BsiÀ ¤ßÁ¸® |ßöPõøhPÒ ÁÇ[QÚ: 

 (A) ¹. 10,000 •u»ø©a\›ß {»|kUP {Áõμn {v 

 (B) ¹. 15,000 ©u |À¼nUPzvØPõÚ ÷u]¯ 
AÓUPmhøÍ 

 (C) ¹. 40,000 Sk®£U Pmk¨£õmøh FUSÂ¨£uØPõP 
©õ|Pμõm]US J¨¦uÀ AÎUP¨£mhx. 

 (D) ¹. 25,000 A[RP›UP¨£mh {ÖÁÚ[PÒ  

 ©v¨¥mk Bsk 2024-25 US 80G US AÁ¸US 
AÝ©vUP¨£k® Â»US AÍøÁU PnUQk[PÒ. 

20. Enumerate the income tax authorities constituted by the 
income tax act. 

 Á¸©õÚ Á›a \mhzuõÀ E¸ÁõUP¨£mh Á¸©õÚ Á› 
AvPõμ[PÒ PnUQk[PÒ.  

———————— 
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CORPORATE GOVERNANCE AND SOCIAL 
RESPONSIBILITY  
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is corporate governance? 

 “ö£¸{ÖÁÚ {ºÁõP®” GßÓõÀ GßÚ? 

2. What are the modes of governance? 

 Bm] •øÓPÒ GßÚ? 

3. What is SEBI code? 

 “ö\¤ SÔ±k” Gß£x GßÚ? 

4. What is Accounting standard? 

 PnUQ¯À uμ{ø»PÒ GßÓõÀ GßÚ? 

5. What is the concept of corporate sustainability? 

 ö£¸{ÖÁÚ {ºÁõP {ø»zußø©°ß P¸zx ¯õøÁ? 
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6. State any two principle of corporate governance  
sustain-ability. 

 ö£¸{ÖÁÚ {ºÁõPzvß BÐø© {ø»zußø©°ß 
H÷uÝ® Cμsk öPõÒøPPøÍU SÔ¨¤hÄ®. 

7. What is social responsibility of business? 

 ÁoPzvß \‰P¨ ö£õÖ¨¦ GßÚ? 

8. What are the five stages of CSR? 

 ÁoPzvß \‰P¨ ö£õÖ¨¦UPõÚ I¢x £iPÒ GßÚ? 

9. What is business ethics? 

 “ÁoP ö|Ô•øÓ” GßÓõÀ GßÚ? 

10. What are the methods of social audit? 

 “\‰P uoUøP°ß •øÓPÒ” ¯õøÁ?  

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) What are scope of corporate governance? 

  ö£¸{ÖÁÚ {ºÁõPzvß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) Explain the importance corporate governance. 

  ö£¸{ÖÁÚ {ºÁõPzvß •UQ¯zxÁzøu 
ÂÍUPÄ®. 

12. (a) What are the advantages of audit committee? 

  uoUøP SÊÂß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the “power of board of directs to corporate 
governance”. 

  ö£¸{ÖÁÚ {ºÁõPzvß C¯US|ºPÎß  
AvPõμ[PÒ ÂÍUPÄ®. 
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13. (a) What are role of governance in sustainability. 
  {ø»zußø©°À {ºÁõPzvß £[S GßÚ? 

Or 

 (b) What are the 5p’s of sustainable development in 
corporate governance? 

  ö£¸{ÖÁÚ {ºÁõPzvÀ {ø»¯õÚ ÁÍºa]°ß  
5&‘p’ UPÒ GßÚ? 

14. (a) Explain the importance of social responsibility for 
business. 

  ÁoPzvØPõÚ \‰P¨ ö£õÖ¨¤ß •UQ¯zxÁzøu 
ÂÍUPÄ®. 

Or 

 (b) What are the types of social responsibility of 
business? 

  ‘ÁoPzvß \‰P¨ ö£õÖ¨¤ß ÁøPPÒ’ ¯õøÁ? 

15.  (a) Briefly explain the significance of business Ethics.  
  ÁoP ö|Ô•øÓ°ß •UQ¯zxÁzøu _¸UP©õP 

TÓÄ® (ÂÍUPÄ®). 

Or 

 (b) What are the factors responsible for ethical and 
unethical business decision? 

  ö|Ô•øÓ ©ØÖ® ö|Ô•øÓ¯ØÓ ÁoP •iÄPÐUS 
GßÚ PõμoPÒ öuõhº¦? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the features of corporate Governance? 
 ö£¸{ÖÁÚ {ºÁõPzvß C¯À¦PÒ ¯õøÁ? 

17. Explain the advantages and disadvantages of accreting 
standard sec-129 and 133. 

 PnUQ¯À uμ{ø»PÎß ¤›Ä 129 ©ØÖ® 133 |ßø©PÒ 
©ØÖ® wø©PøÍ & ÂÍUPÄ®. 
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18. What are the relationship between corporate governance 
and sustainable development? 

 ö£¸{ÖÁÚ {ºÁõPzvØS® {ø»¯õÚ ÁÍºa]US® EÒÍ 
öuõhº¦ GßÚ? 

19. Explain the factors influencing corporate social 
responsibility. 

 ö£¸{ÖÁÚ \‰P¨ ö£õÖ¨ø£ £õvUS® PõμoPøÍ & 
ÂÍUPÄ®. 

20. Explain the advantages and disadvantages of social audit. 

 \‰P uoUøP°ß |ßø© ©ØÖ® wø©PøÍ ÂÍUPÄ®.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Financial Management? 
 {v ÷©»õsø© GßÓõÀ GßÚ? 

2. What is Finance Manager? 
 {v ÷©»õÍº GßÓõÀ GßÚ? 

3. What is Financial Leverage? 
 {v ö»Á÷μä GßÓõÀ GßÚ? 

4. What is Operating Leverage? 
 B¨£÷μmi[ ö»Á÷μä GßÓõÀ GßÚ? 

5. What is Fixed Capital? 
 {ø»¯õÚ ‰»uÚ® GßÓõÀ GßÚ? 

6. What is Working Capital? 
 £o‰»uÚ® GßÓõÀ GßÚ? 
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7. What do you mean by Over Capitalization? 
 KÁº÷P¤hø»÷\åß GßÓõÀ GßÚ? 

8. What is Under Capitalization? 
 Ashº÷P¤hø»÷\åß GßÓõÀ GßÚ? 

9. What is the Nature of Cash? 
 £nzvß ußø© GßÚ? 

10. Define Inventory. 
 \μUSPøÍ Áøμ¯ÖUPÄ®. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the Objectives of Financial Management. 
  {v {ºÁõPzvß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Discuss about the Scope of Financial Management. 
  {v {ºÁõPzvß ÷|õUP® £ØÔ ÂÁõvUPÄ®. 

12. (a) A company has sales of Rs.5,00,000, variable costs of 
Rs.3,00,000, fixed cost of Rs.1,00,000  
and long-term loans of Rs.4,00,000 at  
10% rate of interest. Calculate the composite 
leverage. 

  J¸ {ÖÁÚzvß ÂØ£øÚ ¹.5,00,000, ©õÔö\»ÄPÒ 
¹.3,00,000, {ø»¯õÚ ö\»Ä ¹.1,00,000 ©ØÖ® 
}sh Põ» PhßPÒ ¹.4,00,000 10% Ámi ÂQuzvÀ 
P»¨¦ A¢{¯zøuU PnUQk[PÒ.  

Or 

 (b) Calculate Earnings per share of S Ltd. and T Ltd. 
assuming: 

  (i) 20% before tax rate of return on assets,  
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  (ii) 10% before tax rate of return on assets based 
on the following data: 

Particulars S.Ltd. T Ltd. 

 Rs. in Lakhs Rs. in Lakhs 

Assets 200 200 

Debt 12% – 100 

Equity 200 100 

 Shares of Rs.10 each Shares of Rs.10 each

  Assume a 50% income tax in both cases. Also give 
your comments on the financial leverage. 

  Gì ¼ªöhm ©ØÖ® i ¼ªöhm BQ¯ÁØÔß J¸ 
£[Qß Á¸©õÚzøuU PnUQhÄ®: 

  (i) ö\õzxPÎß «uõÚ Á› ÂQuzvØS •ß 20%,  

  (ii) ¤ßÁ¸® uμÄPÎß Ai¨£øh°À ö\õzxPÎß 
«uõÚ Á› ÂQuzvØS 10%: 

ÂÁμUSÔ¨¦PÒ Gì ¼ªöhm i ¼ªöhm 

 ¹. »m\[PÎÀ ¹. »m\[PÎÀ 

ö\õzxUPÒ 200 200 

Phß 12% – 100 

\©£[S 200 100 

 £[SPÒ ¹ JÆöÁõßÖ® 10 £[SPÒ ¹ JÆöÁõßÖ® 10

 Cμsk \¢uº¨£[PÎ¾® 50% Á¸©õÚ Á› GßÖ øÁzxU 
öPõÒÐ[PÒ {v A¢{¯a ö\»õÁo £ØÔ¯ E[PÒ 
P¸zxUPøÍ²® öu›ÂUPÄ®.  

13. (a) Explain the importance of Working Capital. 
  £o ‰»uÚzvß •UQ¯zxÁzøu ÂÍUSP. 

Or 
 (b) Mr. K wishes to commence a new trading business 

and gives the following information: 
  (i) The total estimated sales in a year will be  

Rs.12,00,000. 
  (ii) His expenses are estimated as fixed expenses 

of Rs.2,000 per month plus variable expenses 
equal to five per cent of his turnover. 
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  (iii) He expects to fix a sales price for each product 
which will be 25% in excess of his cost of 
purchase. 

  (iv) He expects to turnover his stock four times  
in a year. 

  (v) The sales and purchases will be evenly spread 
throughout the year. All sales will be for cash 
but he expects one month’s credit  
for purchases. 

  Calculate 

   (1) His estimated profit for the year,  

   (2) His average working capital 
requirements. 

  v¸. ÷P J¸ ¦v¯Áºzu PÁoPzøuz öuõh[P 
Â¸®¦QÓx ©ØÖ® ¤ßÁ¸® uPÁø»z u¸QÓx: 

  (i) J¸ Á¸hzvÀ ©v¨¤h¨£mh ö©õzu ÂØ£øÚ 
¹.12.00,000. 

  (ii) AÁμx ö\»ÄPÒ {ø»¯õÚ ö\»ÄPÒ  
©õuzvØS ¹. 2,000 ©ØÖ®h AÁμx ÂØÖ 
•u¼À I¢x \uÃuzvØS \©©õÚ©õÔ 
ö\»ÄPÒ. 

  (iii) JÆöÁõ¸ ö£õ¸ÐUS® J¸ ÂØ£øÚ 
Âø»ø¯ {ºn°UP AÁº Gvº£õºUQÓõº, Ax 
AÁº Áõ[S® ö\»øÁÂh 25% AvP©õP 
C¸US®. 

  (iv) AÁº uÚx £[SPøÍ J¸ Á¸hzvÀ |õßS 
•øÓÂØÖ •uÀ Gvº£õºUQÓõº. 

  (v) ÂØ£øÚ ©ØÖ® öPõÒ•uÀ Bsk •ÊÁx® 
\©©õP C¸US®. AøÚzx ÂØ£øÚ²® 
£n©õP C¸US®, BÚõÀ AÁº Áõ[SÁuØS 
J¸ ©õu Phß Gvº£õºUQÓõº. 

  PnUQk[PÒ 

   (1) BsiØPõÚ AÁμx ©v¨¤h¨£mh 
»õ£®,  

   (2) AÁμx \μõ\› £o ‰»uÚz ÷uøÁPÒ. 
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14. (a) Explain about the Effects of Under Capitalization. 
  RÌ ‰»uÚ©¯©õUP¼ß ÂøÍÄPÒ £ØÔ ÂÍUPÄ®. 

Or 

 (b) A firm earns Rs.4,80,000 annually after paying all 
expenses and interest. The total amount of capital 
employed by the firm is Rs.60,00,000 and the fair 
rate of return expected by investors is 12%.  
Is the firm over-capitalized and if so, by how much? 

  J¸ {ÖÁÚ® AøÚzx ö\»ÄPÒ ©ØÖ® Ámi 
ö\¾zv¯ ¤ÓS BskUS ¹. 4,80,000. {ÖÁÚzvß 
ö©õzu ‰»uÚz öuõøP ¹.60,00,000 ©ØÖ® 
•u½mhõÍºPÍõÀ Gvº£õºUP¨£k® {¯õ¯©õÚ 
Á¸Áõ´ ÂQu® 12% BS®. {ÖÁÚ® AvP 
‰»uÚ® ö£ØÖÒÍuõ, A¨£i¯õÚõÀ, GÆÁÍÄ? 

15.  (a) The cost of goods sold of ESP Ltd. is Rs.5,00,000. 
The opening inventory is Rs.40,000 and the closing 
inventory cost is Rs.60,000. Find out inventory 
turnover ratio. 

  ESP ¼ªöhm ÂØS® ö£õ¸mPÎß Âø» 
¹.5,00,000. öuõhUP \μUS ¹.40,000 ©ØÖ®  
CÖv \μUS Âø» ¹.60,000 \μUS ÂØÖ •uÀ 
ÂQuzøuU PshÔ¯Ä®. 

Or 

 (b) From the following information, calculate average 
collection period: 

Particulars Rs.

Total sales 1,00,000

Cash sales 20,000

Sales returns 7,000

Debtors at the end of the year 11,000

Bills receivables 4,000

Creditors 15,000
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  ¤ßÁ¸® uPÁ¼¼¸¢x, \μõ\› ÷\P›¨¦ Põ»zøu 
PnUQk[PÒ. 

ÂÁμ[PÒ ¹. 

ö©õzu ÂØ£øÚ 1,00,000
£n ÂØ£øÚ 20,000
ÂØ£øÚ Á¸©õÚ® 7,000
Bsiß CÖv°À PhÚõÎPÒ 11,000
¤ÀPÒ ö£ÓzuUPøÁ 4,000
Phß öPõkzuÁºPÒ 15,000

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe about the Functional Areas of Financial 
Management. 

 {v {ºÁõPzvß ö\¯À£õmk £SvPÒ £ØÔ ÂÁ›UPÄ®. 

17. A Ltd. Company has equity share capital of Rs.5,00,000 
dividends into shares of Rs.100 each. It wishes to raise 
further Rs.3,00,000 for expansion cum modernization 
plans. The company plans the following financing 
schemes.  

 (a) All common stock  

 (b) Rs.1,00,000 in common stock and Rs.2,00,000  
in 10% debentures.  

 (c) All debt at 10% per annum.  

 (d) Rs.1,00,000 in common stock and Rs.2,00,000  
in preference capital with the rate of dividend at 
8%. 

  The company existing earning before interest and 
tax are Rs.1,50,000. The corporate rate of tax  
is 50%. You are required to determine the earnings 
per share in each plan and comment on the 
implications of financial leverage. 
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 A ¼ªöhm {ÖÁÚzvß £[S ‰»uÚ® ¹.5,00,000  
DÄzöuõøP JÆöÁõßÖ® ¹. 100. ÷©¾® Â›ÁõUP® 
©ØÖ® |ÃÚ©¯©õUPÀ vmh[PÐUS ¹. 3,00,000. 
{ÖÁÚ® ¤ßÁ¸® {v vmh[PøÍz vmhªkQÓx. 

 (A) AøÚzx ö£õxÁõÚ £[S 

 (B) ¹.1,00,000 ö£õx C¸¨¦ ©ØÖ® ¹. 10% Phß 
£zvμ[PÎÀ 2,00,000.  

 (C) AøÚzx PhßPÐ® BskUS 10%.  

 (D) ¹.1,00,000 ö£õx C¸¨¦ ©ØÖ® ¹.2,00,000  
•ßÝ›ø© ‰»uÚzvÀ DÄzöuõøP ÂQu® 8%. 

  uØ÷£õxÒÍ {ÖÁÚ® Ámi ©ØÖ® Á›US 
•ßÁ¸©õÚ® ¹.1,50,000. Põº¨£÷μm Á› ÂQu® 
50% BS®. JÆöÁõ¸ vmhzv¾® J¸ £[SUPõÚ 
Á¸Áõø¯ }[PÒ wº©õÛUP ÷Ásk® ©ØÖ® {v 
A¢{¯a ö\»õÁo°ß uõUP[PÒ SÔzx P¸zx 
öu›ÂUP ÷Ásk®. 

18. T manufacturing company ltd. is to start production  
on 01-01-2018. The prime cost of a unit is expected  
to be Rs.40 out of which Rs.16 is for materials and  
Rs.24 for labour. In addition, variable expenses per unit 
are expected to be Rs.8 and fixed expenses per month  
Rs.30,000. Payment for materials is to be made in the 
month following purchases. One-third of sales will be for 
cash and the rest on credit for settlement in the following 
month. Expenses are payable is the month in which they 
are incurred. The selling price is fixed at Rs.80 per unit. 

 The number of units manufactured and sold are expected 
to be as under: 

January 900

February 1,200

March 1,800

April 2,100

May 2,100

June 2,400
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 Draw up a statement showing requirements of working 
capital from month to month. Ignoring the questions of 
stocks. 

 i EØ£zv {ÖÁÚ® ¼ªöhm 01-01-2018 AßÖ 
EØ£zvø¯z öuõh[P EÒÍx. J¸ ³Ûmiß •ußø© 
Âø» ¹. 40 . CvÀ 16 ö£õ¸mPÒ ©ØÖ® EøÇ¨¦US   
24 Tku»õP J¸ ³ÛmkUS ©õÖ£k® ö\»ÄPÒ ¹.8 
©ØÖ® {ø»¯õÚ ö\»ÄPÒ ©õuzvØS ¹.30,000. 
ö£õ¸mPøÍ Áõ[SÁuØS Akzu ©õuzvÀ ö\miÀ 
ö©ßmhõPÄ® C¸US®. ö\»ÂÚ[PÒ ö\¾zu¨£h 
÷Ási¯©õu©õS®. ÂØ£øÚ Âø»  J¸ ³ÛmS 80. 

 u¯õ›UP¨£mh ©ØÖ® ÂØP¨£k® ³ÛmPÎß GsoUøP 
¤ßÁ¸©õÖ C¸US® GßÖ Gvº£õºUP¨£kQÓx: 

áÚÁ› 900 
¤¨μÁ› 1,200 
©õºa 1,800 
H¨μÀ 2,100 
÷© 2,100 
áüß 2,400 

£[SPÎß ÷PÒÂPøÍ¨ ¦ÓUPozx, ©õu¢÷uÖ® ö\¯À£k® 
‰»uÚzvß ÷uøÁPøÍU Põmk® AÔUøPø¯ Áøμ¯Ä®. 

19. The following is the Balance Sheet of ABC Ltd.  
in condensed form: 

 Rs.

I. Equity and Liabilities 

 1. Shareholder’s Funds 

  (a) Share Capital: 

   2000 Equity shares of Rs.100 each 2,00,000

   500 preference shares of Rs.100 each 50,000

  (b) Current Liabilities 1,00,000

 2. Non-Current Liabilities 50,000

 Total 4,00,000
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II. Assets 

 1. Non-Current Assets 

  Fixed Assets 3,00,000

 2. Current Assets 1,00,000

 Total  4,00,000

 The normal rate of return in case of similar business is 
10% ascertain whether the company is over capitalized, 
under-capitalized or fairly capitalized when earnings 
available for equity shareholders are: 

 (a) Rs.25,000 

 (b) Rs.40,000 

 (c) Rs.30,000 
 ¤ßÁ¸£øÁ H¤] ¼ªöhm Cß ÷£»ßìçm 

_¸UP¨£mh ÁiÁzvÀ EÒÍx: 
 ¹.

I. \©£[S ©ØÖ® ö£õÖ¨¦PÒ 

 1. £[SuõμºPÒ {v 

  (A) £[S •»uÚ®: 

   2000 DUÂmi £[SPÒ ¹. 100 JÆöÁõßÖ® 2,00,000

   500 Â¸¨£¨ £[SPÒ ¹. 100 JÆöÁõßÖ® 50,000

  (B) uØ÷£õøu¯ ö£õÖ¨¦PÒ 1,00,000

 2. |h¨¦ AÀ»õu ö£õÖ¨¦PÒ 50,000

ö©õzu® 4,00,000

II. ö\õzxUPÒ 

 1. |h¨¦ AÀ»õu ö\õzxUPÒ 

  {ø»¯õÚ ö\õzxUPÒ 3,00,000

 2. uØ÷£õøu¯ ö\õzxUPÒ 1,00,000

 ö©õzu® 4,00,000

 C÷u ÷£õßÓ ÁoPzvß ÷£õx \õuõμn Á¸Áõ´ ÂQu® 
10% BS®, {ÖÁÚ® AvP ‰»uÚ©õ, SøÓÁõÚ 
‰»uÚ©õ AÀ»x \©£[S £[SuõμºPÐUS Á¸©õÚ® 
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QøhUS® ÷£õx {¯õ¯©õÚ ‰»uÚ©õ Gß£øu EÖv 
ö\´¯ ÷Ásk®: 

 (A) ¹.25,000 

 (B) ¹.40,000 

 (C) ¹.30,000    

20. XY Co. wises to arrange overdraft facilities with bankers 
during the period April to June of a particular year, when 
it will be manufacturing mostly for stock. Prepare a cash 
budget for the above period from the following data, 
indicating the extent of the bank facilities, the company 
will require at the end of each month: 

 (a)  
Month Sales Purchases Wages

 Rs. Rs. Rs. 

February 1,80,000 1,24,800 12,000

March 1,92,000 1,44,000 14,000

April 1,08,000 2,43,000 11,000

May 1,74,000 2,46,000 10,000

June 1,26,000 2,68,000 15,000

 (b) 50% of the credit sales are realized in the month 
following the sales and the remaining sales  
in second month following. 

 (c) Creditors are paid in the following months  
of purchase. 

 (d) Cash at bank on 1st April Rs.25,000. 

 GUì J´ ÷Põ. Áõ›¯õÚÁºPÒ, J¸ SÔ¨¤mh Bsiß 
H¨μÀ •uÀ áüß Áøμ°»õÚ Põ»PmhzvÀ 
Á[Q¯õÍºPÎh® KÁºiμõL¨m Á\vPøÍ HØ£õk ö\´¯ 
÷Ásk®. ¤ßÁ¸® uμÄPÎ¼¸¢x ÷©÷» SÔ¨¤mh 
Põ»zvØPõÚ £nÁμÄ ö\»Äz vmhzøuz u¯õ›UPÄ®, 
Á[Q Á\vPÎß AÍøÁU SÔUQÓx, JÆöÁõ¸ ©õuzvß 
•iÂ¾® {ÖÁÚ® ÷uøÁ¨£k®: 
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 (A)   
©õu ÂØ£øÚ öPõÒ•uÀ T¼PÒ

 ¹. ¹. ¹. 

¤¨μÁ› 1,80,000 1,24,800 12,000 
©õºa 1,92,000 1,44,000 14,000 
H¨μÀ 1,08,000 2,43,000 11,000 
÷© 1,74,000 2,46,000 10,000 

áüß 1,26,000 2,68,000 15,000 

 (B) Qöμim ÂØ£øÚ°À 50% ÂØ£øÚUS Akzu 
©õuzv¾®, «u•ÒÍ ÂØ£øÚ Akzu CμshõÁx 
©õuzv¾® ÷©ØöPõÒÍ¨£kQÓx. 

 (C) Áõ[Q¯ Akzu ©õu[PÎÀ PhÚõÎPÐUS £n® 
ÁÇ[P¨£k®. 

 (D) H¨μÀ 1 B® ÷uv Á[Q°À £n® ¹.25,000, 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 

Fifth Semester 

Commerce with Corporate Secretaryship 

ECONOMIC LAWS 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Mention the key definitions provided in the Industries 
(Development and Regulation) Act, 1951. 

 öuõÈÀPÒ (÷©®£õk ©ØÖ® JÊ[S•øÓ) \mh®, 1951 
CÀ ÁÇ[P¨£mh •UQ¯ Áøμ¯øÓPøÍU SÔ¨¤hÄ®.  

2. What are the main objectives of the industries 
(Development and Regulation) Act, 1951? 

 öuõÈÀPÒ (÷©®£õk ©ØÖ® JÊ[S•øÓ) \mh®, 1951 
Cß •UQ¯ ÷|õUP[PÒ GßÚ? 

3. What are the main objectives of the Competition Act, 
2002? 

 ÷£õmi \mh®, 2002ß •UQ¯ ÷|õUP[PÒ GßÚ? 

4. Define ‘anti-competitive agreement’ under the 
Competition Act, 2002. 

 ÷£õmi \mh®, 2002 Cß RÌ ‘÷£õmi Gvº¨¦ J¨£¢u®’ 
Gß£øu Áøμ¯Ö. 

5. What is meant by “authorized person” under the Foreign 
Exchange Management Act, 1999? 

 A¢{¯a ö\»õÁo ÷©»õsø©a \mh®, 1999ß RÌ 
“A[RP›UP¨£mh |£º” GßÓõÀ GßÚ?  

Sub. Code 
22BCS5C5 
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6. What is meant by “Capital account transaction” as per 
FEMA? 

 FEMA Cß £i “‰»uÚ PnUS £›ÁºzuøÚ” GßÓõÀ 
GßÚ? 

7. What is meant by ‘deficiency in service’ according to the 
Consumer protection Act, 1986? 

 ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986ß £i ‘÷\øÁ°À 
SøÓ£õk’ GßÓõÀ GßÚ?  

8. List two primary objective of the consumer protection Act, 
1986? 

 ~Pº÷Áõº £õxPõ¨¦ \mh®, 1986 Cß Cμsk •ußø© 
÷|õUP[PøÍ £mi¯¼k. 

9. What is the Environment production Act, 1986? 

 _ØÖa`ÇÀ £õxPõ¨¦ \mh®, 1986 GßÓõÀ GßÚ? 

10. Define “Environment”. 

 “_ØÖa`Çø»” Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Discuss the process of registration and licensing of 
industrial undertakings under the industries 
(Development and Regulation) Act, 1951. 

  öuõÈÀPÒ (÷©®£õk ©ØÖ® JÊ[S•øÓ) \mh®, 
1951 Cß RÌ öuõÈÀ {ÖÁÚ[PÎß £vÄ ©ØÖ® 
E›©® ö\¯À•øÓ £ØÔ ÂÁõv. 

Or 

 (b) Examine the offences and penalties prescribed 
under the Industries (Development and Regulation) 
Act, 1951. 

  öuõÈÀPÒ (÷©®£õk ©ØÖ® JÊ[S•øÓ) \mh®, 
1951 Cß RÌ £›¢xøμUP¨£mh SØÓ[PÒ ©ØÖ® 
A£μõu[PøÍ B´Ä ö\´P. 
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12. (a) List the primary duties of the competition 
commission of India (CCI). 

  C¢v¯ ÷£õmi Bøn¯zvß (]]I) •ußø©U 
Phø©PøÍ¨ £mi¯¼kP. 

Or 

 (b) What powers does the competition commission of 
India (CCI) hold under the competition Act, 2002? 

  ÷£õmia \mh®, 2002 Cß RÌ C¢v¯¨ ÷£õmi 

Bøn¯® (CCI) GßÚ AvPõμ[PøÍU 
öPõskÒÍx? 

13. (a) Give the example of a current transaction under 
FEMA. 

  Lö£©õÂß RÌ |h¨¦U PnUS £›ÁºzuøÚUPõÚ 
EuõμnzøuU öPõk. 

Or 

 (b) What penalties can be imposed for contraventions of 
FEMA? 

  Lö£©õÂß «ÓÀPÐUS GßÚ ushøÚPÒ 
ÂvUP¨£h»õ®? 

14. (a) What is the role of the State consumer Disputes 
Redressal Commission in the redressal of consumer 
grievances? 

  ~Pº÷Áõº SøÓPøÍz wº¨£vÀ ©õ{» ~Pº÷Áõº 
SøÓwº Bøn¯zvß £[S GßÚ? 

Or 

 (b) What types of remedies can be sought by consumers 
under the consumer Protection Act, 1986? 

  ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986ß RÌ ~Pº÷Áõº 
G¢u ÁøP¯õÚ wºÄPøÍ |õh»õ®? 
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15.  (a) What powers does the Environmental Authority 
have under the Environment protection Act, 1986? 

  _ØÖa`ÇÀ £õxPõ¨¦a \mh®, 1986 Cß RÌ 
_ØÖa`ÇÀ AvPõμ\ø£US GßÚ AvPõμ[PÒ 
EÒÍÚ? 

Or 

 (b) How does the Environment protection Act, 1986 aim 
to prevent and control environmental pollution? 

  _ØÖa`ÇÀ £õxPõ¨¦a \mh®, 1986 _ØÖa`ÇÀ 
©õ_£õmøhz uk¨£øu²® Pmk¨£kzxÁøu²® 
GÆÁõÖ ÷|õUP©õPU öPõskÒÍx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the process of licensing for Industrial 
undertakings under the Industries (Development and 
Regulation) Act, 1951 

 öuõÈÀPÒ (÷©®£õk ©ØÖ® JÊ[S•øÓ) \mh®, 1951 
Cß RÌ öuõÈÀ {ÖÁÚ[PÐUS E›©® ÁÇ[S® 
ö\¯À•øÓø¯ ÂÍUSP. 

17. What is the role of the competition commission of India 
(CCI) under the competition Act, 2002? 

 ÷£õmi \mh®, 2002 Cß RÌ C¢v¯ ÷£õmi Bøn¯zvß 
(CCI) £[S GßÚ? 

18. Describe the enforcement mechanisms available under 
FEMA for dealing with violations. 

 «ÓÀPøÍU øP¯õÒÁuØPõP Lö£©õÂß RÌ EÒÍ 
A©»õUP ÁÈ•øÓPøÍ ÂÁ›. 

19. Outline the steps involved in filing a complaint under the 
consumer protection Act, 1986. 

 ~Pº÷Áõº £õxPõ¨¦a \mh®, 1986&ß RÌ ¦Põº AÎ¨£vÀ 
EÒÍ £i{ø»PøÍ ÷PõimkU PõmkP. 

20. Discuss the general powers of the Central Government 
under the Environment protection Act, 1986? 

 _ØÖa`ÇÀ £õxPõ¨¦a \mh®, 1986ß RÌ ©zv¯ Aμ]ß 
ö£õx AvPõμ[PøÍ¨ £ØÔ ÂÁõv. 

———————— 
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Elective : CORPORATE ACCOUNTING – II 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Net Asset Method? 

 {Pμ ö\õzx •øÓ GßÓõÀ GßÚ? 

2. What is Accounting standards? 

 PnUQ¯À uμ{ø»PÒ GßÓõÀ GßÚ? 

3. What is Share Capital? 

 £[S ‰»uÚ® GßÓõÀ GßÚ? 

4. What is Intrinsic Value? 

 EÒÍõº¢u ©v¨¦ GßÓõÀ GßÚ? 

5. What is Capital Reserve? 

 ‰»uÚ C¸¨¦ GßÓõÀ GßÚ? 

6. What is Bonus Share? 

 FUP¨ £[S GßÓõÀ GßÚ? 

Sub. Code 
22BCS6E1 
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7. What is Non–Performing Asset? 

 ö\¯À£hõu ö\õzx GßÓõÀ GßÚ? 

8. How is interest on doubtful debts treated in Bank 

Account? 

 \¢÷uPzvØS›¯ PhßPÐUPõÚ Ámi GÆÁõÖ Á[QU 

PnUQÀ ö\¾zu¨£kQÓx? 

9. What do you mean by Double Insurance? 

 CμmøhU Põ¨¥k GßÓõÀ GßÚ? 

10. What is Additional Reserve? 

 TkuÀ C¸¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following information calculate the value 

per equity share: 

Particular Rs.

5,000 8% preference shares of Rs. 100 each 5,00,000

75,000 equity shares of Rs. 10 each, Rs. 8 per 

share paid up 

6,00,000

Expected profits per year before tax 2,80,000

Rate of Tax 50%

Transfer to general reserve every year 20% of the 

profit

Normal rate of earnings 10%



S–7095 

  

  3

 ¤ßÁ¸® uPÁ¼¼¸¢x J¸ £[S ©v¨ø£U PnUQhÄ® :  

SÔ¨¦PÒ ¹

5,000 8% •ßÝ›ø©U £[SPÒ ¹ JÆöÁõßÖ® 

100 

5,00,000

75,000 DUÂmi £[SPÒ ¹. u»õ 10, J¸  £[SUS 

¹ 8 ö\¾zu¨£mhx 

6,00,000

Á›US •ß BskUS Gvº£õºUP¨£k® »õ£® 2,80,000

Á› ÂQu® 50%

JÆöÁõ¸ Bsk® ö£õx C¸¨¦US ©õØÓÄ® »õ£zvÀ 

20%

\õuõμn Á¸Áõ´ ÂQu® 10%

Or 

 (b) The profits of Thilalga Ltd. for the Last 5 years were 

as follow:  

Year Rs. 

2014 15,000 

2015 18,000 

2016 22,000 

2017 25,000 

2018 27,000 

  Compute the value of goodwill of Thilalga Ltd. on 

the basis of 4 years purchase of weighted average 

profit after assigning weights 1,2,3,4 and 5 serially 

to the profits.  
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  v»õÀPõ Âªöhm {ÖÁÚzvß Ph¢u 5 Á¸h »õ£® 

¤ßÁ¸©õÖ : 

Bsk ¹ 

2014 15,000 

2015 18,000 

2016 22,000 

2017 25,000 

2018 27,000 

  |Àö»snzvß ©v¨ø£U PnUQk[PÒ v»õÀPõ 

¼m. 1,2,3,4 ©ØÖ® 5 BQ¯ GøhPøÍ Á›ø\¯õP 

»õ£zvØS JxUQ¯ ¤ÓS Gøh°h¨£mh \μõ\› 

»õ£zøu 4 BskPÒ Áõ[SÁuß Ai¨£øh°À. 

12. (a) X Co. Ltd. has the following shares as a part of its 

share capital, 10,000, 8% preference shares of Rs. 

100 each fully paid. 50000 equity shares of Rs. 5 

each fully paid. 20,000 equity shares of Rs. 10 each, 

Rs. 8 called up and paid up. The company has 

decided to alter the share capital as follow: 

(i) To sub-divide the preference shares into 

shares of Rs. 10 each. 

  (ii) To consolidate the equity shares of Rs. 5 each 

into shares of Rs. 10 each. 

  (iii) To convert the partly paid up equity shares 

into fully paid up shares of Rs. 8 each, with 

necessary legal sanctions. 

  Journalize the alterations. 
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  X ÷Põ.  ¼ªöhm Auß £[S ‰»uÚzvß J¸ 
£Pv¯õP ¤ßÁ¸® £[SPøÍU öPõskÒÍx, 
10,000, 8%  •ßÝ›ø©¨ £[SPÒ ¹. JÆöÁõßÖ® 
100 •Êø©¯õP ö\¾zu¨£mhx. 50,000 DUÂmi 
£[SPÒ ¹ 5 JÆöÁõßÖ® •Êø©¯õP 
öP¾zu¨£mhx. 20,000 DUÂmi £[SPÒ ¹. u»õ 
10, ¹ 8 ÷£º AøÇzx £n® öPõkzuÚº. {ÖÁÚ® 
£[S ‰»uÚzøu ¤ßÁ¸©õÖ ©õØÓ •iÄ 
ö\´xÒÍx: 

(i) •ßÝ›ø©¨ £[SPøÍ ¹ £[SPÍõP¨ ¤›UP 
JÆöÁõßÖ® 10. 

  (ii) DUÂmi £[SPøÍ J¸[QønUP ¹ 5 
£[SPÍõP u»õ ¹ JÆöÁõßÖ® 10. 

  (iii) JμÍÄ ö\¾zu¨£mh DUÂmi £[SPøÍ 
•Êø©¯õP ö\»zu¨£mh ¹ u»õ 8, 
÷uøÁ¯õÚ \mhz uøhPÐhß. 

  SÔ¨÷£mk £vÄPøÍ u¸P. 

Or 

 (b) A Liquidator is entitled to receive remuneration at 
2%  of the assets realized and 3% on the amount 
distributed among the unsecured creditors. The 
assets realized Rs. 70,00,000 against which a 
payment was made as follows: 

  Liquidations expenses Rs. 50,000, preferential 
creditors Rs. 1,50,000, secured creditors Rs. 
40,00,000, unsecured creditors Rs. 30,00,000, 
Calculate the total remuneration payable to the 
liquidator. 

  K¸ £n©v¨¤Ç¨¦ ö\´£Áº ö£Ó¨£mh 
ö\õzxPÎÀ 2% ©ØÖ® £õxPõ¨£ØÓ Phß 
ÁÇ[S|ºPÎøh÷¯ Â{÷¯õQUP¨£mh öuõøP°À 
3% Fv¯® ö£Ó E›ø© Esk. ö\õzxUPÒ ¹ 
70,00,000 AuØS GvμõP ¤ßÁ¸©õÖ 
ö\¾zu¨£mhx: 

£n¨¦ÇUP ö\»ÄPÒ ¹. 50,000, •ßÝ›ø© Phß 
ÁÇ[S£ÁºPÒ ¹. 1,50,000, £õxPõ¨£õÚ 
PhÚõÎPÒ ¹. 40,00,000, £õxPõ¨£ØÓ PhÚõÎPÒ 
¹ 30,00,000, Pø»¨£õÍ¸US ö\¾zu ÷Ási¯ 
ö©õzu Fv¯zøuU PnUQk[PÒ. 
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13. (a) The following are the balance sheets of A Ltd. and B 

Ltd. as at 31–12–2013 

Liabilities A Ltd.

Rs. 

B Ltd.

Rs. 

Assets A Ltd. 

Rs. 

B Ltd.

Rs. 

Equity share 

capital, Rs. 10 

each 

1,00,000 50,000 Sundry 

assets 

66,250 69,100

Revenue reserves 9,000 10,000 Shares in B 

Ltd. at cost 

70,000 –

Profit and Loss 

a/c on 01–01–2013

8,500 8,000 Goodwill – 10,000

Profit for the year 

less transfer to 

reserves 

3,750 3,500    

Creditors 15,000 7,600    

 1,36,250 79,100  1,36,250 79,100

  Profit for the year of B Ltd. was Rs. 6,000 out of 

which Rs. 2,500 was transferred to reserves. The 

holding of A Ltd. in B Ltd. is 90% acquired a year 

ago on 31-12-2012. Write off from sundry assets of A 

Ltd. Rs. 9,000. Also write off Rs. 3,100 from the 

sundry assets of B Ltd. out of the current year’s 

profits. 

  Draft a consolidated balance sheet of A Ltd. and its 

subsidiary. 
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  31–12–2013 CÀ EÒÍ H Âªöhm ©ØÖ® ¤ 
¼ªöhm BQ¯ÁØÔß C¸¨¦{ø»PÒ ¤ßÁ¸©õÖ:  

ö£õÖ¨¦PÒ H 
¼ªöhm

¹. 

¤ 

¼ªöhm.

¹. 

ö\õzxUPÒ H 
¼ªöhm

¹. 

¤ 

¼ªöhm.

¹. 

£[S 
‰»uÚ®, ¹ 
JÆöÁõßÖ® 
10 

1,00,000 50,000£À÷ÁÖ 
ö\õzxUPÒ

66,250 69,100

Á¸Áõ´ 
C¸¨¦ 

9,000 10,000Âø»°À 
¤ ¼ªöhm 
£[SPÒ 

70,000 –

01–01–2013 
AßÖ »õ£® 
©ØÖ® |èh® 

8,500 8,000Âø»°À¤ 
¼ªöhm 
£[SPÒ 

– 10,000

BskUPõÚ 
»õ£®, 
C¸¨¦PÐUS 
©õØÖÁx 
SøÓÄ 

3,750 3,500    

Phß 
öPõkzuÁºPÒ 

15,000 7,600    

 1,36,250 79,100  1,36,250 79,100

  ¤ ¼ªöhm BskUPõÚ »õ£® ¹ 6,000 CvÀ  
¹ 2,500 C¸¨¦US ©õØÓ¨£mhx. ¤ ¼ªöhm 
{ÖÁÚzvÀ H ¼ªöhm  øÁzv¸¨£x J¸ 
Á¸hzvØS •ß¦ 31–12&2012 AßÖ 90% 9,000 
÷©¾® ¹ |h¨¦ Bsk »õ£zvÀ ¤ ¼ªöhm Cß 
£À÷ÁÖ ö\õzxUPÎ¼¸¢x 3,100. H ¼ªöhm 
©ØÖ® Auß xøn {ÖÁÚzvß J¸[Qøn¢u 
C¸¨¦{ø»U SÔ¨ø£ E¸ÁõUPÄ®.  

Or 
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 (b) The summarize Balance Sheet of H Ltd. and S. Ltd. 
as on 31-12-2012 are given below : 

   
Liabilities H Ltd.

Rs. 
S Ltd.

Rs. 
Assets H Ltd. 

Rs. 
S Ltd.

Rs. 
Share capital : 
Shares of Rs. 10 
each 

5,00,000 1,00,000 Sundry 
assets 

5,00,000 1,70,000

Reserves 80,000 30,000 8,000 
shares in 
S Ltd 

1,40,000 –

Profit and Loss 
A.c 

60,000 40,000  

 6,40,000 1,70,000  6,40,000 1,70,000
  S Ltd. had the reserve of Rs. 30,000 when H Ltd. 

acquired the shares in S Ltd. but the profit & loss 
a/c balance of S Ltd. was fully earned after the 
purchase of shares. S Ltd. decided to issue bonus 
shares out of the post acquisition profit in the ration 
of 2 shares for every 5 shares held. Calculate the 
cost of control before the issue of bonus shares and 
after the issue of bonus shares. 

  Ga ¼ªöhm Cß _¸UP©õÚ C¸¨¦{ø»PÒ Ga 
¼ªöhm ©ØÖ® Gì ¼ªöhm 31–12–2012 AßÖ 
R÷Ç öPõkUP¨£mkÒÍx : 

  
ö\õzxUPÒ Ga 

¼ªöhm 
¹. 

Gì 
¼ªöhm 

¹ 

ö\õzxUPÒ Ga 
¼ªöhm 

¹. 

Gì 
¼ªöhm 

¹ 

£[S 
‰»©Ú® : 
£[SPÒ 
JÆöÁõßÖ®  
10  

5,00,000 1,00,000 £À÷ÁÖ 
ö\õzxUPÒ

5,00,000 1,70,000

C¸¨¦PÒ 80,000 30,000 S Ltd CÀ 
8,000 
£[SPÒ 

1,40,000 –

»õ£® ©ØÖ® 
CÇ¨¦ a/c 

60,000 40,000  

 6,40,000 1,70,000  6,40,000 1,70,000



S–7095 

  

  9

  Gì ¼ªöhm £[SPøÍ Ga ¼ªöhm Áõ[Q¯÷£õx 
30,000 BÚõÀ Gì Âªöhm Cß »õ£® & |èh® 
a/c C¸¨¦ £[SPøÍ Áõ[Q¯ ¤ÓS •Êø©¯õP 
Dmh¨£mhx. Gì ¼ªöhm øP¯P¨£kzu¾US¨ 
¤¢øu¯ »õ£zv¼¸¢x ÷£õÚì £[SPøÍ 
JÆöÁõ¸ 5 £[SPÐUS® 2 £[SPÍõP ÁÇ[P 
•iÄ ö\´ux. ÷£õÚì £[SPøÍ öÁÎ°kÁuØS 
•ß¦®, ÷£õÚì £[SPøÍ öÁÎ°mh ¤ÓS® 
Pmk¨£õmka ö\»øÁU PnUQk[PÒ. 

14. (a) From the following details, prepare the profit and 
loss account of the Bharat Bank Ltd. for the year 
ended 31–12–2020. 

Particulars Rs.

Interest paid on deposits and borrowings 2,40,000

Interest and discount 7,48,000

Rent received 36,000

Net profit on sale of investment 2,700

Salaries, allowances, bonus  and provident fund 2,10,000

Commission, exchange and brokerage 1,20,000

Legal charges 12,000

Audit fees 5,000

Directors and local committee members fees 2,400

Printing and stationery 6,400

Miscellaneous expenditure 12,000

Telephone, stamps, postage and telegrams 44,000

Advertising 9,000

Insurance and lighting 7,400

Bad debts 34,500

Rent paid 48,000
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 Opening balances on unexpired discount and reserve for 
bad and doubtful debts were Rs. 48,000 and Rs. 24,000 
respectively. Closing balances required on these amounts 
are Rs. 54,000 and Rs. 36,000 respectively. Provide 60% 
taxation on current profits. The chairman and managing 
director has been paid a salary of Rs. 2,400 per month 
and has been provided free quarters and a motor car 
perquisites valued at Rs. 6,000 per annum. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £õμz ÷£[U ¼ªöhm 
{ÖÁÚzvß 31–12–2020 B® BsiØPõÚ »õ£ |èhU 
PnUøPz u¯õ›UPÄ®. 

  
ÂÁμ[PÒ ¹

øÁ¨¦zöuõøP ©ØÖ® PhßPÐUPõÚ Ámi 2,40,000

Ámi ©ØÖ® uÒÐ£i 7,48,000

ÁõhøP Qøhzux 36,000

•u½miß ÂØ£øÚ°À {Pμ »õ£® 2,700

\®£Í®, öPõk¨£ÚÄPÒ, ÷£õÚì ©ØÖ® Á¸[Põ» 
øÁ¨¦ {v 

2,10,000

Pªåß, £›©õØÓ® ©ØÖ® uμS 1,20,000

\mhU Pmhn[PÒ 12,000

uoUøP Pmhn® 5,000

C¯US|ºPÒ ©ØÖ® EÒÑº SÊ EÖ¨¤ÚºPÒ Pmhn® 2,400

Aa]kuÀ ©ØÖ® GÊxö£õ¸Ò 6,400

Cuμ ö\»ÄPÒ 12,000

öuõø»÷£], •zvøμPÒ, u£õÀ ©ØÖ® u¢v 44,000

ÂÍ®£μ® 9,000

Põ¨¥k ©ØÖ® ÂÍUSPÒ 7,400

ÁõμU PhßPÒ 34,500

ÁõhøP ö\¾zu¨£mhx 48,000
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 Põ»õÁv¯õPõu uÒÐ£i ©ØÖ® ÷©õ\©õÚ ©ØÖ® 
\¢÷uPzvØS›¯ PhßPÐUPõÚ C¸¨¦zöuõøP ¹ 48,000 
©ØÖ® ¹ •øÓ÷¯ 24,000 C¢uz öuõøPPÎÀ 
÷uøÁ¨£k® CÖv {¾øÁz öuõøP ¹ 54,000 ©ØÖ®  
¹ •øÓ÷¯ 36,000. uØ÷£õøu¯ »õ£zvÀ 60% 
Á›Âv¨ø£ ÁÇ[PÄ®. uø»Áº ©ØÖ® {ºÁõP C¯USÚº 
\®£Í©õP ¹ ©õu® 2,400 ¹£õ´ ©ØÖ® ¹ ©v¨¦ÒÍ 
C»Á\ Si°¸¨¦PÒ ©ØÖ® J¸ ÷©õmhº Põº 
ö£ºQø\mì ÁÇ[P¨£mkÒÍx. BskUS 6,000. 

Or 

 (b) On 31–12–2016, the following balances stood in the 
books of Asian Bank Ltd., after preparation of its 
profit and loss account. 

Particular Rs. (in ‘000)

Share capital : 
Issued and subscribed 4,000

Reserve fund (under section 17) 6,200

Fixed deposits 42,600

Savings bank deposits 19,000

Current accounts 23,200

Money at call and short notice 1,800

Investments 25,000

Profits and Loss a/c (cr) 01.01.2016 1,350

Dividend for 2015 400

Premises 2,950

Cash in hand 380

Cash with RBI 10,000

Cash with other banks 6,000

Bills discounted and purchased 3,800

Loans, cash credits and overdrafts 51,000
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Bills payable 70

Unclaimed dividend 60

Rebate on bills discounted 50

Short loans (borrowing from other banks) 4,750

Furniture 1,164

Other assets 336

Net profits for 2016 1,550

  Prepare balance sheet of the bank as on  
31–12–2016. 

  31–12–2016 AßÖ, B]°ß Á[Q ¼ªöhm Auß 
»õ£ |èhU PnUøPz u¯õ›zu ¤ÓS, ¤ßÁ¸® 
{¾øÁPÒ ¦zu[PÎÀ C¸¢uÚ. 

SÔ¨¦PÒ ¹ (000’
CÀ)

£[S ‰»uÚ® :  öÁÎ°h¨£mhx ©ØÖ® \¢uõ 
ö\¾zu¨£mhx 

4,000

C¸¨¦ {v (¤›Ä 17ß RÌ) 6,200

{ø»¯õÚ øÁ¨¦ 42,600

÷\ª¨¦ Á[Q øÁ¨¦ 19,000

|h¨¦U PnUSPÒ 23,200

AøÇ¨¤¾® SÖQ¯ AÔÂ¨¤¾® £n® 1,800

•u½k 25,000

»õ£® ©ØÖ® AÇ¨¦ a/c (cr) 01.01.2016 1,350

DÄzöuõøP 2015 400

ÁÍõP® 2,950

øP¨£n® 380

›\ºÆ Á[Q°h® £n® 10,000

¤Ó Á[QPÎÀ £n® 6,000
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¤ÀPÒ uÒÐ£i ö\´¯¨£mk Áõ[P¨£mhÚ 3,800

PhßPÒ, £n ÁμÄPÒ ©ØÖ® KÁº iμõL¨mì 51,000

ö\¾zu ÷Ási¯ ¤ÀPÒ 70

÷Põμ¨£hõu DÄzöuõøP 60

¤ÀPÎÀ uÒÐ£i  50

SÖQ¯ PhßPÒ (¤Ó Á[QP°À Phß Áõ[SuÀ) 4,750

©μa\õ©õßPÒ 1,164

¤Ó ö\õzxUPÒ 336

2016 UPõÚ {Pμ »õ£® 1,550

31–12–2016 AßÖ Á[Q°ß C¸¨¤{ø»U 
SÔ¨ø£z u¯õ›UPÄ®. 

15.  (a) A Life Assurance Company prepared its Revenue a/c 
for the year ended 31-03-2016 and ascertained its 
Life Assurance fund to be Rs. 28,35,000. It was 
found later that the following had been omitted from 
the accounts; 

(i) Interest accrued on investments Rs. 39,000, 
Income tax liable to be deducted there on is 
estimated to be Rs. 10,500. 

  (ii) Outstanding premiums Rs. 32,800. 

  (iii) Bonus utilized for reduction of premium  
Rs. 6,750.  

  (iv)  Claims intimated but not admitted Rs. 17,400. 

  (v)  Claims covered under reinsurance Rs. 6,500.  

  What is the true Life Assurance Fund? 
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  ø»L¨ Bè³μßì {ÖÁÚ® 31–03–2016 B® 
Bsk •iÁøh¢u BsiØPõÚ Auß Á¸Áõø¯z 
u¯õ›zx Auß B²Ò Põ¨¥mk {v ¹ 28,35,000. 
PnUSPÎÀ ¤ßÁ¸£øÁ uÂºUP¨£mi¸¨£x 
¤ßÚº PshÔ¯¨£mhx: 

(i) •u½kPÒ «uõÚ Ámi ¹ 39,000 A[S 
ÁÇ[P¨£h ÷Ási¯ Á¸©õÚ Á› ¹ 10,500. 

  (ii) {¾øÁ°À EÒÍ ¤Ÿª¯[PÒ ¹ 32,800. 

  (iii) ¤Ÿª¯zøuU SøÓ¨£uØS¨ £¯ß£kzu¨£k® 
÷£õÚì ¹ 6,750. 

  (iv) öu›ÂUP¨£mh BÚõÀ AÝ©vUP¨£hõu 
E›ø©÷PõμÀPÒ ¹ 17,400. 

  (v) ©ÖPõ¨¥miß RÌ EÒÍ E›ø©÷PõμÀPÒ  
¹ 6,500. 

  Esø©¯õÚ B²Ò Põ¨¥mk {v GßÓõÀ GßÚ ? 

Or 
 (b) The following balances are abstracted from the 

books of New Bharat Life Insurance Co. Ltd., as on 
31–03–2016.   
   

Particulars Rs. (‘000) Particulars Rs. 
(‘000) 

Life Assurance Fund 
(01-04-2015) 

15,00,000 Claims paid during 
the year 

64,900

Premiums 4,96,000 Annuities 2,050
Considerations for 
annuities granted 

15,000 Bonus in reduction 
of premium 

1,600

Interest and Dividends 1,00,000 Medical fees 2,400
Fines for revival of 
policies 

750 Surrenders 4,000

Reinsurance premium 20,750 Commission 18,650
Claims outstanding 
(01–04–2015) 

4,500 Management 
expenses 

22,000

  Income on tax 
dividends 

8,500
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  Prepare revenue a/c after making the following 
adjustments 

Particulars Rs. (‘000)

(i) Outstanding balances:  

Claims 

Premiums 

14,000
4,600

(ii) Further bonus for premium 2,400

(iii) Claims under reinsurance 8,000

  31–3–2016 ÷uv°ß £i {³ £õμz B²Ò Põ¨¥mk 
÷Põ ¼ªöhm ¦zu[PÎ¼¸¢x ¤ßÁ¸® {¾øÁPÒ 
P¸u¨£mkÒÍÚ.  

ÂÁμ[PÒ ¹ (‘000) ÂÁμ[PÒ  ¹ 

(‘000)

B²Ò Põ¨¥mk {v (01–
04–2015) 

15,00,000 Á¸hzvÀ 
ö\¾zu¨£mh 
E›ø©÷PõμÀPÒ 

64,900

Põ¨¥k 4,96,000 Á¸hõ¢vμ[PÒ 2,050

ÁÇ[P¨£mh 
Á¸hõ¢vμ[PÐUPõÚ 
£›^»øÚPÒ 

15,000 ¤Ÿª¯zøuU 
SøÓ¨£vÀ 
÷£õÚì 

1,600

Ámi ©ØÖ® DÄzöuõøP 1,00,000 ©¸zxÁ Pmhn® 2,400

£õ¼]PÎß 
©Ö©»ºa]UPõÚ 
A£μõu® 

750 \μnøhÄ 4,000

©ÖPõ¨¥mk ¥›ª¯® 20,750 uÒÐ£i 18,650

{¾øÁ°À EÒÍ 
E›ø©÷PõμÀPÒ (01–
04–2015) 

4,500 ÷©»õsø© 
ö\»ÄPÒ 

22,000

  DÄzöuõøP «uõÚ 
Á¸uõÚ Á› 

8,500
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 ¤ßÁ¸® ©õØÓ[PøÍa ö\´u ¤ÓS Á¸Áõ´ a/c Iz 

u¯õ›UPÄ® : 

ÂÁμ[PÒ ¹ (‘000)

(i) {¾øÁ°ß EÒÍ {¾øÁPÒ : 

       E›ø©÷PõμÀPÒ 

       ¤Ÿª¯® 

14,000

4,600

 

(ii) ¤Ÿª¯zvØPõÚ TkuÀ ÷£õÚì 2,400

(iii) ©ÖPõ¨¥miß RÌ EÒÍ E›ø©÷PõμÀPÒ 8,000

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16.  Explain about the Accounting Standards in India as  

A4, 5, 9, 10, 11? 

  C¢v¯õÂÀ A4, 5, 9, 10, 11 GÚ PnUQ¯À uμ{ø»PÒ 

£ØÔ ÂÍUPÄ®. 

17.  On 31-03-2019, Thin Ltd., was absorbed by Thick Ltd., 

the later taking over all the assets and liabilities of the 

former at book values. The consideration for the business 

was fixed at Rs. 4,00,000 to be discharged by the 

transferee company in the form of its fully paid equity 

shares of Rs. 10 each, to be distributed among the 

shareholders of the transferor company, each shareholder 

getting two shares for every share held in the transferor 

company. 
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    The balance sheets of the two companies as on 31-03-2019 

Liabilities Thick 
Ltd. 

Thin Ltd. Assets Thick 
Ltd. 

Thin 
Ltd. 

 Rs. Rs.  Rs. Rs. 

Share capital: Goodwill 2,00,000 60,000

Authorised 15,00,000 15,00,000  

Issued & 
Subscribeed  
equity shares of  
Rs. 10 each fully 
paid 

9,00,000 2,00,000 Plant and 
Machinery 

4,12,000 1,00,000

General reserve 1,80,000 50,000 Furniture 80,000 30,000

Profit & Loss a/c 20,502 12,900 Stock in trade 2,65,500 60,000

Workmen’s 
compensation fund 

12,000 9,000 Sundry 
Debtors 

2,21,200 46,000

Sundry Creditors 58,567 30,456 Prepaid 
insurance 

– 700

Staff provident 
fund 

10,200 4,000 Income tax 
refund claim 

– 6,000

Provision for tax 12,300 5,000 Cash in hand 869 356

 Cash at bank 14,000 8,300

 11,93,569 3,11,356  11,93,569 3,11,356

  Amalgamations expenses amounting to Rs. 1,000  
were paid by Thick Ltd., you are required to —  

 (a) Prepare realization account and equity shareholder 
account in the books of Thin Ltd. 

 (b)  Pass the necessary journal entries in the books of 
Thick Ltd. 

 (c)  Prepare the balance sheet of Thick Ltd., after the 
amalgamation in the nature of merger. 
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 31–03–2019 AßÖ vß ¼ªöhm vU ¼ªöhm 
{ÖÁÚzuõÀ EÒÁõ[P¨£mhx, ¤ßÚº Auß  AøÚzx 
ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PøÍ ¦zuP ©v¨¦PÎÀ 
GkzuU öPõshx. ÁoPzvØPõÚ £›^»øÚ ¹ 4,00,000 
©õØÓ¨£k® {ÖÁÚzuõÀ •Êø©¯õP ö\¾zu¨£mh 
DUÂmi £[SPÎß ÁiÂÀ ¹ u»õ 10 £›©õØÓ® ö\´²® 
{ÖÁÚzvß £[SuõμºPÎøh÷¯ Â{÷¯õQUP¨£k®, 
JÆöÁõ¸ £[Suõμ¸® £›©õØÓ {ÖÁÚzvÀ 
øÁzv¸US® JÆöÁõ¸ £[QØS® Cμsk £[SPøÍ¨ 
ö£ÖQÓõºPÒ. 

31–03&2019 AßÖ C¸ {ÖÁÚ[PÎß C¸¨¦{ø»PÒ 
 

ö£õÖ¨¦PÒ vU 
¼ªöhm 

¹. 

vß 
¼ªöhm 

¹. 

ö\õzxUPÒ vU 
¼ªöhm 

¹. 

vß 
¼ªöhm 

¹ 

£[S ‰»uÚ® : |Àö»sn® 2,00,000 60,000 

A[RP›UP¨£mhx : 15,00,000 15,00,000   

ÁÇ[P¨£mh & \¢uõ 
ö\´¯¨£mh £[SPÒ  
¹ 10 JÆöÁõßÖ® 
•Êø©¯õP 
ö\¾zu¨£mhx 

9,00,000 2,00,000 Bø» ©ØÖ® 
C¯¢vμ[PÒ 

4,12,000 1,00,000 

ö£õx C¸¨¦ 1,80,000 50,000 uÍ£õh[PÒ 80,000 30,000 

»õ£® ©ØÖ® CÇ¨¦ 
PnUS 

20,502 12,900 ÁºzuPzvÀ 
EÒÍ £[S 

2,65,500 60,000 

öuõÈ»õÍº CÇ¨¥mk 
{v 

12,000 9,000 £À÷ÁÖ 
PhÚõÎPÒ 

2,21,200 46,000 

]» Phß ÁÇ[S|ºPÒ 58,567 30,456 •ß£n® 
ö\¾zv¯ 
Põ¨¥k 

– 700 

£o¯õÍº Á¸[Põ» 
øÁ¨¦ {v  

10,200 4,000 Á¸©õÚ Á› 
v¸®£¨ö£Ö® 
÷Põ›UøP 

– 6,000 

Á›UPõÚ JxURk 12,300 5,000 øP°À öμõUP® 869 356 

 Á[Q°À 
öμõUP® 

14,000 8,300 

 11,93,569 3,11,356  11,93,569 3,11,356 

 Tmka ö\»ÄPÒ ¹ 1,000 vU ¼ªöhm ‰»® 
ö\¾zu¨£mhx, }[PÒ ö\´¯ ÷Ási¯x 

  (A) vß ¼ªöhm ¦zu[PÎÀ EnºuÀ PnUS ©ØÖ® 
DUÂmi £[Suõμº PnUøPz u¯õ›UPÄ®. 

 (B) vU ¼ªöhm ¦zu[PÎÀ ÷uøÁ¯õÚ £zv›øP 
EÒÏkPøÍ AÝ¨£Ä® 

  (C) vU ¼ªöhmiß C¸¨¦{ø»U SÔ¨ø£, Cøn¨¤ß 
ußø©°À JßÔønzu ¤ÓS u¯õº ö\´¯Ä®. 
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18.  A Ltd. acquired 1,600 ordinary shares of Rs. 100 each in 
B Ltd. On 31-12-2019. Their summarized balance sheets 
as on that date were as under: 

Liabilities A Ltd. B Ltd. Assets A. Ltd. B Ltd. 

Capital: Rs. Rs.  Rs. Rs.

5,000 ordinary 
shares of Rs. 100 
each 

5,00,000 Land and buildings 1,50,000 1,80,000

2,000 ordinary 
shares of Rs. 100 
each 

– 2,00,000 Plant and 
machinery 

2,40,000 1,09,400

Capital reserve – 1,20,000 Investments in B 
Ltd. at cost 

3,40,000 –

General reserve 2,40,000 – Stocks 1,20,000 36,000

Profit and loss a/c 57,200 36,000 Debtors 44,000 40,000

Bank overdraft 80,000 – Bills receivable 
(including Rs. 3,000 
from B Ltd.) 

15,800 –

Bills payable 
(including Rs. 
4,000 to A Ltd.) 

– 8,400 Cash and bank 14,500 8,000

Creditors 47,100 9,000  

 9,24,300 3,73,400  9,24,300 3,73,400

 You are supplied the following information: 

 (a)  B Ltd. had made a bonus issue on 31-12-2019  
of on ordinary share for every two shares held by  
its shareholder. Effect has yet to be given in the 
accounts for the issue. 

 (b)  The directors are advised that land and buildings  
of B Ltd. are undervalued by Rs. 20,000 and  
plant and machinery of B Ltd. over valued by  
Rs. 10,000. These assets have to be adjusted 
accordingly. 

 (c)  Sundry creditors of A Ltd. include Rs. 12,000 due  
to B Ltd. 

   You are required to prepare the consolidated 
balance sheet as on 31-12-2019. 
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 H ¼ªöhm 1,600 \õuõμn £[SPøÍ ¹ B Ltd À u»õ 100. 
31–12–2019 AßÖ. A¢uU ÷uv°ß£i AÁØÔß 
_¸UP©õÚ C¸¨¦{ø»U SÔ¨¦PÒ ¤ßÁ¸©õÖ:  

  

ö£õÖ¨¦PÒ H 
¼ªöhm 

¹. 

¤ 
¼ªöhm 

¹. 

ö\õzxUPÒ H 
¼ªöhm 

¹. 

¤ 
¼ªöhm 

¹. 

‰»uÚ® 
5,000 
\õuõμn 
£[SPÒ ¹. 
JÆöÁõßÖ® 
¹. 100  

5,00,000 {»® ©ØÓ® 
Pmih[PÒ 

1,50,000 1,80,000 

2,000 
\õuõμn 
£[SPÒ ¹. 
JÆöÁõßÖ® 
100 

– 2,00,000Bø» ©ØÖ® 
C¯¢vμ[PÒ 

2,40,000 1,09,400 

‰»uÚ 
C¸¨¦ 

– 1,20,000ö\»ÂÀ B ltd CÀ 
•u½kPÒ 

3,40,000 – 

ö£õx C¸¨¦ 2,40,000 –£[SPÒ 1,20,000 36,000 

»õ£® ©ØÖ® 
CÇ¨¦ a/c 

57,200 36,000PhÚõÎPÒ 44,000 40,000 

Á[Q 
AvP¨£ØÖ 

80,000 –ö£ÓzuUP ¤ÀPÒ 
(¤ ¼ªöhm 
{ÖÁÚzvhª¸¢x 
3,000 Em£h) 

15,800 – 

ö\¾zu 
÷Ási¯ 
¤ÀPÒ (¹ 
4,000 •uÀ H 
¼ªöhm 
Áøμ) 

– 8,400 £n® ©ØÖ® 
Á[Q 

14,500 8,000 

Phß 
öPõkzuÁºPÒ 

47,100 9,000   

 9,24,300 3,73,400  9,24,300 3,73,400 

  



S–7095 

  

  21

 ¤ßÁ¸® uPÁÀPÒ E[PÐUS ÁÇ[P¨£mkÒÍÚ: 

(A)  B Ltd Auß £[Suõμ›ß JÆöÁõ¸ Cμsk 
£[SPÐUS® 31–12–2019 AßÖ \õuõμn £[Qß 
÷£õÚì ÁÇ[Q²ÒÍx. ]UP¾UPõÚ PnUSPÎÀ 
ÂøÍÄ CßÝ® öPõkUP¨£hÂÀø» 

 (B) B Ltd Cß {»® ©ØÖ® Pmih[PÒ ¹ 20,000 ©ØÖ® 
B Ltd Cß ÷£ßm & C¯¢vμ[PÎß ©v¨¦ ¹ 
10,000 C¢u ö\õzxUPÒ AuØ÷PØ£ \›ö\´¯¨£h 
÷Ásk®. 

 (C) A Ltd Cß \si› PhÚõÎPÒ ¹ ¤ ¼ªöhm ‰»® 
12,000 ö\¾zu ÷Ásk® 

  31–12–2019 AßÖ }[PÒ J¸[Qøn¢u 
C¸¨¦{ø»U SÔ¨ø£z u¯õ›UP ÷Ásk®. 

19.  The following is the trail balance as on 31-12-2012 
extracted from the books of Town bank Ltd. 

Debit Balances Rs. Credit Balances Rs.

Balances with banks 46,350 Share capital 3,00,000

Investment in 
government bonds 

1,94,370 Security deposit of 
employees 

15,000

Other investments 1,55,630 SB accounts 7,420

Gold bullion 15,130 Current accounts 97,000

Interest accured to 
investments 

24,620 Fixed deposits 1,13,050

Silver 2,000 Reserve deposits 1,40,000

Constituents 
liability, for 
acceptances. Etc. 

56,500 Borrowings from 
banks 

77,230

Building 65,000 Profit and Loss a/c 6,500

Furniture 5,000 Bills for collection 43,500

Money at call 26,000 Acceptances and 
endorsements 

56,500
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Loans 2,00,000 Interest 72,000

Bills discounted 12,500 Commission 25,300

Interest 7,950 Discounts 42,000

Bills for collection 43,500 Rent 600

Audit fees 5,000 Profit on bullion 1,200

Loss on sale of 
furniture 

1,000 Miscellaneous 
income 

2,700

Directors fees 1,200 Accumulated 
depreciation on 
building 

20,000

Salaries 21,200  

Postage 50  

Managing directors 
remuneration 

12,000  

Loss on sale of 
investments 

30,000  

Cash in hand 25,000  

Cash with RBI 50,000  

Branch adjustment 
a/c 

20,000  

 10,20,000  10,20,000

 You are required to prepare the profit and loss a/c and 
balance sheet after taking into consideration the 
following  

 (a) Bad debts Rs. 500 

 (b) Rebate on bills 1,000.  

 (c) Current years depreciation on building Rs. 2,000. 

 (d) Some current accounts are over drawn to the extent 
of Rs. 25,000 and total of credit balances is  
Rs. 1,22,000. 
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 hÄß Á[Q ¼ªöhm ¦zu[PÎÀ C¸¢x 
¤›zöukUP¨£mh 31–12–2012 AßÖ {¾øÁz öuõøP 
¤ßÁ¸©õÖ.  

£ØÖ C¸¨¦ ¹. Phß C¸¨¦ ¹.

Á[QPÐhß C¸¨¦ 46,350 £[S ‰»uÚ® 3,00,000

Aμ_ £zvμ[PÎÀ •u½k 1,94,370 FÈ¯ºPÎß £õxPõ¨¦ 
øÁ¨¦ 

15,000

©ØÓ •u½kPÒ 1,55,630 Gì¤ PnUSPÒ 7,420

u[P ö£õß 15,130 |h¨¦U PnUSPÒ 97,000

•u½kPÒ «uõÚ Ámi 24,620 {ø»¯õÚ øÁ¨¦ 1,13,050

öÁÒÎ 2,000 C¸¨¦ øÁ¨¦ 1,40,000

öuõSvPÎß ö£õÖ¨¦ Gv› 
HØÖUöPõÒÍÀPÒ •u¼¯Ú 

56,500 Á[QPÎÀ Phß Áõ[SuÀ 77,230

Pmih® 65,000 »õ£® ©ØÖ® CÇ¨¦ a/c 6,500

©μa\õ©õßPÒ 5,000 Á`¼¨£uØPõÚ ¤ÀPÒ 43,500

AøÇ¨¤À £n® 26,000 HØ¦PÒ ©ØÖ® J¨¦uÀPÒ 56,500

PhßPÒ 2,00,000 Ámi 72,000

uÒÐ£i ¤ÀPÒ 12,500 uμS 25,300

Ámi 7,950 uÒÐ£iPÒ 42,000

Á`¼¨£uØPõÚ ¤ÀPÒ 43,500 ÁõhøP 600

uoUøP Pmhn® 5,000 ö£õß «uõÚ »õ£® 1,200

uÍ£õh[PÒ ÂØ£øÚ°À CÇ¨¦ 

 

1,000 Cuμ Á¸©õÚ® 2,700

C¯USÚºPÒ Pmhn® 1,200 Pmihzvß «x SÂ¢u 
÷u´©õÚ® 

20,000

\®£Í® 21,200  

u£õÀ Pmhn® 50  

{ºÁõP C¯US|ºPÎß Fv¯® 12,000  

•u½kPÎß ÂØ£øÚ°À CÇ¨¦ 30,000  

øP¨£n® 25,000  

›\ºÆ Á[Q°h® £n® 50,000  

QøÍ \›ö\´uÀ a/c 20,000  

 10,20,000  10,20,000

 ¤ßÁ¸ÁÚÁØøÓU P¸zvÀ öPõsk »õ£® ©ØÖ® |èh® 
H/]  ©ØÖ® C¸¨¦{ø»U SÔ¨ø£ }[PÒ u¯õ›UP 
÷Ásk®  

 (A) ÁμõU PhßPÒ ¹ 500 

 (B) ¤ÀPÎÀ 1,000 uÒÐ£i 
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 (C) Pmihzvß uØ÷£õøu¯ Bsk ÷u´u©õÚ®  
¹ 2,000  

 (D) ]» |h¨¦U PnUSPÒ ¹ 25,000 ©ØÖ® ö©õzu Phß 
£õUQPÒ ¹ 1,22,000 

20. From the following figures appearing in the books of Fire 
Insurance division of a General company, show the 
amount of claim as it would appear in revenue account, 
by preparing schedule 2, claims incurred. 

Particulars Direct 
Business

Re-
insurance

 Rs. (‘000) Rs. (‘000)
Claims paid during 2015-16 4,670 700
Claims payable 01-04-2015 763 87
 31-3-2016 812 53
Claims received – 230
Claims 01-04-2015 – 65
 31-03-2016 – 113
Expenses of management (includes Rs. 35 
thousand surveyors fees and Rs 45 thousand 
legal expenses for settlement of claims) 

230 –

 J¸ ö£õx {ÖÁÚzvß w¯øn¨¦U Põ¨¥mk¨ ¤›Âß 
¦zu[PÎÀ ÷uõßÖ® ¤ßÁ¸® ¦ÒÎÂÁμ[PÎ¼¸¢x 
Á¸Áõ´U PnUQÀ ÷uõßÖ® E›ø©÷Põμ¼ß AÍÄ 
AmhÁøn 2 Iz u¯õ›¨£uß ‰»® ÷Põμ¨£mh 
E›ø©÷PõμÀPøÍU PõmhÄ® 

ö£õÖ¨¦PÒ Direct 
Business

Re-
insurance

 Rs. (‘000) Rs. (‘000)
2015–16 CÀ ö\¾zu¨£mh 
÷Põ›UøPPÒ 

4,670 700

ö\¾zu ÷Ási¯ E›ø©÷PõμÀPÒ 
01–04–2015 
31–3–2016 

763
812

87
53

E›ø©÷PõμÀPÒ ö£Ó¨£mhÚ – 230
E›ø©÷PõμÀPÒ 
01–04–2015 
31–03–-2016 

–
–

65
113

{ºÁõPa ö\»ÄPÒ (¹. 35 B°μ® 
\º÷Á¯º Pmhn[PÒ ©ØÖ® 
E›ø©÷PõμÀPøÍz wº¨£uØPõÚ ¹ 45 
B°μ® \mha ö\»ÄPÒ Em£h) 230 –

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025. 

Sixth Semester 

Commerce with Corporate Secretaryship 

Elective – BUSINESS TAXATION 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Tax? 

 Á› GßÓõÀ GßÚ? 

2. State Various Indirect Taxes. 

 {ø» £À÷ÁÖ ©øÓ•P Á›PÒ. 

3. What is State Goods and Services Tax? 

 ©õ{» \μUS ©ØÖ® ÷\øÁ Á› GßÓõÀ GßÚ? 

4. What is Central Goods and Services Tax? 

 ©zv¯ \μUS ©ØÖ® ÷\øÁ Á› GßÓõÀ GßÚ? 

5. Define the term Supply? 

 ÁÇ[PÀ GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

6. What is Levy? 

 Á`À ö\´uÀ GßÓõÀ GßÚ? 

Sub. Code 
22BCS6E2 
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7. What is meant by Time of Supply? 

 Â{÷¯õP ÷|μ® GßÓõÀ GßÚ? 

8. What is Place of Supply? 

 ÁÇ[PÀ ö\´²® Ch® GßÓõÀ GßÚ? 

9. What is Export of Goods? 

 ö£õ¸mPÎß HØÖ©v GßÓõÀ GßÚ? 

10. What is Warehousing? 

 Qh[S GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mention out the Demerits of Single Tax. 

  JØøÓ Á›°ß SøÓ£õkPøÍU SÔ¨¤hÄ®. 

Or 

 (b) List out the Advantages of indirect Tax. 

  ©øÓ•P Á›°ß |ßø©PøÍ £mi¯¼k[PÒ. 

12. (a) Explain the Definition and Objectives of Goods and 
Services Tax. 

  \μUS ©ØÖ® ÷\øÁ Á›°ß Áøμ¯øÓ ©ØÖ® 
÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Discuss about the HSN Code of Goods and Services 
Tax. 

  \μUS ©ØÖ® ÷\øÁ Á›°ß HSN SÔ±k £ØÔ 
ÂÁõvUPÄ®. 
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13. (a) Explain about the Liability for Registration in GST. 

  âGìi°À £vÄ ö\´ÁuØPõÚ ö£õÖ¨¦ £ØÔ 
ÂÍUPÄ®. 

Or 

 (b) Write Short notes about the Deemed Registration in 
GST. 

  âGìi°À j®m £vÄ £ØÔ ]Ö SÔ¨¦PÒ GÊuÄ®. 

14. (a) Explain about the Valuation of Place of Supply. 

  ÁÇ[PÀ Chzvß ©v¨¥møh¨ £ØÔ ÂÍUPÄ®. 

Or 

 (b) Discuss about the Restrictions on availing Input 
Tax Credit. 

  EÒÏmk Á›U Phß ö£ÖÁuØPõÚ Pmk¨£õhPÒ 
£ØÔ ÂÁõvUPÄ®. 

15.  (a) Explain the Natures of the Customs Act. 

  _[Pa \mhzvß C¯À¦PøÍ ÂÍUSP. 

Or 

 (b) Briefly explain about the Customs Duty Draw Back. 

  _[P Á› iμõ ÷£U £ØÔ _¸UP©õP ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Brief about the Types of Taxes. 

 Á›PÎß ÁøPPÒ £ØÔ _¸UP©õP  

17. Difference between the Central Goods and Services Tax, 
State Goods. 

 ©zv¯ \μUS ©ØÖ® ÷\øÁ Á›, ©õ{» \μUSPÐUS 
Cøh÷¯ EÒÍ ÷ÁÖ£õk. 
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18. Enumerate about the Registration for Dealers under 
Goods and Services Tax. 

 \μUS ©ØÖ® ÷\øÁ Á›°ß RÌ ÁõoP® 
ö\´£ÁºPÐUPõÚ £vÄ £ØÔ PnUQhÄ®. 

19. Describe about the Limitations on availing Input Tax 
Credit. 

 EÒÏmk Á›U Phß ö£ÖÁuØPõÚ Áμ®¦PøÍ¨ £ØÔ 
ÂÁ›UPÄ®. 

20. Elaborate about the Types of Customs Duty. 

 _[P Á› ÁøPPÒ £ØÔ Â›ÁõP TÖ[PÒ. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 

Sixth Semester 

Commerce with Corporate Secretaryship 

Elective – COST ACCOUNTING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is meant by the term cost? 

 AhUP® GßÓ Áõºzøu°ß Aºzu® GßÚ?  

2. What is costing? 

 AhUP Âø» GßÓõÀ GßÚ? 

3. What is inventory control? 

 \μUS Pmk¨£õk GßÓõÀ GßÚ? 

4. What is meant by stock levels? 

 £[S {ø»PÒ GßÓõÀ GßÚ? 

5. What is direct labor? 

 ÷|μi EøÇ¨¦ GßÓõÀ GßÚ? 

6. What is time keeping? 

 ÷|μzøu Pøh¤i¨£x GßÓõÀ GßÚ? 

 

Sub. Code 
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7. Define overhead. 

 ÷©À{ø»ø¯ Áøμ¯Ö. 

8. What do you understand by standing order number? 

 {ø»¯õÚ Bøn Gs ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ? 

9. What is job costing? 

 ÷Áø» AhUP Âø» GßÓõÀ GßÚ? 

10. What is process costing? 

 ö\¯À•øÓ AhUP Âø» GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 
Answer all questions, choosing either (a) or (b) 

11. (a) Explain the uses of costing. 

  AhUP Âø» ö\´Áuß £¯ßPøÍ ÂÍUSP. 

Or 

 (b) Explain the objects of costing.  

  AhUP Âø» ö\´²® ö£õ¸ÒPøÍ ÂÍUSP. 

12. (a) Find out EOQ. 

  Annual consumption 3,000 units. 

  Cost of material per unit Rs.10. 

  Cost of placing an order Rs. 30. 

  Annual carrying cost per unit Rs. 1. 

  EOQIU PshÔ¯Ä®. 

  Bsk ~PºÄ 3,000 A»SPÒ 

  J¸ ³Ûm ö£õ¸Îß Âø» ¹. 10 

  Bºhº ö\´ÁuØPõÚ ö\»Ä ¹. 30 

  J¸ ³ÛmkUS Bsk _©¢x ö\À¾® ö\»Ä ¹. 1 
Or 
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 (b) Calculate maximum level, minimum level and 
reordering level from the following data. 

  Re-order quantity   1,500 units 

  Re-order period  4 to 6 weeks 

  Maximum consumption 400 units per weeks 

  Normal consumption  300 units per weeks 

  Minimum consumption 250 units per week. 
  ¤ßÁ¸® uμÄPÎ¼¸¢x AvP£m\ {ø», 

SøÓ¢u£m\ {ø» ©ØÖ® ©ÖÁ›ø\¨£kzuÀ {ø» 
BQ¯ÁØøÓU PnUQhÄ®. 

  ©Ö Bºhº AÍÄ 1,500 ³ÛmkPÒ 

  ©Ö Bºhº Põ»® 4 •uÀ 6 Áõμ[PÒ 

  ÁõμzvØS AvP£m\ ~PºÄ 400 ³ÛmkPÒ 

  \õuõμn ~PºÄ ÁõμzvØS 300 A»SPÒ 

  ÁõμzvØS SøÓ¢u£m\ ~PºÄ 250 ³ÛmkPÒ 

13. (a) Calculate the earnings of a worker from the 
following information under: 

  (i) Time Rate method 

  (ii)  Piece Rate Method 

  Standard Time 30 hours  

  Time Take: 20 hours 

  Hourly rate of wages Rs. 1 per hour plus a dearness 
allowance @ 50 paisa per hour worked. 

  ¤ßÁ¸® uPÁ¼ß RÌ J¸ öuõÈ»õÎ°ß 
Á¸Áõø¯U PnUQk[PÒ. 

  (i) ÷|μ ÂQu •øÓ 

  (ii) xsk ÂQu •øÓ 

  {ø»¯õÚ ÷|μ® 30 ©o÷|μ® 

  ÷|μ® GkUS® 20 ©o÷|μ® 

  ©o÷|μ Fv¯ ÂQu® ¹. 1 ©o÷|μzvØS  
©ØÖ® J¸ ©o ÷|μzvØS 50 ø£\õ EuÂzöuõøP 

Or 
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 (b) Calculate the earnings of a worker under  

  (i) Rowan premium Bonus system,  

  (ii) Halsey Weir premium Bonus system (40 per 
cent to worker) 

  Hourly rate of wages (guaranteed) Rs. 0.75 

  Standard Time for produce 20 dozen articles is  
48 hours. 

  (i) ÷μõÁß ¤Ÿª¯® ÷£õÚì •øÓ°ß RÌ J¸ 
öuõÈ»õÎ°ß Á¸Áõø¯U PnUQk[PÒ.  

  (ii) íÀ] Ãº ¤Ÿª¯® ÷£õÚì •øÓ 
(öuõÈ»õÍºPÐUS 40 \uÃu®) 

  ©o÷|μ Fv¯ ÂQu® (EzuμÁõu®) ¹. 0.75 

  20 háß PmkøμPøÍ u¯õ›¨£uØPõÚ {ø»¯õÚ 
÷|μ® 48 ©o÷|μ® 

14. (a) You are supplied with the following information. 
Calculate overhead hourly rate in respect of 
production depts., A, B and C. 

  The primary overheads are:  

Production Depts : Rs. Service Depts : Rs. 

A 7,810 X 4,000

B 12,543 Y 2,600

C 4,547  

  Expenses of service depts. X and Y are apportioned 
as under.  

 A B C X Y 

X 30% 40% 20% – 10%

Y 10% 20% 50% 20% – 

  Estimated working hours are : A - 1000; B-2,500;  
C-1,400 
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  ¤ßÁ¸® uPÁÀPÒ E[PÐUS ÁÇ[P¨£mkÒÍÚ. 
÷©À{ø» ©o÷|μ ÂQuzøuU PnUQk[PÒ. 

  EØ£zv xøÓPÒ H, ¤ ©ØÖ® ] 

  •ußø© ÷©À{ø»PÒ  

EØ£zv xøÓPÒ ¹. ÷\øÁ xøÓPÒ ¹. 

A 7,810 GUì 4,000

B 12,543 J´ 2,600

C 4,547  

  ÷\øÁ xøÓPÎß ö\»ÄPÒ, X ©ØÖ® Y BQ¯øÁ 
RÌPshÁõÖ ¤›UP¨£mkÒÍÚ.  

 A B C X Y 

GUì 30% 40% 20% – 10%

J´ 10% 20% 50% 20% – 

 

  ©v¨¤h¨£mh ÷Áø» ÷|μ® : A – 1,000;-  
B – 2,500;- C – 1,400 

Or 

 (b) A factory has three production departments A, B 
and C and two service departments S1 and S2. The 
over head costs of each of the departments are as 
under: 
Departments Costs

(Rs) 

A 10,000

B 9,000

C 12,000

S1 6,000

S2 4,000
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  The cost of the service departments are to be 
apportioned as under :  
Dept. A B C S1 S2 

S1 30% 20% 30% – 20%

S2 40% 40% 20% – – 

  Compute the overhead costs of each of the 
production departments. 

  J¸ öuõÈØ\õø»°À ‰ßÖ EØ£zvz xøÓPÒ H, ¤ 
©ØÖ® ] ©ØÖ® Cμsk ÷\øÁz xøÓPÒ EÒÍÚ. 

  S1 ©ØÖ® S2 JÆöÁõ¸ xøÓ°ß uø»ø©a 
ö\»ÄPÒ ¤ßÁ¸©õÖ : 
xøÓ ö\»ÄPÒ (¹.)

A 10,000

B 9,000

C 12,000

S1 6,000

S2 4,000

  ÷\øÁz xøÓPÎß ö\»ÄPÒ ¤ßÁ¸©õÖ ¤›UP¨£h 
÷Ásk®.  
xøÓ A B C S1 S2 

S1 30% 20% 30% – 20%

S2 40% 40% 20% – – 

  JÆöÁõ¸ EØ£zvz xøÓ°ß ÷©À{ø»a 
ö\»ÄPøÍU PnUQk[PÒ. 

15.  (a) A factory follows job costing. The following cost data 
are obtained from its books for the year ending  
31st December 2006 

  Direct materials   Rs. 90,000 

  Direct wages  Rs. 75,000 

  Profit    Rs. 60,900 
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  Selling and distribution  
  overheads     Rs. 52,500 

  Administration overheads Rs. 42,000 

  Factory overheads   Rs. 45,000 

  J¸ öuõÈØ\õø» ÷Áø» ö\»øÁ ¤ß£ØÖQÓx. 
i\®£º 31, 2006 CÀ •iÁøh¢u BsiØPõÚ Auß 
¦zuP[PÎ¼¸¢x ¤ßÁ¸® ö\»Äz uμÄ 
ö£Ó¨£mhx. 

  ÷|μi ö£õ¸mPÒ ¹. 90,000 

  ÷|μi Fv¯® ¹. 75,000 

  »õ£® ¹. 60,900 

  ÂØ£øÚ ©ØÖ® Â{÷¯õP ÷©À{ø»PÒ ¹. 52,500 
{ºÁõP ÷©À{ø»PÒ ¹. 42,000 

  öuõÈØ\õø» ÷©À{ø»PÒ ¹. 45,000 

Or 

 (b) In process I, 600 units were introduced at Rs.20 per 
unit. The normal process loss is 20% of the input. 
The Scrap is sold at Rs.3 per unit. Labor and 
overhead expenses incurred in the process 
amounted to Rs. 1,320. 500 units were completed 
and transferred to finished stock account. You are 
required to show the process account and abnormal 
gain account. 

  ö\¯À£õmiÀ I, 600 ³ÛmPÒ J¸ ³Ûm ¹. 20US 
AÔ•P¨£kzu¨£mhx. C¯À£õÚ ö\¯À•øÓ 

CÇ¨¦ EÒÏmiÀ 20% BS®. ìQμõ¨ J¸ ³Ûm  
¹. 3US ÂØP¨£kQÓx. ö\¯À£õmiÀ HØ£mh 
öuõÈ»õÍº ©ØÖ® ÷©À{ø» ö\»ÄPÒ ¹. 1,320. 
500 A»SPÒ •iUP¨£mk •iUP¨£mh £[SU 
PnUQØS ©õØÓ¨£mhÚ. }[PÒ ö\¯À•øÓ PnUS 
©ØÖ® A\õuõμn Buõ¯ PnUS Põmh ÷Ásk®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following information prepare a cost sheet to 
show: 

 (a) Prime cost ; 

 (b)  Works cost;  

 (c)  Cost of production ; 

 (d)  Cost of sales; and  

 (e)  Profit 
 Rs.

Raw materials purchased 32,250

Carriage on purchases  850

Direct wages   18,450

Factory overhead   2,750

Selling overhead   2,450

Office overhead   1,850

Sales   75,000

Sale of factory scrap   250

Opening stock of finished goods  9,750

Closing stock of finished goods  11,100

 ¤ßÁ¸® uPÁ¼¼¸¢x Põmh J¸ ö\»ÄzuõøÍz 
u¯õ›UPÄ®. 

 (A) •ußø© ö\»Ä 

 (B) ÷Áø» ö\»Ä 

 (C) EØ£zv ö\»Ä  

 (D) ÂØ£øÚ ö\»Ä ©ØÖ®  

 (E)  »õ£® 
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 ¹. 

öPõÒ•uÀ ö\´¯¨£mh ‰»¨ö£õ¸mPÒ 32,250

Áõ[S® ÷£õx Ási 850

÷|μi Fv¯® 18,450

öuõÈØ\õø» ÷©À{ø» 2,750

÷©À{ø» ÂØ£øÚ 2,450

A¾Á»P ÷©À{ø» 1,850

ÂØ£øÚ 75,000

 öuõÈØ\õø» PÈÄ ¹.250, ÂØ£øÚ •iUP¨£mh 
ö£õ¸mPÎß öuõhUP C¸¨¦ ¹. 9,750 

 •iUP¨£mh ö£õ¸mPÎß CÖv C¸¨¦ ¹. 11,100   

17. From the information given below, calculate the re-order, 
maximum level and minimum level 

 Re-order quantity 4,000 units 

 Minimum stock level to allow for emergencies 5 weeks 

 Average delivery time for suppliers 4 weeks 

 Maximum stock level 20 weeks 

 Average rate of consumption 250 units 

 Minimum consumption in 4 weeks 800 units 

 R÷Ç öPõkUP¨£mkÒÍ uPÁ¼¼¸¢x, ©ÖÁ›ø\, 
AvP£m\ {ø» ©ØÖ® SøÓ¢u£m\ {ø» BQ¯ÁØøÓU 
PnUQk[PÒ. 

 ©Ö Á›ø\¨£kzuÀ 4,000 A»SPÒ 

 5 Áμõ[PÐUS AÁ\μ{ø»US AÝ©vUS® SøÓ¢u£m\ 
£[S {ø» \¨øÍ¯ºPÐUPõÚ \μõ\› öh¼Á› ÷|μ® 4 
Áõμ[PÒ. 

 AvP£m\ £[S {ø» 20 Áõμ[PÒ 

 \μõ\› ~PºÄ ÂQu® 250 ³ÛmPÒ 

 4 Áõμ[PÎÀ SøÓ¢u£m\ ~PºÄ 800 A»SPÒ 
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18. Discover from the following particulars and work out the 
earnings for the week of a worker under: 

 (a) Straight piece rate,  

 (b)  Differential piece rate,  

 (c)  Halsey premium system and  

 (d) Rowan system  

  Number of working hours per week-48 

  Wages per hour – Rs.3.75 

  Rate per piece –Rs.1.50 

  Normal time per piece – 20 minutes 

  Normal output per week – 120 pieces 

  Actual output for the week – 150 pieces 
 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x J¸ öuõÈ»õÎ°ß 

ÁõμzvØPõÚ Á¸Áõø¯U PshÔÄ®. 

 (A) ìmøμm ¥ì ÷μm 

 (B) iLö£μßæ¯À ¥ì ÷μm  

 (C) íõÀ] ¤Ÿª¯® ]ìh® ©ØÖ® 

 (D) ÷μõÁß ]ìh® 

 ÁõμzvØS ÷Áø» ÷|μ[PÎß GsoUøP–48 

 J¸ ©o÷|μzvØS Fv¯® – ¹. 3.75 

 Âø» ©v¨¦ – ¹. 1.50 

 J¸ xskUPõÚ \õuõμn ÷|μ® – 20 {ªh[PÒ 

 ÁõμzvØS \õuõμn öÁÎ±k  – 120 xskPÒ 

 ÁõμzvØPõÚ Esø©¯õÚ öÁÎ±k – 150 xskPÒ 

19. From the following details compute following absorption 
rate:  

 (a) Direct material cost rate  

 (b) Direct labor cost rate,  

 (c) Labor hour rate  

 (d) Machine hour rate 
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 Materials used - Rs. 50,000 

 Direct labor cost - Rs.40,000 

 Factory overheads -Rs.40,000 

 Direct labour hours- Rs.10,000 

 Hours of machine operation – 20,000  

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ¤ßÁ¸® EÔg_uÀ ÃuzøuU 
PnUQk[PÒ. 

 (A) ÷|μi ö£õ¸Ò ö\»Ä ÂQu®  

 (B) ÷|μi öuõÈ»õÍº ö\»Ä ÂQu® 

 (C) öuõÈ»õÍº ©o÷|μ Ãu® 

 (D) C¯¢vμ ©o÷|μ Ãu® 

 £¯ß£kzu¨£k® ö£õ¸mPÒ  – ¹. 50,000 

 ÷|μi öuõÈ»õÍº ö\»Ä – ¹. 40,000 

 öuõÈØ\õø» ÷©À{ø»PÒ – ¹. 40,000 

 ÷|μi ÷Áø» ÷|μ® – 10,000 

 C¯¢vμ® ö\¯À£k® ÷|μ® – 20,000 

20. East coast construction under took a contract on  
1st January 2010. The cost price being Rs 1,00,000. 
During the year work certified was valued at Rs. 50,000 
of which 75% was received. Work uncertified amounted to 
Rs. 10,000. The following expenses were incurred: 

 Rs. 
Materials 30,000
Labour 20,000
Plant 10,000
Direct expenses 8,000
Indirect expenses 5,000
Wages accrued at the end 2,000
Materials in hand 1,000
Plant in hand 1,500

 Prepare the contract account as on 30th June 2010. 
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 QÇUS PhØPøμ Pmk©õÚzvß RÌ 2010 áÚÁ› 1® ÷uv 
J¨£¢u® GkUP¨£mhx. Cuß Âø» 

 ¹.  1,00,000, Á¸hzvß ÷£õx ÷Áø» \õßÔuÇõP 
©v¨¤h¨£mhx. ¹. 50,000 CvÀ 75% ö£Ó¨£mhx. 
\õßÓÎUP¨£hõu £o°ß öuõøP ¹. 10,000. ¤ßÁ¸® 
ö\»ÄPÒ HØ£mhÚ. 

 ¹. 

ö£õ¸mPÒ 30,000

EøÇ¨¦ 20,000

Bø» 10,000

÷|μi ö\»ÄPÒ 8,000

©øÓ•P ö\»ÄPÒ 5,000

•iÂÀ \®£Í® Qøhzux 2,000

øP°À EÒÍ ö£õ¸mPÒ 1,000

øP°À ö£õÔ 1,500

  áüß 30,2010 AßÖ J¨£¢uU PnUøPz 
u¯õ›UPÄ®. 

———————— 
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Elective – MANAGEMENT ACCOUNTING 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Management Accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. What is Financial Accounting? 

 {v PnUQ¯À GßÓõÀ GßÚ? 

3. What is Leverage? 

 A¢{¯a ö\»õÁo GßÓõÀ GßÚ? 

4. Define Ratio. 

 ÂQuzøu Áøμ¯ÖUPÄ®. 

5. What is Production? 

 EØ£zv GßÓõÀ GßÚ? 

6. What is Management Information System? 

 ÷©»õsø© uPÁÀ Aø©¨¦ GßÓõÀ GßÚ? 
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7. What is Fund? 
 {v GßÓõÀ GßÚ? 

8. What is Cash Flow Statement? 
 £n¨¦ÇUP AÔUøP GßÓõÀ GßÚ? 

9. What is Costing? 
 ö\»Ä GßÓõÀ GßÚ? 

10. What is Break Even point? 
 C»õ£|mh ¦ÒÎPÒ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the objectives of Financial Accounting. 
  ÷©»õsø© PnUQ¯¼ß ÷|õUP[PøÍ ÂÍUSP. 

Or 

 (b) Explain the Function of Financial Accounting. 
  {vU PnUQ¯¼ß ö\¯À£õmøh ÂÍUSP. 

12. (a) Explain the following details relating to U Traders 
for the year ending 31.03.1999, you are required to 
calculate ratio reflecting their liquidity position- 
current ratio, acid test ratio and super quick ratio 
and offer your comments: 
  

Particulars Rs. Rs. 

Sundry debtors 50,000  

Cash in hand 40,000  

Cash at bank 60,000  

Trade investments 20,000  

Bills receivable 30,000  
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Particulars Rs. Rs. 

Prepaid expenses 10,000  

Closing stock 80,000  

Current asset   2,90,000

Sundry creditors 40,000  

Bills payable 30,000  

Outstanding expenses 2,500  

Current liabilities   72,500

  31.03.1999 B® Bsk •iÁøh²® BskUPõÚ U 
ÁºzuPºPÒ öuõhº£õÚ ¤ßÁ¸® ÂÁμ[PøÍ 
ÂÍUPÄ®, AÁºPÎß £n¨¦ÇUP {ø»&uØ÷£õøu¯ 
ÂQu®, Aª» ÷\õuøÚ ÂQu® ©ØÖ® `¨£º ÂøμÄ 
ÂQu® BQ¯ÁØøÓ¨ ¤μv£¼US® ÂQuzøuU 
PnUQmk E[PÒ P¸zxPøÍ ÁÇ[P ÷Ásk® :  

ÂÁμ[PÒ ¹. ¹. 

£À÷ÁÖ PhÚõÎPÒ 50,000  

øP¨£n® 40,000  

Á[Q°À £n® 60,000  

ÁºzuP •u½kPÒ 20,000  

ÁμÄøh¯ ¤ÀPÒ 30,000  

•ß£n® ö\¾zu¨£mh ö\»ÄPÒ 10,000  

CÖv \μUS 80,000  

uØ÷£õøu¯ ö\õzx   2,90,000

£À÷ÁÖ Phß ÁÇ[S£ÁºPÒ 40,000  

ö\¾zu ÷Ási¯ ¤ÀPÒ 30,000  

{¾øÁ°À EÒÍ ö\»ÄPÒ 2,500  

uØ÷£õøu¯ ö£õÖ¨¦PÒ   72,500

Or 
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 (b) Calculate Gross profit Ratio from the following 
Figures : 

Particulars Rs. 

Sales 10,00,000

Sales return 1,00,000

Opening stock 2,00,000

Purchases 6,00,000

Purchase return 1,50,000

Closing stock 65,000

  ¤ßÁ¸® ¦ÒÎÂÁμ[PÎ¼¸¢x ö©õzu »õ£ 
ÂQuzøuU PnUQk[PÒ : 

ÂÁμ[PÒ ¹. 

ÂØ£øÚ 10,00,000

ÂØ£øÚ v¸®¦® 1,00,000

Bμ®£ \μUS 2,00,000

öPõÒ•uÀ 6,00,000

öPõÒ•uÀ v¸®£® 1,50,000

CÖv \μUS 65,000

13. (a) L Ltd. plans to sell 1,10,000 units of a certain 
product line in the fiscal quarter. 1,20,000 units in 
the second quarter, 1,30,000 units in the third 
quarter, 1,50,000 units in the fourth quarter and 
1,40,000 units in the fifth quarter. At the beginning 
of the first quarter of the current year, there are 
14,000 units of the product in stock. At the end of 
each quarter, the company plans to have an 
inventory equal to one-fifth of the sales for the next 
fiscal quarter. How many units must be 
manufactured in each quarter of the current year. 
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  L Ltd. •uÀ {v¯õsiß Põ»õsiÀ J¸ SÔ¨¤mh 

u¯õ›¨¦ Á›ø\°ß 1,10,000 ³ÛmPøÍ ÂØ£øÚ 
ö\´¯ vmhªmkÒÍx. CμshõÁx Põ»siÀ 

1,20,000 ³ÛmPÒ, ‰ßÓõ® Põ»siÀ 1,30,000 
³ÛmkPÒ, |õßPõÁx Põ»õsiÀ 1,50,000 ³ÛmPÒ 

©ØÖ® I¢uõ® Põ»õsiÀ 1,40,000 ³ÛmPÒ. |h¨¦ 

Bsiß •uÀ Põ»õsiß öuõhUPzvÀ, 14,000 
³Ûm u¯õ›¨¦PÒ øP°¸¨¤À EÒÍÚ. JÆöÁõ¸ 
Põ»õsiß •iÂ¾®, Akzu {v¯õsk 
Põ»õsiØPõÚ ÂØ£øÚ°À I¢vÀ J¸ £[QØS 
\©©õÚ \μUSPøÍ øÁzv¸UP {ÖÁÚ® 
vmhªmkÒÍx. |h¨¦ Bsiß JÆöÁõ¸ 
Põ»õsi¾® G¢öu¢u A»SPÒ GÆÁõÖ 
u¯õ›UP¨£h ÷Ásk®.  

Or 

 (b) You are required to prepare a production budget for 
the half year ending June 2000 from the following 
information : 

Product Budgeted Sales 
Quantity 

Actual Stock On 
31.12.1999 

Desired Stock On 
30.06.2000 

  Units Units Units 

S 20,000 4,000 5,000 

T 50,000 6,000 10,000 

  áüß 2000 CÀ •iÁøh²® Aøμ¯õskUPõÚ 
EØ£zv £möámøh ¤ßÁ¸® uPÁ¼À C¸¢x 
}[PÒ u¯õ›UP ÷Ásk® :  

u¯õ›¨¦ £möám  
ÂØ£øÚ 

AÍÄ 

Esø©¯õÚ  
\μUS 31.12.1999 

AßÖ 

Â¸®¤¯  
\μUS 30.06.2000 

AßÖ 

  A»SPÒ A»SPÒ A»SPÒ 

Gì 20,000 4,000 5,000 

i 50,000 6,000 10,000 
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14. (a) From the following Balance Sheets, Prepare a 

statement showing flow of funds.  

Balance Sheet  

Liabilities 31.12.1991 

Rs. 

31.12.1992 

Rs. 

Assets 31.12.1991 

Rs. 

31.12.1992 

Rs. 

Share capital 2,00,000 2,50,000 Land 50,000 66,000

Retained 

earnings 

10,000 23,000 Stock 80,000 90,000

Creditors 70,000 45,000 Debtors 1,20,000 1,15,000

 Cash 30,000 47,000

 2,80,000 3,18,000  2,80,000 3,18,000

  ¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x, {v 

KmhzøuU Põmk® AÔUøPø¯z u¯õ›UPÄ®.  

C¸¨¦ uõÒ 

ö£õÖ¨¦PÒ 31.12.1991 

¹. 

31.12.1992 

¹. 

ö\õzxUPÒ 31.12.1991 

¹. 

31.12.1992 

¹. 

£[S ‰»uÚ® 2,00,000 2,50,000 {»® 50,000 66,000

uUP Á¸Áõ´ 10,000 23,000 \μUS 80,000 90,000

Phß 

öPõkzuÁºPÒ 

70,000 45,000 PhÚõÎPÒ 1,20,000 1,15,000

 £n® 30,000 47,000

 2,80,000 3,18,000  2,80,000 3,18,000

Or 
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 (b) From the following data you are required to 
calculate the cash from operations : 

  Funds from operation for the year 1998 Rs. 84,000. 
Current assets and liabilities as on 01.01.1998 and 
31.12.1998 were as follows : 

Particulars 01.01.1998
Rs. 

31.12.1998
Rs. 

Trade creditors 1,82,000 1,94,000

Trade debtors 2,75,000 3,15,000

Bills receivable 40,000 35,000

Bills payable 27,000 31,000

Inventories 1,85,000 1,70,000

Trade investments 40,000 70,000

Outstanding expenses 20,000 25,000

Prepaid expenses 5,000 8,000

  ¤ßÁ¸® uμÄPÎ¼¸¢x }[PÒ 
|hÁiUøPPÎ¼¸¢x £nzøuU PnUQh ÷Ásk®. 

1998 B® BsiØPõÚ ö\¯À£õmi¼¸¢x {v  
¹. 84,000.  01.01.1998 ©ØÖ® 31.12.1998 ÷uvPÎÀ 
uØ÷£õøu¯ ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ 
¤ßÁ¸©õÖ : 

ÂÁμ[PÒ 01.01.1998
¹. 

31.12.1998
¹. 

ÁºzuP Phß ÁÇ[S£ÁºPÒ 1,82,000 1,94,000
ÁºzuP PhÚõÎPÒ 2,75,000 3,15,000
ö£ÓzuUP ¤ÀPÒ 40,000 35,000
ö\¾zu ÷Ási¯ ¤ÀPÒ 27,000 31,000
\μUSPÒ 1,85,000 1,70,000
ÁºzuP •u½kPÒ 40,000 70,000
{¾øÁ°À EÒÍ ö\»ÄPÒ 20,000 25,000
•ß£n® ö\¾zu¨£mh 
ö\»ÄPÒ 

5,000 8,000
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15. (a) Explain about the Limitation of Marginal Costing. 
  ÂÎ®¦ ö\»ÄPÎß Áμ®¦ £ØÔ ÂÍUPÄ®. 

Or 

 (b) (i) Calculate break even point from the following : 

   Sales – 1,000 units at Rs. 10 each Rs. 10,000.  

   Variable cost – Rs. 6 per unit. 

   Fixed cost – Rs. 8,000. 

  (ii) If the selling price is reduced to Rs. 9, what is 
the new break even point? 

  (i) ¤ßÁ¸ÁÚÁØÔ¼¸¢x •ÔÄ ¦ÒÎø¯U 
PnUQk[PÒ :  

   ÂØ£øÚ – 1,000 ³ÛmPÒ ¹. 10 u»õ  
¹. 10,000.  

   ©õÔ ö\»Ä – ¹. ³ÛmkUS 6. 

   {ø»¯õÚ ö\»Ä – ¹. 8,000. 

   (ii) ÂØ£øÚ Âø»ø¯ ¹. 9, BP SøÓUP¨£mhõÀ, 
¦v¯ •ÔÄ ¦ÒÎ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinction between Financial and Management 
Accounting. 

 {v ©ØÖ® ÷©»õsø© PnUQ¯À Cøh÷¯ ÷ÁÖ£õk. 

17. The following figures relate to the trading activities of a 
company for the year ended 31.12.1987.  

Particulars Rs. Particulars Rs. 

Sales 1,00,000 Salary of salesmen 1,800

Purchases 70,000 Advertising 700

Closing stock 14,000 Travelling expenses 500

Sales returns 4,000 Salaries (office) 3,000
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Particulars Rs. Particulars Rs. 

Dividend received 1,200 Rent 6,000

Profit on sale of fixed assets 600 Stationery 200

Loss on sale of shares 300 Depreciation 1,000

Opening stock 11,000 Other expenses 2,000

 Provision for tax 7,000

 You are required to calculate  

 (a) Gross Profit Ratio, 

 (b) Operating Profit Ratio, 

 (c) Operating Ratio,  

 (d) Net Profit Ratio. 

 ¤ßÁ¸® ¦ÒÎÂÁμ[PÒ 31.12.1987 B® BsiØPõÚ 
J¸ {ÖÁÚzvß ÁºzuP |hÁiUøPPÐhß 
öuõhº¦øh¯øÁ. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ÂØ£øÚ 1,00,000 ÂØ£øÚ¯õÍºPÎß 
\®£Í® 

1,800

öPõÒ•uÀ 70,000 ÂÍ®£μ® 700
CÖv \μUQ¸¨¦ 14,000 £¯n ö\»ÄPÒ 500
ÂØ£øÚ Á¸©õÚ® 4,000 \®£Í® (A¾Á»P®) 3,000
DÄzöuõøP Qøhzux 1,200 ÁõhøP 6,000
{ø»¯õÚ ö\õzxUPÎß 
ÂØ£øÚ »õ£® 

600 GÊxö£õ¸Ò 200

\μUS ÂØ£øÚ°À CÇ¨¦ 300 ÷u´©õÚ® 1,000
Bμ®£ \μUQ¸¨¦ 11,000 ©ØÓ ö\»ÄPÒ 2,000

 Á› Âv¨¦ 7,000

 }[PÒ PnUQh ÷Ásk®  

 (A) ö©õzu »õ£ ÂQu®, 

 (B) C¯UP »õ£ ÂQu®, 

 (C) C¯UP ÂQu®, 

 (D) {Pμ »õ£ ÂQu®. 
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18. M Ltd. sells two products A and B which are produced in 

its special products division. Sale for the year 2009 was 

planned as follows :  

Particulars 1st 

Quarter 

2nd 

Quarter 

3rd 

Quarter 

4th 

Quarter 

Product A 10,000 12,000 13,000 15,000 

Product B 5,000 4,500 4,000 3,800 

 The selling prices were Rs. 20 per units and Rs. 50 per 

units respectively for A and B. Average sales returns are 

5% of sales and the discount and bad debts amount to 4% 

of the total sales. Prepare sales budget for the year 2009. 

 M Ltd. Auß ]Ó¨¦¨ ö£õ¸mPÒ ¤›ÂÀ EØ£zv 

ö\´¯¨£k® u¯õ›¨¦PÒ A ©ØÖ® B ÂØ£øÚ ö\´QÓx. 

2009 B® BsiØPõÚ ÂØ£øÚ ¤ßÁ¸©õÖ 

vmhªh¨£mhx : 

ÂÁμ[PÒ 1Áx
 Põ»õsk 2Áx

 Põ»õsk 3Áx
 Põ»õsk 4Áx

 Põ»õsk

u¯õ›¨¦ A 10,000 12,000 13,000 15,000 

u¯õ›¨¦ B 5,000 4,500 4,000 3,800 

 ÂØ£øÚ Âø» ¹. 20 ³Ûm ©ØÖ® ¹. A ©ØÖ® B US 

•øÓ÷¯ ³ÛmkUS 50. \μõ\› ÂØ£øÚ Á¸©õÚ® 

ÂØ£øÚ°À 5% ©ØÖ® ö©õzu ÂØ£øÚ°À 4% uÒÐ£i 

©ØÖ® ÷©õ\©õÚ PhßPÒ. 2009 B® BsiØPõÚ 

ÂØ£øÚ ÁμÄ ö\»Äz vmhzøuz u¯õ›UPÄ®. 
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19. From the following Balance Sheets as on 31.12.1993 and 
31.12.1992, prepare a Cash Flow Statement : 

Balance Sheet  

Liabilities 1993 
Rs. 

1992 
Rs. 

Assets 1993 
Rs. 

1992 
Rs. 

Share capital 1,50,000 1,00,000 Fixed assets 1,50,000 1,00,000

Profit & Loss a/c 80,000 50,000 Goodwill 40,000 50,000

General reserve 40,000 30,000 Stock 80,000 30,000

6% Debentures 60,000 50,000 Debtors 80,000 50,000

Creditors 40,000 30,000 Bills 
receivable 

20,000 30,000

Outstanding 
expenses 

15,000 10,000 Bank 15,000 10,000

 3,85,000 2,70,000  3,85,000 2,70,000

 31.12.1993 ©ØÖ® 31.12.1992 Bsiß C¸¨¦ {ø»U 
SÔ¨¦PÐUS öμõUP {v Kmh AÔUøP°øÚz u¯õ›UP. 

C¸¨¦ uõÒ 

ö£õÖ¨¦PÒ 1993 
¹. 

1992 
¹. 

ö\õzxUPÒ 1993 
¹. 

1992 
¹. 

£[S ‰»uÚ® 1,50,000 1,00,000 {ø»¯õÚ 
ö\õzxUPÒ 

1,50,000 1,00,000

»õ£® ©ØÖ® 

CÇ¨¦ a/c 
80,000 50,000 |Àö»sn® 40,000 50,000

ö£õx C¸¨¦ 40,000 30,000 \μUS 80,000 30,000

6% Phß 
£zvμ[PÒ 

60,000 50,000 PhÚõÎPÒ 80,000 50,000

Phß 
öPõkzuÁºPÒ 

40,000 30,000 ö£ÓzuUP 
¤ÀPÒ 

20,000 30,000

{¾øÁ°À EÒÍ 
ö\»ÄPÒ 

15,000 10,000 Á[Q 15,000 10,000

 3,85,000 2,70,000  3,85,000 2,70,000
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20. From the following information, calculate  

 (a) Break-even point 

 (b) Number of units that must be sold to earn a profits 
of Rs. 60,000 per year. 

 (c) Number of units that must be sold to earn a net 
income of 10% on sales. 

  Sales price  – Rs. 20 per unit. 

  Variable cost – Rs. 14 per unit. 

  Fixed cost  – Rs. 79,200. 

 ¤ßÁ¸® uPÁ¼¼¸¢x, PnUQk[PÒ  

 (A) ¤÷μU&DÁß ¦ÒÎ 

 (B) BskUS ¹. 60,000 »õ£zøu¨ ö£Ó ÂØP ÷Ási¯ 
³ÛmPÎß GsoUøP. 

 (C) ÂØ£øÚ°À 10% {Pμ Á¸©õÚ® ö£Ó ÂØP 
÷Ási¯ ³ÛmPÎß GsoUøP.  

  ÂØ£øÚ Âø»  –  ¹. 20 ³ÛmkUS.  

  ©õÔ ö\»Ä  –  ¹. 14 ³ÛmkUS.  

  {ø»¯õÚ ö\»Ä  –  ¹. 79,200.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define an offer. 

 J¸ öPõk ö\õÀø» Áøμ¯ÖUPÄ®. 

2. What is Quasi contract? 

 SÁõ] J¨£¢u® GßÓõÀ GßÚ? 

3. Give the means of Coercion. 

 ÁØ¦Özu¾UPõÚ ÁÈ•øÓPøÍU öPõk[PÒ. 

4. What is contingent contract? 

 uØö\¯À J¨£¢u® GßÓõÀ GßÚ? 

5. Define Contract of guarantee. 

 EzuμÁõu J¨£¢uzøu Áøμ¯ÖUPÄ®. 

6. What is ‘Mistake’? 

 ‘uÁÖ’ GßÓõÀ GßÚ? 
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7. Define Pledge. 

 EÖvö©õÈø¯ Áøμ¯ÖUPÄ®. 

8. Briefly explain “An Invitation to offer”. 

 “ÁÇ[SÁuØPõÚ AøÇ¨¦” Gß£øu _¸UP©õP 
ÂÍUS[PÒ. 

9. What is specific goods? 

 SÔ¨¤mh ö£õ¸mPÒ GßÓõÀ GßÚ? 

10. Who is an Unpaid seller? 

 £n® ö\¾zu¨£hõu ÂØ£øÚ¯õÍº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Write a short note on Indian Contract Act. 

  C¢v¯ J¨£¢ua \mh® £ØÔ J¸ ]Ö SÔ¨¦ 
GÊx[PÒ. 

Or 

 (b) Who is competent to contract? 

  J¨£¢u® ö\´¯ ¯õº uSv¯õÚÁº? 

12. (a) Mention the characteristics Contingent contract. 

  uØö\¯À J¨£¢uzvß ]Ó¨¤¯À¦PøÍU 
SÔ¨¤hÄ®. 

Or 

 (b) Demonstrate the remedies available to an aggrieved 
party on the breach of contract. 

  J¨£¢u «ÓÀ öuõhº£õP £õvUP¨£mh uμ¨¤Ú¸USU 
QøhUS® wºÄPøÍ ÂÍUPÄ®. 
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13. (a) When is the Revocation of continuing guarantee 
takes place? 

  öuõhº EzuμÁõuzøu μzx ö\´Áx G¨÷£õx 
|øhö£Ö®? 

Or 

 (b) What is continuing guarantee? When and how is it 
revoked? 

  öuõhº EzuμÁõu® GßÓõÀ GßÚ? Ax G¨÷£õx, 
G¨£i μzx ö\´¯¨£kQÓx? 

14. (a) State the classification of agents under Contract 
Act. 

  J¨£¢ua \mhzvß RÌ •PÁºPÎß ÁøP¨£õmøhU 
TÖP. 

Or 

 (b) Describe the rights and duties of Pawnee. 

  £ÆÛ°ß E›ø©PÒ ©ØÖ® Phø©PøÍ ÂÁ›UPÄ®. 

15.  (a) Brief the Classification of Goods as per Contract 
Act. 

  J¨£¢ua \mhzvß £i ö£õ¸mPÎß ÁøP¨£õmøh 
_¸UP©õPU TÖ[PÒ. 

Or 

 (b) Explain the essential elements of a contract of sale. 

  ÂØ£øÚ J¨£¢uzvß Azv¯õÁ]¯ TÖPøÍ 
ÂÍUS[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. List down the Persons disqualified by law. 

 \mhzuõÀ uSv }UP® ö\´¯¨£mh |£ºPøÍ¨ 
£mi¯¼k[PÒ. 
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17. Point out the various modes of discharge of contracts. 

 J¨£¢uzøu {øÓ÷ÁØÖÁuØPõÚ £À÷ÁÖ •øÓPøÍU 
SÔ¨¤kP. 

18. Compare contract of indemnity and contract of guarantee. 

 CÇ¨¥mk J¨£¢uzøu²® EzuμÁõu J¨£¢uzøu²® 
J¨¤kP. 

19. Brief the essentials of bailment. 

 ¤øn Gk¨¤ß Azv¯õÁ]¯[PøÍ _¸UP©õPU TÖ[PÒ. 

20. Mention the differences between sales and hire purchase 
agreement. 

 ÂØ£øÚ J¨£¢uzvØS® ÁõhøP öPõÒ•uÀ 
J¨£¢uzvØS® EÒÍ ÷ÁÖ£õkPøÍU SÔ¨¤kP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is ‘Financial Services’? 

 ‘{v ÷\øÁPÒ’ GßÓõÀ GßÚ? 

2. What is ‘Financial Services Environment’? 

 ‘{v ÷\øÁPÒ `ÇÀ’ GßÓõÀ GßÚ? 

3. How are mutual funds classified? 

 £μì£μ {vPÒ GÆÁõÖ ÁøP¨£kzu¨£kQßÓÚ? 

4. What do you mean by equilibrium in financial markets? 

 {va \¢øuPÎÀ \©{ø» GßÓõÀ GßÚ? 

5. What do you mean by depository market? 

 öh£õ]mh› \¢øu GßÓõÀ GßÚ? 

6. Distinguish between bond yield and bond price. 

 £zvμ ©P`À ©ØÖ® £zvμ Âø»ø¯ ÷ÁÖ£kzx[PÒ. 
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7. Who are satellite dealers? 

 ö\¯ØøPU÷PõÒ ÂØ£øn¯õÍºPÒ ¯õº? 

8. State the objectives of SEBI. 

 SEBI &°ß ÷|õUP[PøÍU TÖP. 

9. Define the Term ‘Merchant Banking’. 

 ‘ÁoP Á[Q’ GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

10. What does ‘Public Issue Management’ mean? 

 ‘ÁoP Á[Q’ GßÓ öõ\Àø» Áøμ¯ÖUPÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Identify the problems faced by the financial services 
market in India. 

  C¢v¯õÂÀ {va ÷\øÁ \¢øu GvºöPõÒÐ® 
]UPÀPøÍ Aøh¯õÍ® PõnÄ®. 

Or 

 (b) Discuss the players of financial markets. 

  {va \¢øuPÎß £[SuõºPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

12. (a) Explain the credit evaluation methods. 

  Phß ©v¨¥mk •øÓPøÍ ÂÍUS[PÒ. 

Or 

 (b) Explain the features of futures contract. 

  GvºPõ» J¨£¢uzvß A®\[PøÍ ÂÍUS[PÒ. 
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13. (a) Explain the history and recent developments in the 
Indian Mutual fund industry. 

  C¢v¯õ £μì£μ {vz xøÓ°ß Áμ»õÖ ©ØÖ® 
\«£zv¯ •ß÷ÚØÓ[PøÍ ÂÍUS[PÒ. 

Or 

 (b) Define Credit Rating. State the advantages and 
disadvantages of credit rating. 

  Phß ©v¨¥møh Áøμ¯ÖUPÄ®. Phß ©v¨¥miß 
|ßø©PÒ ©ØÖ® wø©PøÍU SÔ¨¤hÄ®. 

14. (a) What is factoring? State its advantages. 

  Põμo¯õUP® GßÓõÀ GßÚ? Auß |ßø©PøÍU 
TÖ[PÒ. 

Or 

 (b) What are the objectives of venture capital funds? 

  xoPμ ‰»uÚ {vPÎß ÷|õUP[PÒ GßÚ? 

15. (a) Describe the services rendered by the NIM. 

  NIM ÁÇ[S ÷\øÁPøÍ ÂÁ›UPÄ®. 

Or 

 (b) How is the rights issue different from the bonus 
issue? 

  E›ø© öÁÎ±k ÷£õÚì öÁÎ±mi¼¸¢x GÆÁõÖ 
÷ÁÖ£kQÓx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the forces that influence the dynamics of a 
financial services sector of a country. 

 J¸ |õmiß {va ÷\øÁPÒ xøÓ°ß C¯UPÂ¯ø» 
£õvUS® \UvPøÍ ÂÁ›UPÄ®. 
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17. What are the challenges faced by commercial banks in 
India? 

 C¢v¯õÂÀ ÁoP Á[QPÒ GvºöPõÒÐ® \ÁõÀPÒ 
GßÚ? 

18. Explain the role of bank rate policy as a tool of regulating 
money circulation in the economy. 

 ö£õ¸ÍõuõμzvÀ £n¨£ÇUPzøu 
JÊ[S£kÁzxÁuØPõÚ J¸ P¸Â¯õP Á[Q ÂQua 
öPõÒøP°ß £[øP ÂÍUS[PÒ. 

19. Explain the different stages of venture capital. 

 xoPμ ‰»uÚzvß £À÷ÁÖ {ø»PøÍ ÂÍUSP. 

20. Discuss in detail the various functions performed by 
merchant banker in India. 

 C¢v¯õÂÀ ÁoP Á[Q¯õÍºPÍõÀ ö\´¯¨£k® £À÷ÁÖ 
ö\¯À£õkPøÍ Â›ÁõP ÂÁõvUPÄ®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 

Sixth Semester 

Commerce with Corporate Secretaryship 

Elective — HUMAN RESOURCE MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Human Resource Management? 
 ©Ûu ÁÍ ÷©»õsø© GßÓõÀ GßÚ? 

2. What is the basic objective of Human Resource 
Management? 

 ©Ûu ÁÍ ÷©»õsø©°ß Ai¨£øh ÷|õUP® GßÚ? 

3. What is Job Analysis? 
 ÷Áø» £S¨£õ´Ä GßÓõÀ GßÚ? 

4. What is Job Specification? 
 ÷Áø» ÂÁμUSÔ¨¦ GßÓõÀ GßÚ? 

5. Bring out any two differences between recruitment and 
selection. 

 Bm÷\º¨¦US® ÷uºÄUS® Cøh°»õÚ H÷uÝ® Cμsk 
÷ÁÖ£õkPøÍ öÁÎ÷¯ öPõsk Áõ¸[PÒ. 

6. What is Gate Hiring? 
 ÷Pm £o¯©ºzuÀ GßÓõÀ GßÚ? 
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7. Bring out the differences between training and 
development. 

 £°Ø]US® ÷©®£õmiØS® EÒÍ ÷ÁÖ£õkPøÍ 
öÁÎ¨£kzx[PÒ. 

8. What is Job Rotation? 

 £o _ÇØ] GßÓõÀ GßÚ? 

9. What is Performance Appraisal? 

 ö\¯ÀvÓß ©v¨¥k GßÓõÀ GßÚ? 

10. What is meant by grievance? 

 ©ÚUSøÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the objectives of Strategic HRM. 

  ‰÷»õ£õ¯ HRM Cß ÷|õUP[PøÍU TÖP. 

Or 

 (b) Detail the importance of Human Resource 
Management. 

  ©Ûu ÁÍ ÷©»õsø©°ß •UQ¯zxÁzøu 
Â›ÁõPU TÖP. 

12. (a) Explain the various external sources of recruitment. 

  Bm÷\º¨¤ß £À÷ÁÖ ÁøP¯õÚ öÁÎ¨¦Ó 
Áõ´¨¦PøÍ ÂÁ›. 

Or 

 (b) Define HR planning. What are the steps in HR 
planning? 

  ©ÛuÁÍ vmhªhø» Áøμ¯ÖUPÄ®. ©ÛuÁÍ 
vmhªh¼À EÒÍ £iPÒ GßÚ? 
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13. (a) List out the benefits of training. 

  £°Ø]°ß |ßø©PøÍ¨ £mi¯¼k[PÒ. 

Or 

 (b) Explain the process of performance Appraisal. 

  ö\¯ÀvÓß ©v¨¥mk ö\¯À•øÓø¯ ÂÍUS[PÒ. 

14. (a) What are the factor concerning wage and salary 
administration? 

  Fv¯® ©ØÖ® \®£Í {ºÁõP® öuõhº£õÚ PõμoPÒ 
¯õøÁ? 

Or 

 (b) Detail the different types of Compensation. 

  Fv¯® ©ØÖ® \®£Í {ºÁõP® öuõhº£õÚ PõμoPÒ 
¯õøÁ? 

15. (a) State the importance of collective bargaining. 

  Tmk ÷£μzvß •UQ¯zxÁzøu TÖP. 

Or 

 (b) Comment on the role of Trade Unions. 

  öuõÈØ\[P[PÎß £[S £ØÔ¯ P¸zx. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the Environmental HRM factors. 

 _ØÖa`ÇÀ HRM PõμoPøÍ ÂÍUS[PÒ. 

17. Describe the different types of tests used during selection. 

 ÷uºÂß ÷£õx £¯ß£kzu¨£k® £À÷ÁÖ ÁøP¯õÚ 
÷\õuøÚPøÍ ÂÁ›UPÄ®. 
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18. Explain the traditional methods of performance 
appraisal. 

 ö\¯ÀvÓß ©v¨¥miß £õμ®£›¯ •øÓPøÍ ÂÍUS[PÒ. 

19. Explain the components of executive compensation. 

 {ºÁõP CÇ¨¥miß TÖPøÍ ÂÍUS[PÒ. 

20. Discuss in detail about the grievance redressal procedure. 

 SøÓ wºUS® |øh•øÓ £ØÔ Â›ÁõP ÂÁõvUPÄ®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 
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PRINCIPLES OF MANAGEMENT  

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is scientific management? 

 AÔÂ¯À ÷©»õsø© GßÓõÀ GßÚ? 

2. What are the essential skills of a Manager? 

 ÷©»õÍ¸US C¸UP ÷Ási¯ Azv¯õÁ]¯ vÓßPÒ 
¯õøÁ? 

3. What is meant by policies? 

 öPõÒøPPÒ GßÓõÀ GßÚ? 

4. Define MBO. 

 SÔU÷PõÒ ‰»® {ºÁõP® Áøμ¯ÖUPÄ®. 

5. What is Organization Structure? 

 {ºÁõPU Pmhø©¨¦ GßÓõÀ GßÚ? 

6. What is centralization? 

 ø©¯¨£kzuÀ GßÓõÀ GßÚ? 

Sub. Code 
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7. What do you understand by motivation? 

 ö\¯¿UP® ‰»® }[PÒ GßÚ ¦›¢xöPõÒQÕºPÒ? 

8. Mention the various types of leadership studies.  

 £À÷ÁÖ ÁøP¯õÚ uø»ø©zxÁ B´ÄPøÍU SÔ¨¤kP. 

9. What is management audit? 

 ÷©»õsø© uoUøP Gß£x ¯õx? 

10. What are the limitations of budgeting? 

 ÁμÄ ö\»Ä vmhzvß SøÓ£õkPÒ ¯õx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State any five characteristics of management. 

  {ºÁõPzvß H÷uÝ® I¢x £s¦PøÍU SÔ¨¤kP. 

Or 

 (b) What are the different levels of management? 

  {ºÁõPzvß öÁÆ÷ÁÖ {ø»PÒ ¯õøÁ? 

12. (a) Define planning. What are the objectives of 
planning? 

  vmhªhø» Áøμ¯ÖUPÄ®. vmhªh¼ß 
÷|õUP[PøÍ TÖP.  

Or 

 (b) Describe the benefits and weakness of Management 
by Objectives. 

  SÔU÷PõÒPÒ ‰»® {ºÁõPzvß |ßø©PÒ ©ØÖ® 
£»ÃÚ[PøÍ ÂÁ›UPÄ®. 



S–7405 

  

  3

13. (a) What are the elements of delegation? 

  AvPõμ¨ £QºÂß TÖPÒ ¯õøÁ? 

Or 

 (b) Distinguish between formal and informal 
organization. 

  •øÓ¯õÚ ©ØÖ® •øÓ\õμõ {ÖÁÚzøu 
÷ÁÖ£kzxP. 

14. (a) What are the advantages of democratic leadership? 

  áÚ|õ¯P uø»ø©°ß |ßø©PøÍ TÖP. 

Or 

 (b) State the types of Motivation. 

  ö\¯¿UPzvß ÁøPPøÍU TÖP. 

15.  (a) Discuss the principles of Budgetary Control. 

  ÁμÄ–ö\»Ä vmh Pmk¨£õmiß öPõÒøPPøÍ¨ 
£ØÔ ÂÁõvUP. 

Or 

 (b) Bring out the importance of social responsibility of 
business organisations. 

  ÁoP {ÖÁÚ[PÎß \‰P¨ ö£õÖ¨¤ß 
•UQ¯zxÁzøuU öPõnºP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the functions of management. 

 ÷©»õsø©°ß £oPøÍ ÂÁ›UP. 

17. What are the steps involved in strategic planning? 

 ²UvPøÍz vmhªku¼À EÒÍ £i{ø»PÒ ¯õøÁ? 
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18. Explain the nature and purpose of organization? 

 {ÖÁÚ Aø©¨¤ß C¯À¦ ©ØÖ® ÷|õUPzøu ÂÍUSP. 

19. Define leadership. Discuss the types of leadership styles. 

 uø»ø©zxÁzøu Áøμ¯ÖUPÄ®. uø»ø©zxÁ £õo°ß 
ÁøPPøÍ¨ £ØÔ ÂÁõvUP. 

20. Define business ethics and explain its advantages and 
disadvantages to the business. 

 ÁoP ö|Ô•øÓPøÍ Áøμ¯Özx, ÁoPzvØS AøÁ 
AÎUS® |ßø©PÒ ©ØÖ® wø©PøÍ ÂÁ›UP. 

 
 

———————— 
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FINANCIAL ACCOUNTING – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the objectives of accounting? 

 PnUQ¯¼ß ÷|õUP[PÒ ¯õøÁ? 

2. Name any two bases of recording accounting information. 

 PnUQ¯À uPÁÀPøÍ £vÄ ö\´²® Ai¨£øhPÎß 

ö£¯ºPÒ GøÁ÷¯Ý® CμsiøÚz u¸P. 

3. Give the Golden rules of double entry accounting system. 

 Cμmøh¨ £vÄ PnUQ¯À •øÓ°ß ö£õßÚõÚ ÂvPøÍ 

u¸P. 

4. What is normal loss? 

 \õuõμn |mh® Gß£x ¯õx? 

5. Give a list of current assets. 

 |h¨¦a ö\õzxUPøÍ £mi¯¼kP. 
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6. What is consignment account? 

 \μUSU PnUS Gß£x ¯õx? 

7. What are compensating errors? 

 Dkö\´ ¤øÇPÒ GßÓõÀ GßÚ? 

8. Write a note on suspense account. 

 AÚõ©zx PnUS – ]Ö SÔ¨¦ u¸P. 

9. What do you mean by bill of exchange? 

 ©õØÖa ^mk Gß£uß ö£õ¸Ò ¯õx? 

10. Define Noting Charges. 

 SÔ¨¥mkU Pmhn[PÒ – Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) The following transactions occurred during  

March 2017. Prepare the Journal entries. 

  2 Purchase of furniture Rs.12,000 

  5 Spent Rs.5,000 for general expenses 

  10 Received cash from Shankar Rs.14,000 

  15 Purchases goods worth Rs.25,600 from Arun 

  20 Sold goods for Rs.18,600 for cash 

  22 Paid cash to Arun Rs.12,600 on account 

  25  Purchased goods from Asha Rs.15,525 
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  ©õºa 2017 ® ©õuzvØPõÚ ÂÁμ[PÒ RÌ Á¸ÁÚ, 

SÔ¨÷£mk £vÄPÒ u¸P. 

  2 AøÓP»ß Áõ[Q¯x ¹.12,000 

  5 ö£õxö\»ÄUS ö\»Âmhx ¹.5,000 

  10 \[Pº Gß£Á›h® ö£ØÓ öμõUP® ¹.14,000 

  15 A¸s Gß£Á›h® \μUS öPõÒ•uÀ ö\´ux 

¹. 25,600 

  20 öμõUPzvØS \μUS ÂØÓx ¹.18,600 

  22 A¸qUS öμõUP® ö\¾zv¯x ¹.12,600 

  25  BåõÂh® \μUS öPõÒ•uÀ ö\´ux ¹.15,525 

Or 

 (b) How are accounting principles are classified? 

  PnUQ¯À öPõÒøPPÒ GÆÁõÖ 

ÁøP¨£kzu¨£kQÓx? 

12. (a) Rectify the following Errors 

  (i) Credit sales to Mohan Rs.7,000 were recorded 

as Rs.7,200. 

  (ii) Credit purchases from Rohan Rs.9,000 were 

recorded as Rs.9,900. 

  (iii) Goods returned to Rakesh Rs.4,000 were 

recorded as Rs.4,040. 

  (iv) Goods returned from Mahesh Rs.1,000 were 

recorded as Rs.1,600. 
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  ¤ßÁ¸® ¤øÇPøÍ \›ö\´¯Ä®: 

  (i) ÷©õPÝUS ¹.7,000 Phß ÂØ£øÚ ¹.7,200 

BP £vÄ ö\´¯¨£mhx. 

  (ii) ÷μõíÛhª¸¢x ¹.9,000 Phß Áõ[Q¯x 

¹.9,900 BP £vÄ ö\´¯¨£mhx. 

  (iii) μõ÷PåýUS ¹.4,000 v¸®¤¯ ö£õ¸mPÒ 

¹.4,040 GÚ¨ £vÄ ö\´¯¨£mhx. 

  (iv) ©÷Pæh® C¸¢x ¹.1,000 v¸®¤¯ ö£õ¸mPÒ 

¹.1,600 GÚ £vÄ ö\´¯¨£mkÒÍx. 

Or 

 (b) From the following information, prepare profit and 

loss account for the earned 31st March 2018: 

Particulars Rs. Particulars Rs.

Gross profit b/d 1,50,000 Advertisement expenses 3,800

Carriage outward 25,500 Bad debts 8,500

Office rent 7,000 Dividend received 9,000

Office stationery 3,500 Discount received 4,600

Distribution expenses 2,000 Rent received 7,000

  RÌUPõq® uPÁÀPÎ¼¸¢x 2018 ©õºa 31B® 

|õ÷Íõk •iÁøh²® BsiØS›¯ C»õ£ |mhU 

PnUS u¯õ›UPÄ®. 

ÂÁμ® ¹. ÂÁμ® ¹.

ö©õzu C»õ£ 1,50,000 ÂÍ®£μaö\»ÄPÒ 3,800

öÁÎzyUSU T¼ 25,500 ÁμõUPhß 8,500



S–7406 

  

  5

A¾Á»P ÁõhøP 7,000 £[Põuõ¯® ö£ØÓx 9,000

A¾Á»P GÊxö£õ¸Ò 3,500 ö£ØÓ uÒÐ£i 4,600

ÁÇ[PÀ ö\»ÄPÒ 2,000 ö£ØÓ ÁõhøP 7,000

13. (a) Explain briefly the procedure of calculating the date 

of maturity of a bill of exchange. Give an example. 

  £›ÁºzuøÚ ©÷\õuõ •vºÄz ÷uvø¯U PnUQk® 

ö\¯À•øÓø¯ _¸UP©õP ÂÍUS. Euõμn® u¸P. 

Or 

 (b) P draws on Q three bills of exchange for  

Rs.15,000. Rs.12,000 and Rs.9,000 respectively for 

goods sold to him on 1st February, 2013. These bills 

were for a month, 2 months and 3 months, 

respectively. The first bill was endorsed to his 

creditor R. The second bill was discounted with his 

bank on 4th February 2013 a 12% per annum 

discount and the third bill was sent to his bank for 

collection on 30th April. On the due dates,  

all the bills were duly met by Q. The bank sent the 

collection advice for the third bill after deducting  

Rs.75 as collection charges. Pass the journal entries 

in the books of P and Q. 

  ¤¨μÁ› 1, 2013 AßÖ P Gß£Áº Q «x ‰ßÖ 

©õØÖa ^mkPÒ ¹.15,000 ¹.20,000 ©ØÖ® 

¹.9,000US AÁ¸US ÂØUP¨£mh ö£õ¸mPÐUS 

GkzxÒÍõº. C¢u ¤ÀPÒ •øÓ÷¯ J¸ ©õu®  
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2 ©õu[PÒ ©ØÖ® 3 ©õu[PÒ BS®, •uÀ ¤À 

AÁμx PhÚõÎ R US J¨¦uÀ AÎUP¨£mhx 

CμshõÁx ¤À 4 ¤¨μÁ› 2013 AßÖ AÁμx 

Á[Q°À uÒÐ£i ö\´¯¨£mhx BskUS  

12% uÒÐ£i Ãu® ©ØÖ® ‰ßÓõÁx ¤À H¨μÀ 30 

AßÖ Á`¼UP AÁμx Á[QUS AÝ¨£¨£mhx. 

{¾øÁz ÷uvPÎÀ, AøÚzx ¤ÀPÐ® •øÓ¯õP 

QÁõÀ ö\¾zu¨£mhÚ. Á[Q ‰ßÓõÁx ¤À¼ß «x 

¹.75 Á`À Pmhn® PÈzxU öPõsk ö\¾zv¯x.  

P ©ØÖ® Q ¦zuP[PÎÀ SÔ¨÷£mk¨ £vÄPøÍ 

Põs¤UP. 

14. (a) Explain the Conversion of Receipt and Payment 

Account into Income and Expenditure Account. 

  ÁμÄ ©ØÖ® ö\¾zuÀ PnUSPøÍ Á¸©õÚ® ©ØÖ® 

ö\»ÄU PnUSPÍõP ©õØÖ® •øÓ°øÚ 

ÂÁ›UPÄ®. 

Or 

 (b) From the following particulars, find out the amount 

of rent need to be shown in income and expenditure 

account 

Particulars Amount (Rs.)

Outstanding Rent at the beginning of the year  

(as on 01-04-2013) 

6,000

Amount as shown in the receipt and payment account 26,000

Outstanding Rent at the end of the year (31-03-14) 4,000
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, Á¸©õÚ® ©ØÖ® 

ö\»ÄU PnUQÀ Põmh¨£h ÷Ási¯ ÁõhøPz 

öuõøPø¯U PshÔ. 

ÂÁμ[PÒ öuõøP (¹.)

Bsiß öuõhUPzvÀ {¾øÁ°À EÒÍ ÁõhøP  

(01-04-2013 Áøμ) 
6,000

μ^x ©ØÖ® PmhnU PnUQÀ Põmh¨£mkÒÍ öuõøP 26,000

Bsiß CÖv°À {¾øÁ°À EÒÍ ÁõhøP (31-03-14) 4,000

15. (a) What is memorandum joint venture account?  

How is it prepared? 

  SÔ¨£õøn Tmk •¯Ø] PnUS GßÓõÀ GßÚ? 

AuøÚ GÆÁõÖ u¯õ›¨£x? 

Or 

 (b) From the following information, ascertain the value 

of stock as on 31st March, 2012. 

 Rs.

Stock as on 01-04-2011 28,500

Purchases 1,52,500

Manufacturing Expenses 30,000

Selling Expenses 12,100

Administration Expenses 6,000

Financial Expenses 4,300

Sales 2,49,000
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  As the time of valuing stock as on 31st March, 2011, 

a sum of Rs.3,500 was written off on a particular 

item, which was originally purchased for Rs.10,000 

and was sold during the year for Rs.9,000. Barring 

the transaction relating to this item, the gross profit 

earned during the year was 20% on sales. 

   ¤ßÁ¸® uPÁ¼¼¸¢x 31 ©õºa, 2012 {»Áμ¨£i 

£[S ©v¨ø£U PshÔ¯Ä®: 

 ¹.

01-04-2011 AßÖ C¸¨¦ 28,500

öPõÒ•uÀ 1,52,500

EØ£zv ö\»ÄPÒ 30,000

ÂØ£øÚ ö\»ÄPÒ 12,100

{ºÁõP ö\»ÄPÒ 6,000

{va ö\»ÄPÒ 4,300

ÂØ£øÚ 2,49,000

  ©õºa 31, 2011 {»Áμ¨£i, £[S ©v¨¥miß ÷£õx, 

J¸ SÔ¨¤mh ö£õ¸Îß «x ¹.3,500 uÒÐ£i 

ö\´¯¨£mhx, Ax •u¼À ¹.10,000 US 

Áõ[P¨£mhx ©ØÖ® BsiÀ ¹.9,000 US 

ÂØP¨£mhx. C¢u E¸¨£i öuõhº£õÚ 

£›ÁºzuøÚø¯z uÂμ BsiÀ Dmi¯ ö©õzu 

»õ£® ÂØ£øÚ°À 20% BS®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain any five Concepts of Accounting with examples. 

 PnUQ¯¼ß P¸zxøμPÒ H÷uÝ® I¢vøÚ 

GkzxUPõmkPÐhß ÂÁ›UPÄ®. 

17. Prepare final accounts of Mr. Mani for 2006. 

Particulars Debit Rs. Credit Rs.

Mr. Mani’s Capital 50,000

Stock on 1.4.2005 12,400

Cash on hand 3,400

Sundry debtors 18,200

Purchases 1,22,600

Sales 1,87,200

Returns outwards 3,600

Returns inwards 1,000

Freight 7,400

Carriage outwards 14,400

Salaries 21,000

Rent 12,000

Sundry creditors 8,000

Commission received 200

Drawings 12,600
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Furniture 21,600

Advertisement 2,400

 2,49,000 2,49,000

  Adjustments: 

  (a) Closing stock on 31.3.2006 Rs.15,600 

  (b) Outstanding salaries Rs.4,000 

  (c) Advertisement Rs.400 prepaid 

  (d) Depreciate furniture at 10% 

 v¸. ©o AÁºPÎß 2006&® BsiØPõÚ CÖvU 

PnUSPøÍz u¯õ›UP. 

ÂÁμ[PÒ £ØÖ ¹. ÁμÄ ¹.

v¸. ©o°ß •u½k 50,000

1.4.2005 AßøÓ¯ \μUQ¸¨¦ 12,400

öμõUPU øP°¸¨¦ 3,400

ö©õzu PhÚõÎPÒ 18,200

öPõÒ•uÀ 1,22,600

ÂØ£øÚ 1,87,200

öÁÎz v¸¨£® 3,600

EÒ v¸¨£® 1,000

ÁõPÚ ÁõhøP 7,400

\μUS öÁÎ÷¯ØÔ 14,400

\®£Í® 21,000
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ÁõhøP 12,000

ö©õzu PhÜ¢÷uõº 8,000

uμS ö£ØÓx 200

Gk¨¦PÒ 12,600

AøÓP»ß 21,600

ÂÍ®£μ® 2,400

 2,49,000 2,49,000

 \›PmkuÀPÒ : 

 (A) 31.3.2006 AßøÓ¯ \μUQ¸¨¦ ¹.15,600 

 (B) {¾øÁ°¾ÒÍ \®£Í® ¹.4,000 

 (C) ÂÍ®£μ® •ßTmi÷¯ ÁÇ[Q¯x ¹.400 

 (D) AøÓP»ß «uõÚ ÷u´©õÚ® 10%  

18. On 14th February, 2015, Rashmi sold goods worth 

Rs.7,500 to Alka. Alka paid Rs.500 in cash and for the 

balance accepted a bill of exchange drawn upon her by 

Rashmi payable after 2 months. On 10th April, 2015, Alka 

approached Rashmi to cancel the bill since she was short 

of funds. She further requested Rashmi to accept Rs.2,000 

in cash and draw a new bill for the balance including 

interest Rs.500. Rashmi accepted Alka’s request and drew 

a new bill for the amount due payable after 2 months. 

The new bill was duly met by Alka on maturity. 

 Record the necessary journal entries in the books of 

Rashmi and Alka and prepare Alka’s account in the books 

of Rashmi’s and Rashmi’s account in the books of Alka. 
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 ¤¨μÁ› 14, 2015 AßÖ μõèª AÀPõÄUS ¹.7,500 

©v¨¦ÒÍ ö£õ¸mPøÍ ÂØÓõº. BÀPõ ¹.500 

öμõUP©õPÄ® £õUQ öuõøPUS Cμsk ©õu® PÈzx 

ö\¾zx©õÖ J¸ ©õØÖa ^mk® μõèª ö£¯›À 

ÁÇ[QÚõº. H¨μÀ 10, 2015 AßÖ AÀPõ uÚx øP°¸¨¦ 

SøÓÁõP C¸¨£uõÀ μõèª°h® uõß ÁÇ[Q¯  

©õØÖa ^møh μzx ö\´¯U ÷Põ›Úõº. ÷©¾® ¹.2,000 

öμõUP©õPÄ® £õUQ £nzvØS ¦v¯ ©õØÖa ^mk 

JßÔøÚ ¹.500 Ámi²hß μõèª ö£¯›À ÁÇ[SÁuØS 

J¨¦uÀ ÷Põ›Úõº. μõèª AÀPõÂß ÷Põ›UøPø¯ 

J¨¦UöPõsk Cμsk ©õu® PÈzx £n® ö£Ö©õÖ EÒÍ 

¦v¯ ©õØÖa ^miøÚ HØÖU öPõshõº. •vºÄz 

÷uv¯ßÖ ¦v¯ ©õØÖa ^miøÚ AÀPõ ö\¾zvÚõº. 

 μõèª ©ØÖ® AÀPõÂß ¦zuP[PÎÀ SÔ¨÷£miøÚ 

£vÄ ö\´x, μõèª°ß ¦zuPzvÀ AÀPõÂß 

PnUQøÚ²®, AÀPõÂß ¦zuPzvÀ μõèª°ß 

PnUSPøÍ²® u¯õ›UP. 

19. Prepare the Income and Expenditure account for year 

ended 31.3.2019. 

Receipts Rs. Payments Rs.

1.4.2018 31.3.2019 

To Balance:  

 Cash 8,000 By Stationery 2,000

 Bank 12,000 By Rent 4,000

31.3.2019 By Sports Expense 3,000
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To Subscription: By Medical aids 3,000

2018-19  7,000 By Balance 

2019-20 1,000  Cash 7,000

2017-18 1,000 9,000  Bank 11,000

To sale of old furniture 1,000  

(Purchase price Rs.1,500)  

 30,000  30,000

 Adjustments: 

 Outstanding subscription – 2018-19 Rs.1,000. 

 Á¸Áõ´ ©ØÖ® ö\»ÂÚU PnUQøÚ 31.3.2019 •iÄÖ® 
BsiØS u¯õ›UP. 

ÁμÄPÒ ¹. ö\¾zuÀPÒ ¹.

1.4.2018 31.3.2019 

C¸¨¦PÒ:  

 öμõUP® 8,000 GÊxö£õ¸mPÒ 2,000

 Á[Q 12,000 ÁõhøP 4,000

31.3.2019 ÂøÍ¯õmk ö\»ÄPÒ 3,000

\¢uõUPÒ: ©¸zxÁ E£Pμn[PÒ 3,000

2018-19  7,000 C¸¨¦PÒ: 

2019-20 1,000  öμõUP® 7,000

2017-18 1,000 9,000  Á[Q 11,000

£øÇ¯ AøÓP»ß ÂØÓx 1,000  

(öPõÒ•uÀ Âø» ¹.1,500)  

 30,000  30,000

 DkPmkuÀPÒ: 

 2018-19 BsiØPõÚ {¾øÁ°À EÒÍ \¢uõ ¹.1,000. 



S–7406 

  

  14

20. On 19th May, 2012, the premises of Shri Garib Das were 

destroyed by fire, but sufficient records were saved, where 

from the following particulars were ascertained: 

Particulars Rs.

Stock at cost on 1.1.2011 36,750

Stock at cost on 31.12.2011 39,800

Purchases less returns during 2011 1,99,000

Sales less return during 2011 2,43,500

Purchases less returns during 1.1.2012 to 19.5.2012 81,000

Sales loss return during 1.1.2012 to 19.5.2012 1,15,600

 In valuing the stock for the balance sheet as at  

31st December, 2011, Rs.1,150 had been written off on 

certain stock which was a poor selling line having the cost 

Rs.3,450. A portion of these goods were sold in March, 

2012 at a loss of Rs.125 on original cost of Rs.1,725.  

The remainder of this stock was now estimated to be 

worth the original cost. Subject to the above exceptions, 

gross profit has remained at a uniform rate throughout. 

The stock salvaged was Rs.2,900. 

 Show the amount of the claim of stock destroyed by fire. 

Memorandum Trading Account to be prepared for the 

period from 1-1-2012 to 19-5-2012 for normal and 

abnormal items. 
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 ÷© 19, 2012 AßÖ, ÿ P›¨ uõêß ÁÍõP® w°À 

AÈUP¨£mhx. BÚõÀ ÷£õx©õÚ £vÄPÒ 

÷\ªUP¨£mhÚ, AvÀ C¸¢x ¤ßÁ¸® ÂÁμ[PÒ 

PshÔ¯¨£mhÚ: 

ÂÁμ[PÒ ¹.

1.1.2011 AßÖ Âø»°À C¸¨¦ 36,750

31.12.2011 AßÖ Âø»°À £[S 39,800

2011 CÀ Áõ[Q¯x SøÓ¢u Á¸©õÚ® 1,99,000

2011 CÀ ÂØ£øÚ SøÓ¢u Á¸©õÚ® 2,43,500

1.1.2012 •uÀ 19.5.2012 Áøμ Áõ[QÚõÀ SøÓ¢u Á¸©õÚ® 81,000

1.1.2012 •uÀ 19.5.2012 Áøμ ÂØ£øÚ SøÓ¢u Á¸©õÚ® 1,15,600

 i\®£º 31, 2011 {»Áμ¨£i C¸¨¦{ø»U SÔ¨¤ØPõÚ 

\μUQß ©v¨¥miÀ, ]» \μUSPÎß «x ¹.1,150 uÒÐ£i 

ö\´¯¨£mhx. A\À Âø» ¹.3,450 «x Cx J¸ 

÷©õ\©õÚ ÂØ£øÚ¯õS®. C¢u ö£õ¸mPÎß J¸ £Sv 

©õºa, 2012 CÀ A\À Âø» ¹.1,725 US £v»õP ¹,125 
|mhzvØS ÂØP¨£mhx. C¢u £[Qß «u •ÒÍøÁ  

A\À Âø»US ©v¨¦ÒÍuõP C¨÷£õx 

©v¨¤h¨£mkÒÍx. ÷©ØPsh ÂvÂ»USPÐUS 

Em£mk, ö©õzu »õ£® •ÊÁx® J÷μ ©õv›¯õÚ 

ÂQuzvÀ EÒÍx. Põ¨£õØÓ¨£mh \μUSPÎß ©v¨¦  

¹.2,900. 

 w°ÚõÀ AÈUP¨£mh £[SPÎß E›ø©÷Põμ¼ß 

AÍøÁU PnUQkP. 1-1-2012 •uÀ 19-5-2012 Áøμ°»õÚ 

Põ»UPmhzvÀ \õuõμn ©ØÖ® A\õuõμn©õÚ 

ö£õ¸mPÐUS ö©÷©õμõsh® i÷μi[ PnUS u¯õ›UP. 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2025 

Commerce with Corporate Secretaryship 

Allied – TOURISM MARKETING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Who is a tourist? 

 _ØÖ»õ¨ £¯o Gß£Áº ¯õº? 

2. Mention any two motives that drive tourists to travel. 

 _ØÖ»õ¨ £¯oPøÍ £¯oUP ysk® H÷uÝ® Cμsk 
÷|õUP[PøÍU SÔ¨¤hÄ®. 

3. What is the significance of tourism marketing? 

 _ØÖ»õ \¢øu°køP°ß ]Ó¨£®\® ¯õx? 

4. Explain the concept of the product life cycle in tourism. 

 _ØÖ»õÂÀ ö£õ¸Ò ÁõÌUøP _ÇØ]ø¯ ÂÍUSP. 

5. What are the reasons for product failure in the tourism 
industry? 

 _ØÖ»õzxøÓ°À ö£õ¸Ò ÷uõÀÂUPõÚ Põμn[PÒ 
GßÚ? 

6. Define package tour. 

 öuõS¨¦a _ØÖ»õ – Áøμ¯ÖUPÄ®. 

Sub. Code 
22BCSA1 
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7. What are the pricing objectives in tourism marketing? 

 _ØÖ»õ \¢øu¨£kzu¼À GßÚ Âø» C»USPÒ EÒÍÚ? 

8. Mention any two factors that influence tourism pricing 
strategy. 

 _ØÖ»õ Âø» {ºn¯ Ezvø¯ £õvUS® H÷uÝ® Cμsk 
PõμoPøÍU SÔ¨¤hÄ®. 

9. Explain the role of travel agents as middlemen in the 
tourism industry. 

 _ØÖ»õz xøÓ°À CøhzuμºPÍõP £¯n •PÁºPÎß 
£[øP ÂÍUSP. 

10. Describe the key tools used in tourism promotions 
strategy. 

 _ØÖ»õ FUSÂ¨¦ Ezv°À £¯ß£kzu¨£k® •UQ¯ 
P¸ÂPøÍ ÂÁ›UPÄ®. 

 Part B  (5 × 5 = 25) 
Answer all questions, choosing either (a) or (b) 

11. (a) Discuss the effects of tourism on the environment 
and local communities. 

  _ØÖa`ÇÀ ©ØÖ® EÒÑº \‰P[PÎÀ _ØÖ»õÂß 
ÂøÍÄPÒ £ØÔ ÂÁõvUPÄ®. 

Or 
 (b) Elaborate on the typology of tourism and  

its relevance in the modern tourism industry. 

  _ØÖ»õÂß ÁøPø© ©ØÖ® |ÃÚ _ØÖ»õz xøÓ°À 
Auß ö£õ¸zu® £ØÔ Â›ÁõPU TÖÄ®. 

12. (a) Explain the formulation of tourism product mix and 
its significance. 

  _ØÖ»õ ö£õ¸m P»øÁ°ß E¸ÁõUP® ©ØÖ® Auß 
•UQ¯zxÁzøu ÂÍUPÄ®. 

Or 
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 (b) Analyze the role of package tours in promoting 
tourism destinations. 

  _ØÖ»õu»[PøÍ ÷©®£kzxÁvÀ öuõS¨¦a 
_ØÖ»õÂß £[øP £S¨£õ´Ä ö\´P. 

13. (a) Discuss the various pricing policies used in tourism 
marketing. 

  _ØÖ»õ \¢øu¨£kzu¼À £¯ß£kzu¨£k® £À÷ÁÖ 
Âø»U öPõÒøPPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Describe the influencing factors that affect tourism 
pricing decisions. 

  _ØÖ»õ Âø» •iÄPÎÀ uõUPzøu HØ£kzx® 
PõμoPøÍ ÂÁ›UPÄ®. 

14. (a) Explain the distribution policy and channel 
decisions in the tourism industry. 

  _ØÖ»õzxøÓ°À Â{÷¯õPU öPõÒøP ©ØÖ® ÷\ÚÀ 
•iÄPøÍ ÂÍUPÄ®. 

Or 

 (b) Describe the functions and organizational structure 
of travel agencies. 

  £¯n •Pø©PÎß ö\¯À£õkPÒ ©ØÖ® {ÖÁÚ 
Pmhø©¨ø£ ÂÁ›UPÄ®. 

15.  (a) Discuss the role of personal selling in tourism 
promotions. 

  _ØÖ»õ FUSÂ¨¦PÎÀ ÷|º•P ÂØ£øÚ°ß 
£[øP¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Describe the process of testing advertising 
effectiveness in the tourism sector. 

  _ØÖ»õzxøÓ°À ÂÍ®£μ ö\¯ÀvÓøÚ ÷\õvUS® 
ö\¯À•øÓø¯ ÂÁ›UPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the typology of tourism and its effects on tourist 
behavior and destinations. 

 _ØÖ»õÂß ÁøP¨£õmøh ÂÍUSP. _ØÖ»õ £¯oPÎß 
|hzøu ©ØÖ® _ØÖ»õ «uõÚ _ØÖ»õ ÁøP¨£õmiß 
uõUPzøu ÂÍUSP. 

17. Analyse the role of product life cycle in developing 
effective tourism product strategies. 

 £¯ÝÒÍ _ØÖ»õ u¯õ›¨¦ EzvPøÍ E¸ÁõUSÁvÀ 
ö£õ¸Ò ÁõÌUøP _ÇØ]°ß £[øP £S¨£õ´Ä ö\´P. 

18. Discuss the pricing stratgegies adopted in the tourism 
industry and their impact on consumer behaviour. 

 _ØÖ»õzxøÓ°À Pøh¨¤iUP¨£k® Âø» {ºn¯ 
EzvPÒ ©ØÖ® ~Pº÷Áõº |hzøu°À AÁØÔß uõUP® 
£ØÔ ÂÁõvUPÄ®. 

19. Evaluate the significance of travel agents in the 
distribution of tourism products and services. 

 _ØÖ»õ ö£õ¸Ò ©ØÖ® ÷\øÁPÎß Â{÷¯õPzvÀ 
£¯n•PÁºPÎß •UQ¯zxÁzøu ©v¨¤kP. 

20. Design a comprehensive tourism promotions strategy for 
a newly developed tourist destination. 

 ¦vuõP E¸ÁõUP¨£mh _ØÖ»õu»zvØS J¸ Â›ÁõÚ 
_ØÖ»õ FUSÂ¨¦ Ezvø¯ ÁiÁø©UPÄ®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 

Second Semester 

Commerce With Corporate Secretaryship 

FINANCIAL ACCOUNTING – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is single entry system? 

 JØøÓ £vÄ •øÓ GßÓõÀ GßÚ? 

2. What is statement of affairs? 

 ÂÁPõμ AÔUøP GßÓõÀ GßÚ? 

3. What are departmental account? 

 xøÓ\õº PnUSPÒ GßÓõÀ GßÚ? 

4. What are direct and indirect expenses? 

 ÷|μi ©ØÖ® ©øÓ•P ö\»ÄPÒ GßÚ? 

5. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

6. What is straight line method? 

 ÷|º÷Põmk •øÓ GßÓõÀ GßÚ? 

Sub. Code 
22BCS2C1 
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7. Define the term Hire purchase. 

 ÁõhøP Áõ[SuÀ GßÓ ö\õÀø» Áøμ¯Ö. 

8. What is installment purchase system? 

 uÁøn •øÓ öPõÒ•uÀ •øÓ GßÓõÀ GßÚ? 

9. What is IFRS? 

 IFRS GßÓõÀ GßÚ? 

10. What is International Accounting Standards? 

 \ºÁ÷u\ PnUQ¯À uμ{ø»PÒ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) From the following information, calculate the profit 
earned by a petty trader during the year 2006. 

  Capital as on 31.12.2006             66,000 

  Capital as on 1.1.2006                  65,000 

  Drawing during 2006                     12,000 

  Further capital introduced by him     7,000 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x, J¸ Smi Â¯õ£õ›°ß 
÷£õx Dmi¯ »õ£zøuU PnUQk[PÒ.  

  Bsk 2006. 

  31.12.2006 AßÖ ‰»uÚ® 66,000 

  1.1.2006 AßÖ ‰»uÚ® 65,000 

  2006 CÀ ÁøμuÀ 12,000 

  AÁº AÔ•P¨£kzv¯ ÷©¾® ‰»uÚ® 7,000 

Or 
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 (b) Mohan a retail merchant commenced business with 
a capital of Rs.12,000 on 1.1.2006. Subsequently on 
1.5.2006 he invested further capital of Rs.5,000. 
During the year, he has withdrawn Rs.2,000 for his 
personal use. On 31.12.2006, his assets and 
liabilities were as follows. 

     Rs. 

  Cash at Bank 3,000 

  Debtors   4,000 

  Stock   16,000 

  Furniture   2,000 

  Creditors   5,000 

  Calculate the profit (or) loss made during the  
year 2006. 

  ]À»øÓ ÁoPμõÚ ÷©õPß 1.1.2006 AßÖ ¹.12,000 
‰»uÚzxhß ÁoPzøuz öuõh[QÚõº. öuõhº¢x 

1.5.2006 AßÖ ÷©¾® ¹.5,000 ‰»uÚzøu •u½k 
ö\´uõº. A¢u BsiÀ, AÁº uÚx ö\õ¢u 

E£÷¯õPzvØPõP ¹.2,000 v¸®£¨ ö£ØÖÒÍõº. 

31.12.2006 AßÖ, AÁμx ö\õzxUPÒ ©ØÖ® 
PhßPÒ ¤ßÁ¸©õÖ. 

      ¹. 

  Á[Q°À £n®  3,000 

  PhÚõÎPÒ   4,000 

  £[S    16,000 

  ©μa\õ©ßPÒ  2,000 

  Phß öPõkzuÁºPÒ 5,000 

  2006 B® BsiÀ HØ£mh »õ£® (AÀ»x) 
CÇ¨ø£U PnUQk[PÒ. 
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12. (a) Apportion the following expenses on the basis of cost 
of goods sold ratio among the four 

  Departments. A,B,C and D: 

  Sales (Rs) A: 2,00,000; B: 1,50,000; C: 1,00,000;  
D: 50,000 

  Gross Profit ratio: 20% on sales. 

  Expenses: Salaries Rs.6,000; Rent and Rates 
Rs.1,500; Insurance Rs.1,300. 

  |õßQÀ ÂØP¨£mh ö£õ¸mPÎß Âø»°ß 
ÂQuzvß Ai¨£øh°À ¤ßÁ¸® ö\»ÄPøÍ¨ 
£[QhÄ®. 

  xøÓPÒ . A, B, C ©ØÖ® D 

  ÂØ£øÚ (¹) : A : 2,00,000; B : 1,50,000  

C : 1,00,000;   D: 50,000. 

  ö©õzu »õ£ ÂQu®: ÂØ£øÚ°À 20% 

  ö\»ÄPÒ : \®£Í® ¹. 6,000; 

  ÁõhøP ©ØÖ® Pmhn[PÒ ¹.1,500;  

  Põ¨¥k ¹.1,300. 

Or 

 (b) Mixed goods were purchased for Rs.1,00,000 and 
later they were assorted into three categories X, Y 
and Z as follows: 

  X 1,000 - Selling price Rs.20 each 

  Y 2,000 - Selling price Rs.22.50 each 

  Z  2,400 - Selling price Rs.25 each 

  All categories yield the same rate of profit. Calculate 
the purchase price of each category. 



S–7408 

  

  5

  P»¨¦ ö£õ¸mPÒ ¹.1,00,000 ¤ßÚº AøÁ ‰ßÓõP 
ÁøP¨£kzu¨£mhÚ X, Y ©ØÖ® Z ÁøPPÒ 
¤ßÁ¸©õÖ. 

  X 1,000 & ÂØ£øÚ Âø» JÆöÁõßÖ® ¹.20 

  Y 2,000 & ÂØ£øÚ Âø» JÆöÁõßÖ® ¹.22.50 

  Z 2,400 & ÂØ£øÚ Âø» JÆöÁõßÖ® 25 

  AøÚzx ÁøPPÐ® J÷μ ©õv›¯õÚ »õ£zøu 
AÎUQßÓÚ. JÆöÁõÖ ÁøP°ß öPõÒ•uÀ 
Âø»ø¯²® PnUQk[PÒ.  

13. (a) An Asset is purchased for Rs.25,000. Depreciation is 
to be provided annually according to the straight 
line method. The useful life of the asset is 10 years 
and the residual value is Rs.5,000.You are required 
to find out the rate of depreciation and prepare 
asset account for the first three years. 

  J¸ ö\õzx ¹.25,000 ÷|º÷Põmk •øÓ£i 
÷u´©õÚ® Bsk÷uõÖ® ÁÇ[P£h ÷Ásk®. 
ö\õzvß £¯ÝÒÍ B²mPõ»® 10 BskPÒ ©ØÖ® 
«u•ÒÍ ©v¨¦ ¹.5,000 BS®. }[PÒ ÷u´©õÚ® 
ÂQuzøuU PshÔ¢x •uÀ ‰ßÖ BskPÐUS 
ö\õzxU PnUøPz u¯õ›UP ÷Ásk®. 

Or 

 (b) On 1.1.2000 Rs.1,000 there were machineries worth  
Rs.1,80,000 in a business firm. 

  On 30.6.2000 machinery was purchased for 
Rs.20,000. 

  On 31.12.2000 a small machine was sold for 
Rs.4,200 which was purchased for Rs.4,000 on 
1.1.2000. 

  On 31.12.2001 a machine which was purchased on 
1.1.2000 for Rs.12,000 was sold for Rs.8,000. 
Depreciation is provided at 10% per annum on fixed 
installment basis. Prepare Machinery account. 
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  1.1.2000 À ¹.1,000 ©v¨¤»õÚ C¯¢vμ[PÒ 

C¸¢uÚ. J¸ ÁoP {ÖÁÚzvÀ 1,80,000. 30.6.2000 

AßÖ C¯¢vμ[PÒ ¹.20,000. 

  31.12.2000 AßÖ ¹.4,000US Áõ[Q¯ ]Ô¯ 

C¯¢vμ® 1.1.2000 AßÖ ¹.4,200 US ÂØP¨£mhx.  

  31.12.2001 AßÖ ¹.12,000US Áõ[Q¯ C¯¢vμ® 

1.1.2000 AßÖ ¹.8,000 US ÂØP¨£mhx. {ø»¯õÚ 

uÁøn Ai¨øh°À BskUS 10% ÷u´©õÚ® 

ÁÇ[P¨£kQÓx. C¯¢vμU PnUøPz u¯õ›UPÄ®. 

14. (a) P purchases a motor car from Q whose cash price 

Rs.56,000. On 1.1.2020. Rs.15,000 is paid at signing 

of the contract and the balance is to be paid in three 

equal annual installments of Rs.15,000 each. 

Calculate the amount of interest included in each 

installment. 

  1.1.2020 AßÖ Q {ÖÁÚzvhª¸¢x J¸ ÷©õmhõº 

Põøμ P Áõ[SQÓx, Auß öμõUP Âø» ¹.56,000. 

J¨£¢uzvÀ øPö¯õ¨£ªk®÷£õx ¹.15,000 

ö\¾zu¨£kQÓx ©ØÖ® «u•ÒÍ öuõøP ¹.15,000 
u»õ ‰ßÖ \©©õÚ Bsk uÁønPÎÀ ö\¾zu¨£h 
÷Ásk®. JÆöÁõ¸ uÁøn°¾® ÷\ºUP¨£mkÒÍ 
Ámiz öuõøPø¯U PnUQk[PÒ. 

Or 

 (b) Distinguish between hire purchase and installment 

system. 

  ÁõhøP Áõ[SuÀ ©ØÖ® uÁøn •øÓ BQ¯ÁØøÓ 
÷ÁÖ£kzxP. 
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15. (a) Explain the advantages of IFRS. 

  IFRS Cß |ßø©PøÍ ÂÍUS[PÒ. 

Or 

 (b) Explain the AS I – presentation of Financial 
statement. 

  PnUQ¯À uμ{ø» I-{v AÔUøP°ß 
ÂÍUPUPõm]ø¯ ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions.  

16. Mr. Raman has maintained his books by single entry 
method. From the following details calculate profit for the 
year and a statement of affairs at the end of the year. 
Rs.1,000 (Cost) furniture was sold for Rs.5,000 on 
1.1.2006. 10% depreciation is to be charged on furniture. 
Mr. Raman has drawn Rs.1,000 per month. Rs.2,000 was 
invested further capital. 

 1.1.06 Rs. 31.12.06 Rs. 

Stock 40,000 60,000 

Debtors 30,000 40,000 

Cash 2,000 1,000 

Bank 10,000 5,000 

Creditors 15,000 25,000 

Outstanding expenses 5,000 8,000 

Furniture (Cost) 3,000 2,000 

 Bank balance on 1.1.2006 is as per cash book but the 
bank overdraft on 31.12.2006 is as per bank statement 
Rs.2,000 cheques drawing in December 2006 have not 
been encashed with in the year. 
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 v¸. μõ©ß uÚx ¦zuP[PøÍ JØøÓ £vÄ •øÓ°À 
£μõ©›zxÒÍõº. ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x 
BskUPõÚ »õ£zøu²®, Bsiß CÖv°À EÒÍ 
ÂÁPõμ[PÎß AÔUøPø¯²® PnUQk[PÒ. 

 ¹.1,000 (ö\»Ä) ©μa\õ©ßPÒ 1.1.2006 AßÖ ¹.5,000 US 
ÂØP¨£mhx. ©μa\õ©õßPÒ «x 10% ÷u´©õÚ® 
ÂvUP¨£k®. v¸.μõ©ß ©õu® ¹.1,000 Áøμ¢xÒÍõº. 
÷©¾® ‰»uÚ©õP ¹.2,000 •u½k ö\´¯¨£mhx. 

 1.1.06 ¹. 31.12.06 ¹. 

öuõhUP \μUQ¸¨¦ 40,000 60,000 

PhÚõÎPÒ 30,000 40,000 

öμõUP® 2,000 1,000 

Á[Q 10,000 5,000 

Phß öPõkzuÁºPÒ 15,000 25,000 

{¾øÁ°À EÒÍ ö\»ÄPÒ 5,000 8,000 

©μa\õ©õßPÒ (ö\»Ä) 3,000 2,000 

 1.1.2006 AßÖ Á[Q C¸¨¦ öμõUP¨ ¦zuPzvß£i 
EÒÍx, BÚõÀ 31.12.2006 AßÖ Á[QU PnUQß£i 
Á[Q JÁº iμõL¨m i\®£º 2006 CÀ GkUP¨£mh 
¹.2,000 Põ÷\õø»PÒ A¢u BsiÀ £n©õUP¨£hÂÀø». 

17. The following purchase were made by a business house 
having three departments: 

 Department A – 1000 units 

 Department B – 2000 units 

 Department C – 2400 units  

 Stock 1st January were: 

 Department A – 120 units 

 Department B – 80 units 

 Department C –  152 units  
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 The sales were: 

 Department A – 1020 units @ Rs.20 each 

 Department B — 1920 units @ Rs.22.50 each 

 Department C — 2496 units @ Rs.25 each 

 The rate of Gross profit is the same in each case. Prepare 
Departmental Trading Account. 

 ¤ßÁ¸® öPõÒ•uÀ ‰ßÖ xøÓPøÍU öPõsh J¸ 
ÁoP {ÖÁÚzuõÀ ö\´¯¨£mhx : 

 xøÓ A– 1000 A»SPÒ 

 xøÓ B – 2000 A»SPÒ 

 xøÓ C – 2400 A»SPÒ 

 áÚÁ› 1 öuõhUP \μUQ¸¨¦ 

 xøÓ A – 120 A»SPÒ 

 xøÓ B – 80 A»SPÒ 

 xøÓ C –  152 A»SPÒ 

 ÂØ£øÚ C¸¢ux: 

 xøÓ A – 1020 A»SPÒ @ ¹.20 JÆöÁõßÖ®  

 xøÓ B — 1920 A»SPÒ @ ¹.22.50 u»õ  

 xøÓ C — 2496 A»SPÒ @ ¹.25 JÆöÁõßÖ®  

 ö©õzu »õ£ ÂQu® JÆöÁõ¸ Âå¯zv¾® J÷μ 
©õv›¯õP C¸US®. xøÓ\õº ÁºzuU PnUøPz 
u¯õ›UPÄ®. 

18. A machinery was purchased for Rs.17,000 on 1.10.2006. 
Installation expenses incurred Rs.3,000. Accounts were 
closed on 31st March and depreciation charged at 10% on 
written down value method, On 31.3.2009 it was sold for 
Rs. 10,000. Prepare Machinery account for all the years. 

 J¸ C¯¢vμ® 1.10.2006 AßÖ ¹.17,000 {ÖÁÀ ö\»ÄPÒ 
BÚx ¹.3,000 PnUSPÒ ©õºa 31 AßÖ ‰h¨£mk, 
GÊu¨£mh ©v¨¦ •øÓ°À 10% ÷u´©õÚ® 
ÁvUP¨£mhx, 31.3.2009 AßÖ ¹.10,000. AøÚzx 
BskPÐUPõÚ C¯¢vμ PnUøP u¯õº ö\´¯Ä®. 
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19. Mr. P purchased 4 cars for Rs.14,000 each on 1.1.92 
under the hire purchase system. The hire purchase price 
for all the 4 cars was Rs.60,000 to be paid as Rs.15,000 
down payment and 3 equal installments of Rs. 15,000 
each at the end of each year. Interest is charges at 5% per 
annum. The buyer depreciates the car at 10% per annum 
on straight line method. From the above particulars give 
journal entries and relevant accounts in the books of  
Mr. P and in the books hire vendor.  

 v¸. P ÁõhøP öPõÒ•uÀ •øÓ°ß RÌ 1.1.92 AßÖ u»õ 
¹. 14,000US 4 PõºPøÍ Áõ[QÚõº. AøÚzx 4 
PõºPÐUS® ÁõhøP öPõÒ•uÀ Âø» ¹.60,000 BS®. 
•ß£n® ¹.15,000 ©ØÖ® 3 \© uÁøn¯õP JÆöÁõ¸ 
Bsk •iÂ¾® u»õ ¹.15,000. Ámi Gß£x BskUS 
5% Pmhn®. Áõ[S£Áº ÷|º÷Põk •øÓ°À Põ›ß 
©v¨ø£ BskUS 10% SøÓUQÓõº. 

 ÷©ØTÔ¯ ÂÁμ[PÎÀ C¸¢x v¸. P ¦zuP[PÎ¾®, 
ÁõhøP ÂØ£øÚ¯õÍº ¦zuP[PÎ¾® £zv›øP 
EÒÏkPÒ ©ØÖ® öuõhº¦øh¯ PnUSPøÍ öPõkUPÄ®. 

20. Explain the inventories Ind AS 2 and AS 7 Statement of 
cash flows. 

 Ind AS 2 ©ØÖ® AS 7 £n¨¦ÇUP AÔUøP°ß \μUSPøÍ 
ÂÍUSP. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 

Second Semester 

Commerce with Corporate Secretaryship 

MODERN BANKING AND INSURANCE MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Banking. 

 Á[Qø¯ Áøμ¯Ö. 

2. List any two features of a bank. 

 Á[Q°ß H÷uÝ® Cμsk A®\[PøÍ £mi¯¼kP. 

3. Name two indigenous banks in India. 

 C¢v¯õÂÀ EÒÍ Cμsk EÒ|õmk Á[QPøÍU 
SÔ¨¤hÄ®. 

4. Mention any two functions of the Central Bank. 

 ©zv¯ Á[Q°ß H÷uÝ® Cμsk ö\¯À£õkPøÍU 
SÔ¨¤hÄ®. 

5. What are Banking Sector Reforms? 

 Á[Qz xøÓ ^ºv¸zu[PÒ GßÓõÀ GßÚ? 

6. Define Non-Performing Assets (NPAs). 

 ö\¯À£hõu öPõzxUPÒ (NPAs) Áøμ¯ÖUP. 

Sub. Code 
22BCS2C2 
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7. List two functions of insurance. 

 Põ¨¥miß Cμsk ö\¯À£õkPøÍ £mi¯¼kP. 

8. State two benefits of insurance. 

 Põ¨¥miß Cμsk |ßø©PøÍU SÔ¨¤hÄ®. 

9. What does ‘abandonment’ refer to in marine insurance? 

 PhÀ Põ¨¥miÀ ‘øPÂkuÀ’ GøuU SÔUQÓx? 

10. Name two types of fire insurance policies. 

 Cμsk ÁøP¯õÚ w Põ¨¥mkU öPõÒøPPøÍU 
SÔ¨¤hÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What is the role of central banks in the banking? 

  Á[Q Aø©¨¤À ©zv¯ Á[QPÎß £[S GßÚ? 

Or 

 (b) Distinguish between a public sector bank and a 
private sector bank. 

  ö£õxzxøÓ Á[Q ©ØÖ® uÛ¯õº xøÓ Á[Qø¯ 
÷ÁÖ£kzxP. 

12. (a) List the secondary functions of commercial banks. 

  ÁoP Á[QPÎß Cμshõ® {ø» ö\À£õkPøÍ 
£mi¯¼kP. 

Or 

 (b) How does the central bank act as a lender of last 
resort? 

  Pøh] •¯Ø]¯õP ©zv¯ Á[Q GÆÁõÖ 
ö\¯À£kQÓx? 
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13. (a) Name two major banking sector reforms introduced 
after the 1991 economic liberalization. 

  1991 ö£õ¸Íõuõμ uõμõÍ©¯©õUP¾US¨ ¤ÓS 
AÔ•P¨£kzu¨£mh Cμsk ö£›¯ Á[Qz xøÓ 
^ºv¸zu[PøÍU SÔ¨¤hÄ®. 

Or 

 (b) What is Tier 1 and Tier 2 capital in the context of 
capital adequacy? 

  ‰»uÚ¨ ÷£õx©õÚ ußø©°ß ¤ßÚo°À AkUS 
1 ©ØÖ® AkUS 2 ‰»uÚ® GßÓõÀ GßÚ? 

14. (a) Describe the nature of insurance. 

  Põ¨¥miß ußø©ø¯ ÂÁ›. 

Or 

 (b) Explain the difference between pure risk and 
speculative risk. 

  y¯ B£zxUS® FP B£zxUS® EÒÍ 
÷ÁÖ£õmøh ÂÍUSP. 

15.  (a) Differentiate between ‘partial loss’ and ‘total loss’ in 
fire insurance. 

  w Põ¨¥miÀ ‘£Sv CÇ¨¦’ ©ØÖ® ‘ö©õzu CÇ¨¦’ 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

Or 

 (b) Name two types of coverage included in motor 
vehicle insurance. 

  ÷©õmhõº ÁõPÚU Põ¨¥miÀ ÷\ºUP¨£mkÒÍ 
Cμsk ÁøP¯õÚ PÁ÷μäPøÍU SÔ¨¤hÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Provide a comprehensive classification of banks: Central 
Bank, Commercial Banks, Cooperative Banks Specialized 
Banks and Development Banks. 

 Á[QPÎß Â›ÁõP ÁøP¨£õmøh ÁÇ[PÄ®: ©zv¯ 
Á[Q, ÁoP Á[QPÒ, TmkÓÄ Á[QPÒ, ]Ó¨¦ Á[QPÒ 
©ØÖ® ÷©®£õmk Á[QPÒ. 

17. Evaluate the challenges and opportunities faced by both 
types of banks in the modern Indian economy. 

 |ÃÚ C¢v¯¨ ö£õ¸ÍõuõμzvÀ Cμsk ÁøP¯õÚ 
Á[QPÐ® GvºöPõÒÐ® \ÁõÀPÒ ©ØÖ® Áõ´¨¦PøÍ 
©v¨¤kP. 

18. Analyze the role of the Banking Ombudsman Scheme in 
protecting consumer rights. How effective has the scheme 
been resolving banking disputes? 

 ~Pº÷Áõº E›ø©PøÍ¨ £õxPõ¨£vÀ Á[Q J®¦mì÷©ß 
vmhzvß £[øP £S¨£õ´Ä ö\´²[PÒ. Á[Qa 
]UPÀPøÍz wº¨£vÀ C¢uz vmh® GÆÁÍÄ 
£¯ÝÒÍuõP C¸¢ux? 

19. Define insurance and discuss its nature, functions, and 
importance in modern society. 

 Põ¨¥møh Áøμ¯Özx. |ÃÚ \•uõ¯zvÀ Auß ußø©, 
ö\¯À£õkPÒ ©ØÖ® •UQ¯zxÁ® £ØÔ ÂÁõv. 

20. Describe the different types of fire insurance policies and 
their coverage. 

 £À÷ÁÖ ÁøP¯õÚ w Põ¨¥mkU öPõÒøPPÒ ©ØÖ® 
AÁØÔß PÁ÷μä BQ¯ÁØ øÓ ÂÁ›. 

  
——— 
—— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. List any two functions of accounting. 

 PnUQ¯¼ß H÷uÝ® Cμsk £oPøÍ¨ TÖP. 

2. Briefly explain about realisation concept. 

 wºÄ P¸zx £ØÔ _¸UP©õP ÂÁ›UP. 

3. Give the golden rules of double entry accounting system. 

 Cμmøh¨ £vÄ PnUQ¯À •øÓ°ß ö£õßÚõÚ 
ÂvPøÍz u¸P. 

4. Write transaction which 

 (a) Decreases the assets and decreases the liabilities 

 (b) Increases one asset and decreases another asset. 

 ¤ßÁ¸ÁÚÁØÔUPõÚ |hÁiUPø¯z u¸P. 

 (A) ö\õzxUPÒ SøÓuÀ ©ØÖ® ö£õÖ¨¦PÒ SøÓzuÀ 

 (B) J¸ ö\õzx AvP›zuÀ ©ØÖ® ©ØöÓõ¸ ö\õzx 
SøÓuÀ. 

Sub. Code 
22BCSA2 
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5. Mention four types of subsidiary books. 

 H÷uÝ® |õßS xønHkPÎß ÁøPPøÍU SÔ¨¤kP. 

6. What is purchases book? 

 öPõÒ•uÀ Hk GßÓõÀ GßÚ? 

7. What is meant by bank overdraft? 

 Á[Q ÷©ÀÁøμ¨£ØÖ GßÓõÀ GßÚ? 

8. What is bank reconciliation statement? 

 Á[Qa \›Pmk® £mi¯À GßÓõÀ GßÚ? 

9. Write a note on trading account. 

 Â¯õ£õμU PnUS £ØÔ SÔ¨ö£ÊxP. 

10. What are wasting assets? 

 £¯ß w¸® ö\õzxPÒ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss in detail the importance of accounting. 

  PnUQ¯¼ß •UQ¯zxÁzvøÚ Â›ÁõP ÂÍUSP. 

Or 

 (b) Write a brief note on accounting equation approach 
of recording transactions. 

  PnUQ¯À \©ß£õmk •øÓ°À PnUSPøÍ £vÄ 
ö\´²® •øÓ°øÚ _¸UP©õP ÂÍUSP. 
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12. (a) From the following transactions of shyam, a 
stationery dealer, pass journal entries for the month 
of August 2017 

Aug.  

1 Commenced business with cash  

 Rs.4,00,000, Goods Rs.5,00,000 

2 Sold goods to A and money received  

 through RTGS Rs.2,50,000 

3 Goods sold to Z on credit for Rs.20,000 

5 Bill drawn on Z and accepted by him Rs.20,000 

8 Bill received from Z is discounted  

 with the bank for Rs.19,000 

10 Goods sold to M on credit Rs.12,000 

12 Goods distributed as free samples for Rs.2,000 

16 Goods taken for office use Rs.5,000 

17 M became insolvent and only  

 0.80 per rupee is received in final settlement 

20 Bill of Z discounted with the  

 bank is dishonoured 

  æ¯õ® GÝ® GÊxö£õ¸Ò Â¯õ£õμ›°ß 
SÔ¨÷£miÀ 2017 BPìm ©õuzvØS›¯ 
|hÁiUøPPøÍ £vÄ ö\´P. 

BPìk.  

1 öμõUP® ¹.4,00,000 ©ØÖ® \μUQ¸¨¦  

 ¹.5,00,000&zxhß öuõÈÀ öuõh[Q¯x 

2 A Gß£Á¸US \μUS ÂØ£øÚ ö\´x {PÌ ÷|μ 

 ö©õzu wºÁõP (RTGS) ‰»©õP öμõUP® ö£ØÓx 
¹.2,50,000 

3 Z Gß£Á¸US Phß ÂØ£øÚ ö\´ux ¹.20,000
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BPìk.  

5 Z Gß£Áº «x GÊv¯ ¹.20,000 UPõÚ ©õØÖa 
^miøÚ AÁº HØ¦ ö\´uõº 

8 Z Gß£Á›hª¸¢x ö£ØÓ ©õØÖa^mk Á[Q°À 

 uÒÐ£i ö\´ux ¹.19,000 

10 M Gß£Á¸US Phß ÂØ£øÚ ö\´ux ¹.12,000

12 ©õv› \μUSPÒ C»Á\©õP öPõkzux ¹.2,000 

16 A¾Á»Pz ÷uøÁUPõP \μUSPÒ Gkzux 
¹.5,000 

17 M Gß£Áº ö|õi¨¦ {ø»¯øh¢uuõÀ,  

 J¸ ¹£õ´US 80 Põ_PÒ Ãu® öμõUP® ö£ØÖ, 
AÁº PnUSz wºUP¨£mhx 

20 Á[Q°À uÒÐ£i ö\´u Z Gß£Á›ß  

 ©õØÖa^mk ©ÖUP¨£mhx 

Or 

 (b) Marry is a rice dealer having business for more than 
5 years. Pass journal entries in her books for the 
period of March, 2018 

March  Rs. 

(i) Rice bags bought on credit from Sibi 20,000

(ii) Electricity charges paid through net banking 500

(iii) Returned goods bought from Sibi 5,000

(iv) Rice bags taken for personal use 1,000

(v) Advertisement expenses paid 2,000

(vi) Goods sold to Mano 20,000

(vii) Goods returned by mano 5,000

(viii) Payment received from Mano through NEFT
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  ÷©› GßÓ A›] Â¯õ£õ› Ph¢u I¢x BskPÍõP 
öuõÈÀ |hzv Á¸QÓõº. AÁ¸øh¯ SÔ¨÷£miÀ 
2018 ©õºa ©õuzvØPõÚ |hÁiUøPPøÍ £vÄ 
ö\´P. 

©õºa  ¹. 

(i) ]¤ Gß£Á›hª¸¢x A›] ‰møhPÒ Phß 
öPõÒ•uÀ ö\´ux 

20,000

(ii) Cøn¯ Á[Q ‰»©õP ªßPmhn® ö\¾zv¯x 500

(iii) ]¤°hª¸¢x Áõ[Q¯ \μUS v¸¨¤ 
AÝ¨£¨£mhx 

5,000

(iv) ö\õ¢u¨ £¯ß£õmiØPõP Gkzu A›] 
‰møhPÒ ©v¨¦ 

1,000

(v) ÂÍ®£μU Pmhn® ö\¾zv¯x 2,000

(vi) ©÷Úõ Gß£Á¸US \μUS PhÝUS ÂØÓx 20,000

(vii) ©÷Úõ Gß£ÁμõÀ \μUS v¸¨¤¯Ý¨£¨£mhx 5,000

(viii) ©÷ÚõÂhª¸¢x ö£Ó ÷Ási¯ öuõøP 
ªßÚq £n¨£›©õØÓ® ‰»©õP £n® 
ö£Ó¨£mhx 

13. (a) Enter the following transactions in the purchases 
book of M/s. Subhashree Electric co. which deals in 
electric goods 

2017  

April 5 Purchased from Karthik Electric Co., on credit 

 10 electric iron box @ Rs.2,500 each 

 5 electric stoves @ Rs.2,000 each 

April 19 Purchased on credit from Khaitan Electric Co., 

 3 electric heaters @ Rs.6,000 each 

April 25 Purchased from polar Electric Co., on credit  

 10 fans @ Rs.2,000 each 

April 29 Purchased from M & Co for cash 

 10 electric stoves @ Rs.3,000 each 



S–7410 

  

  6

  ¤ßÁ¸® |hÁiUøPPøÍ ªß\õuÚ[PøÍ 
ÂØ£øÚa ö\´²® _£ÿ ªß ö£õ¸Ò {ÖÁÚzvß 
öPõÒ•uÀ HmiÀ £vÄ ö\´P. 

2017  

H¨μÀ 5 PõºzvU ªß ö£õ¸Ò {ÖÁÚzvhª¸¢x 
PhÝUS Áõ[Q¯x 

 10 ªß \»øÁ¨ ö£miPÒ JßÖ ¹.2,500 Âu®

 5 ªß\õμ Ak¨¦PÒ JßÖ ¹.2,000 Ãu® 

H¨μÀ 19 ÷Puõß ªß ö£õ¸ÍPzvhª¸¢x PhÝUS 
Áõ[Q¯x 

 3 ªß\õμ }º`÷hØÔ JßÖ ¹.6,000 Ãu® 

H¨μÀ 25 ÷£õ»õº ªß ö£õ¸Ò ÂØ£øÚ¯Pzvhª¸¢x 
PhÝUS Áõ[Q¯x 

 10 ªß Â]ÔPÒ JßÖ ¹.2,000 Ãu® 

H¨μÀ 29 M {ÖÁÚzvhª¸¢x öμõUPzvØS Áõ[Q¯x 

 10 ªß\õμ Ak¨¦PÒ JßÖ ¹.3,000 Ãu® 

Or 

 (b) From the following transactions write up the sales 
day book of M/s. Ram & Co, a stationery merchant 

2017  

Jan. 1 Sold to Anbu & Co., on credit 20 reams  

 of white paper @ Rs.150 per ream 

Jan. 2 Sold to Jagadish and sons on credit  

 6 dozen pens @ Rs.360 per dozen 

Jan. 10 Sold old newspapers for cash @ Rs.620 

Jan. 15 Sold on credit M/s. Elango & Co., 10 drawing 
boards @ Rs.170 per piece 

Jan. 20 Sold to Kani & Co., 4 writing tables at Rs.1,520 
per table for cash 
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  ¤ßÁ¸® |hÁiUøPPøÍ  GÊxö£õ¸Ò Â¯õ£õμ® 
ö\´²® Cμõ® {ÖÁÚzvß ÂØ£øÚ HmiÀ £vÄ 
ö\´P 

2017  

áÚÁ›. 1 Aß¦ÂØS PhÝUS ÂØÓx Ÿ® JßÖ  

 ¹.150 Ãu® 20 Ÿ®PÒ öÁÒøÍzuõÒ 

áÚÁ› 2 öáPwè {ÖÁÚzvØS J¸ háß ¹.360 
Ãu®  

 6 háßPÒ GÊx÷PõÀ PhÝUS ÂØÓx 

áÚÁ›. 10 £øÇ¯ ö\´vzuõøÍ öμõUPzvØS ÂØÓx 
¹.620 

áÚÁ›. 15 CÍ[÷PõÂØS PhÝUS ÂØÓx JßÖ 
¹.170 Ãu® 10 KÂ¯ AmøhPÒ 

áÚÁ›. 20 PÛ ÂØ£øÚ¯PzvØS JßÖ ¹.1,520 
Ãu® 4 GÊx ÷©ø\PøÍ öμõUPzvØS 
ÂØÓx 

14. (a) From the following particulars prepare a bank 
reconciliation statement of Jayakumar as on 31st 
December, 2016. 

  (i) Balance as per cash book Rs.7,130 

  (ii) Cheque deposited but not cleared Rs.1,000 

  (iii) A customer has deposited Rs.800 into the bank 
directly. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x öá¯US©õº Gß£Á›ß 
2016 i\®£º 31&® |õÐUS›¯ Á[Qa \›Pmk® 
£mi¯ø» u¯õº ö\´P. 

  (i) öμõUP Hmiß £i C¸¨¦ ¹.7,130 

  (ii) ö\¾zv¯ Põ÷\õø» Á`»õPõux ¹.1,000 

  (iii) ÁõiUøP¯õÍº ÷|μi¯õP Á[Q°À ö\¾zv¯x 
¹.800. 

Or 
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 (b) From the following particulars of Kamakshi traders, 
prepare a bank reconciliation statement as on  
31st March, 2018. 

  (i) Debit balance as per cash book Rs.10,500 

  (ii) Cheque deposited into bank amounting to 
Rs.5,500 credited by bank, but entered twice in 
the cash book 

  (iii) Cheques issued and presented for payment 
amounting to Rs.7,000 omitted in the cash 
book 

  (iv) Cheque book charges debited by the bank 
Rs.200 not recorded in the cash book. 

  (v) Cash of Rs.1,000 deposited b a customer of the 
business in cash deposit machine not recorded 
in the cash book. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Põ©õm] {ÖÁÚzvß 
2018 ©õºa 31&® |õõÍßøÓ¯ Á[Qa \›Pmk© 
£mi¯ø» u¯õº ö\´P. 

  (i) öμõUP Hmiß £i £ØÔ¸¨¦ ¹.10,500 

  (ii) Á[Q°À ö\¾zv¯ Põ÷\õø» ¹.5,500 
Á[Q¯õÀ ÁμÄ øÁUP¨£mhx. BÚõÀ öμõUP 
HmiÀ C¸ •øÓ £v¯¨£mhx 

  (iii) Âkzu Põ÷\õø» ¹.7,000 ö\¾zxøPUS 
•ßÛø»¨£kzu¨£mhx SÔzx öμõUP HmiÀ 
£vÄ CÀø» 

  (iv) Põ÷\õø» ¦zuPU Pmhn® ¹.200 Á[Q¯õÀ 
£ØÖ øÁUP¨£mhx öμõUP HmiÀ 
£v¯¨£hÂÀø» 

  (v) £n® øÁ¨¦ C¯¢vμ® Áõ°»õP 
ÁõiUøP¯õÍº ö\¾zv¯ ¹.1,000 öμõUP 
HmiÀ £v¯¨£hÂÀø». 



S–7410 

  

  9

15.  (a) From the following details, prepare profit and loss 
account 

Particulars Rs. 

Gross profit 50,000 

Office rent 10,000 

Depreciation on office assets 8,000 

Discount allowed 12,000 

Advertisement 4,000 

Audit fees 1,000 

Interest received 2,000 

Discount received 3,000 

Carriage outwards 2,500 

Insurance on office building 3,500 

General expenses 3,000 

Freight inwards 1,000 

  RÌUPõq® ÂÁμ[PÎ¼¸¢x C»õ£ |mhU 
PnUQøÚ u¯õ›UPÄ®. 

ÂÁμ® ¹. 

ö©õzu C»õ£® 50,000 

A¾Á»P ÁõhøP 10,000 

A¾Á»P ö\õzxPÒ «uõÚ ÷u´©õÚ® 8,000 

uÒÐ£i öPõkzux 12,000 

ÂÍ®£μ® 4,000 

uoUøPU Pmhn® 1,000 

Ámi ö£ØÓx 2,000 

uÒÐ£i ö£ØÓx 3,000 
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ÂÁμ® ¹. 

öÁÎyUSU T¼ 2,500 

A¾Á»P Pmhh® «uõÚ Põ¨¥k 3,500 

ö£õxa ö\»ÄPÒ 3,000 

EÒ HØÔa ö\À ö\»Ä 1,000 

Or 

 (b) From the following information, prepare profit and 
loss account for the year ending 31st December, 2016 

Particulars Rs. 

Gross loss 60,000 

Promotional expenses 5,000 

Distribution expenses 15,000 

Commission paid 7,000 

Interest on loan paid 5,000 

Packing charges (on sales) 4,000 

Dividend received 3,000 

Printing and stationery (office) 2,000 

Legal charges 5,000 

Bad debts 1,000 

Depreciation 2,000 

Rent received 4,000 

Loss by fire not covered by insurance 3,000 
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  RÌUPõq® ÂÁμ[PÎ¼¸¢x i\®£º 31, 2016 B® 
BsiØPõÚ C»õ£ |mhU PnUQøÚ u¯õ›UPÄ®.  

ÂÁμ® ¹. 

ö©õzu |mh® 60,000

ÂØ£øÚ ÷©®£õmiØPõÚ ö\»ÄPÒ 5,000

ÁÇ[PÀ ö\»ÄPÒ 15,000

AÎzu PÈÄ 7,000

Phß «uõÚ Ámi ö\¾zv¯x 5,000

Pmk©a ö\»ÄPÒ (ÂØ£øÚ «x) 4,000

£[Põuõ¯® ö£ØÓx 3,000

Aa_ ©ØÖ® GÊx ö£õ¸Ò (A¾Á»P®) 2,000

\mha ö\»ÄPÒ 5,000

ÁõμõUPhß 1,000

÷u´©õÚ® 2,000

ÁõhøP ö£ØÓx 4,000

Põ¨¥miØS Em£hõu w±ÚõÀ HØ£mh |mh® 3,000

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. “Only monetary transactions are recorded in accounting”. 

Explain the statement. 

 ‘£n® \õº¢u |hÁiUøPPÒ ©mk÷© PnUQ¯¼À 

£v¯¨£kuÀ ÷Ásk®’ & ÂÁ›. 
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17. Enter the following transactions in the books of Ganesan 

and post them into ledger 

2017 

Oct 

 Rs. 

1 Started business with cash 25,000

5 Deposited into bank 12,500

10 Purchased furniture and payment by 

cheque 

2,000

15 Goods purchased for cash 5,000

19 Sold goods to Vasu on credit 4,000

22 Goods worth Rs.500 taken for personal use 

 ¤ßÁ¸® |hÁiUøPPøÍ P÷n\ß Gß£Áμx HkPÎÀ 

SÔ¨÷£miÀ £vÄ ö\´x ÷£÷μmkU PnUSPÎ¾® Gkzx 

GÊxP. 

2017 
AU 

 ¹. 

1 öuõÈÀ öμõUPzxhß öuõh[Q¯x 25,000

5 Á[Q°¯À öμõUP® ö\¾zv¯x 12,500

10 AøÓP»ß Áõ[Q Põ÷\õø» öPõkzux 2,000

15 öμõUPzvØS \μUS Áõ[Q¯x 5,000

19 Áõ_ Gß£Á¸US PhÝUS \μUS ÂØÓx 4,000

22 ö\õ¢u¨ £¯ÝUPõP \μUSPÒ 

GkzxUöPõshx 
500
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18. Record the following transactions in the sales book and 
sales returns book of M/s. Ponni & Co. and post them to 
ledger. 

2017 
August 

 

1 Sold goods to Senthil as per invoice No. 68 for 
Rs.20,500 on credit 

4 Sold goods to Madhavan as per  

 invoice No.74 for Rs.12,800 on credit 

7 Sold goods to Kanagasabai as per  

 invoice No.78 for Rs.7,500 on credit 

15 Returns inward by Senthil as per credit Note  

 No.7 for Rs.1,500 for which cash is not paid 

20 Sold goods to selvam for Rs.13,300 for cash 

25 Sales returns of Rs.1,800 by Madhavan as per 

 credit note no.11 for which cash is not paid 

 ¤ßÁ¸® |hÁiUPPøÍ ö£õßÛ°ß ÂØ£øÚ Hk ©ØÖ® 
ÂØ£øÚz v¸¨£ HmiÀ £vÄö\´x ÷£÷μmiÀ 
GkzöuÊuÄ® 

2017 
BPìk 

 

1 Chõ¨¦ Gs 68 ß £i, ö\¢v¾US PhÝUS \μUS 
ÂØÓx ¹.20,500 

4 Chõ¨¦ Gs 74 ß £i, ©õuÁÝUS 

 PhÝUS \μUS ÂØÓx ¹.12,800 

7 Chõ¨¦ Gs 78 ß £i, PÚP\ø£US  

 PhÝUS \μUS ÂØÓx ¹.7,500 
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2017 
BPìk 

 

15 ÁμÄUSÔ¨¦ 7 ß£i, ö\¢vÀ v¸¨¤¯ \μUS  

 ©v¨¦ ¹.1,500&US öμõUP® AÎUP¨£hÂÀø» 

20 ö\ÀÁzvh® öμõUPzvØS \μUS ÂØÓx ¹.13,300 

25 ÁμÄUSÔ¨¦ 11 ß £i ©õuÁß v¸¨¤¯ \μUS  

 ¹.1,800&US öμõUP® ö\¾zu¨£hÂÀø» 

19. From the following particulars, ascertain the cash book 
balance as on 31st December, 2016. 

 (a) Overdraft balance as per bank statement 
Rs.1,26,640 

 (b) Interest on overdraft entered in the bank statement, 
but not yet recorded in cash book Rs.3,200 

 (c) Bank charges entered in bank statement, but not 
found in cash book Rs.600 

 (d) Cheques issued, but not yet presented for payment 
Rs.23,360 

 (e) Cheques deposited into the bank but not yet 
credited Rs.43,400 

 (f) Interest on investment collected by the bank 
Rs.24,000. 

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x 2016 i\®£º 31 –® 
|õÍßøÓ¯ öμõUP Hmiß C¸¨ø£¨ PshÔP. 

 (A) Á[Q AÔUøP°ß £i¯õÚ ÷©ÀÁøμ¨£ØÔ C¸¨¦ 
¹. 1,26,640 

 (B) Á[Q AÔUøP°ß £v¯¨ö£ØÓ ÷©ÀÁøμ¨£ØÔ 
«uõÚ Ámi, öμõUP HmiÀ £v¯¨£hÂÀø»  
¹. 3,200 

 (C) Á[Q AÔUøP°ß £v¯¨ö£ØÓ Á[QU Pmhn® 
öμõUP HmiÀ £v¯¨£hÂÀø»  
¹. 600 
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 (D) Âkzu Põ÷\õø» CßÝ® ö\¾zxøPUS 
•ßÛø»¨£kzu¨£hõux ¹. 23,360 

 (E) Á[Q°À ö\¾zv¯ Põ÷\õø» CßÝ®Á`¼zx ÁμÄ 
øÁUP¨£hõux ¹. 43,400 

 (F) Á[Q¯õÀ Á`¼UP¨mh •u½k «uõÚ Ámi  
¹. 24,000 

20. Following are the ledger balances of Devi as on  
31st December, 2016 

Debit balance Rs. Credit balance Rs. 

Purchases 35,000 Goodwill 40,000

Salaries 11,750 Sundry debtors 20,500

Drawings 4,500 Furniture 31,000

Opening stock 6,250 General expenses 3,250

Capital 50,000 Commission received 2,750
Sales 78,500 Loan 44,000
Carriage inwards21,800 Cash at bank 3,100
Bad debts 600 Provision for bad debts 2,500

 Prepare trading and profit and loss account for the year 
ended 31st December, 2016 and balance sheet as on that 
date. 

 (a) Stock on 31st December, 2016 Rs.5,800 

 (b) Write off bad debts Rs.500 

 (c) Make a provision for bad debts @ 5% 

 (d) Provide for discount on debtors @ 2%. 

 ÷uÂ Gß£Á›ß 2016 i\®£º 31 B® |õøÍ¯ ÷£÷μmkU 
PnUSPÒ ¤ßÁ¸©õÖ 

ÂÁμ® ¹. ÂÁμ® ¹. 
öPõÒ•uÀ 35,000 |Øö£¯º 40,000
\®£Í® 11,750 £Ø£» PhÚõÎPÒ 20,500
Gk¨¦PÒ 4,500 AøÓP»ß 31,000
öuõhUPa \μUQ¸¨¦ 6,250 ö£õxa ö\»ÄPÒ 3,250
•uÀ 50,000 ö£ØÓ PÈÄ 2,750
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ÂØ£øÚ 78,500 Phß 44,000
EÒyUSU T¼ 21,800 Á[Q öμõUP® 3,100
ÁõμõUPhß 600 ÁõμõUPhß JxUS 2,500

 2016, i\®£º 31 B® |õ÷Íõk •iÁøh²® BskUS›¯ 
Â¯õ£õμ C»õ£ |mhU PnUøP²®, A¢|õøÍ¯ 
C¸¨¦{ø»U SÔ¨ø£²® u¯õº ö\´¯Ä® 

 (A) 31.12.2016 AßÖ CÖva \μUQ¸¨¤ß ©v¨¦ 
¹.5,800 

 (B) ÁõμõUPhß ¹.500 ÷£õUöPÊuÄ® 

 (C) ÁõμõUPhß JxUS 5% E¸ÁõUPÄ® 

 (D) PhÚõÎPÒ «uõÚ uÒÐ£i JxUS 2% E¸ÁõUPÄ®. 

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 

Third Semester 

Commerce with Corporate Secretaryship 

COMPANY LAW AND SECRETARIAL PRACTICE – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a Company? 

 {ÖÁÚ® GßÓõÀ GßÚ? 

2. What do you meant by Incorporation? 

 CßPõº¨£÷μåß Gß£uß Aºzu® GßÚ? 

3. List out the contents of Prospectus. 

 uPÁÀ AÔUøP EÒÍhUP[PøÍ £mi¯¼kP. 

4. What is Mis-statement in prospectus? 

 uÁÓõÚ uPÁÀ AÔUøP GßÓõÀ GßÚ? 

5. What is equity share capital? 

 DUÂmi £[S ‰»uÚ® GßÓõÀ GßÚ? 

6. Write a note on underwriting of shares. 

 £[SPÎß GÊzxÖv  SÔzu SÔ¨ø£ GÊxP. 

Sub. Code 
22BCS3C1 
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7. Mention the types of Secretary. 

 ö\¯»õÍº ÁøPPøÍ SÔ¨¤k. 

8. List out the powers of company secretary. 

 {ÖÁÚ ö\¯»õÍ›ß AvPõμ[PøÍ £mi¯¼k. 

9. What is Appointment? 

 {¯©Ú® GßÓõÀ GßÚ? 

10. Define Debentures. 

 Phß £zvμ[PøÍ Áøμ¯Ö. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Difference between public and private company. 

  ö£õx ©ØÖ® uÛ¯õº {ÖÁÚ[PÐUS Cøh°»õÚ 
÷ÁÖ£õk GÊxP. 

Or 

 (b) What are preliminary contracts? State the legal 
position of such contracts. 

  §ºÁõ[P J¨£¢u[PÒ GßÓõÀ GßÚ? AzuøP¯ 
J¨£¢u[PÎß \mh {ø»ø¯U SÔ¨¤k. 

12. (a) Write a short note on statement in lieu of 
prospectus? 

  ¨μõìö£UhéúUS¨ £v»õP AÔUøP°ß «x J¸ ]Ö 
SÔ¨ø£ GÊxP. 

Or 

 (b) What are the contents of prospectus in company? 

  {ÖÁÚzvß EÒÍ uPÁÀ AÔUøP EÒÍhUP[PÒ 
GßÚ? 
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13. (a) Write a short note on Sweat equity shares? 

  ìöÁm DUÂmi £[SPÒ £ØÔ J¸ ]Ö SÔ¨ø£ 
GÊxP. 

Or 

 (b) Distinguish between bonus and right shares. 

  ÷£õÚì ©ØÖ® \›¯õÚ £[SPøÍ ÷ÁÖ£kzxP.  

14. (a) What are the functions of company secretary? 

  {ÖÁÚ ö\¯»õÍ›ß ö\¯À£õkPÒ GßÚ? 

Or 

 (b) What are the procedures for appoijntment of a 
company secretary? 

  {ÖÁÚ ö\¯»õÍ›ß {¯©ÚzvØPõÚ |øh•øÓPÒ 
GßÚ? 

15.  (a) What are features of debentures in company? 

  {ÖÁÚzvß EÒÍ Phß £zvμ[PÎß A®\[PÒ 
GßÚ? 

Or 

 (b) What are the procedures for acceptance of deposits? 

  øÁ¨¦zöuõøPø¯ HØÖU öPõÒÁuÒPõÚ 
|øh•øÓPÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer three questions. 

16. Explain the law related to alteration of name clause of 
Memorandum of Association. 

 ö©÷©õμõsh® BL¨ A÷\õ]÷¯åß ö£¯º Âvø¯ 
©õØÖÁx öuõhº£õÚ \mhzøu ÂÍUSP. 

17. Explain the various types of Prospectus. 

 ¨μõìö£Uhêß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 
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18. Define share capital. Distinguish between equity and 
preference share capital. 

 £[S ‰»uÚzøu Áøμ¯ÖUPÄ®. £[S ©ØÖ® •ßÝ›ø© 
£[S ‰»zøu ÷ÁÖ£kzxP. 

19. Explain the role and responsibilities of a company 
secretary. 

 J¸ {ÖÁÚ ö\¯»õÍ›ß £[S ©ØÖ® ö£õÖ¨¦PøÍ 
ÂÍUSP. 

20. Explain the different kinds of borrowing powers of a 
company. 

 J¸ {ÖÁÚzvß £À÷ÁÖ ÁøP¯õÚ Phß Áõ[S® 
AvPõμ[PøÍ ÂÍUSP. 

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define partnership. 

 Tmhõsø©ø¯ Áøμ¯ÖUPÄ®.  

2. What do you mean by minimum guarantee in 
partnership? 

Tmhõsø©°À SøÓ¢u£m\ EzuμÁõu® GßÓõÀ GßÚ? 

3. What do you understand by admission of a partner? 

J¸ TmhõÎ°ß ÷\ºUøP GßÓõÀ GßÚ? 

4. What is goodwill? 

|Øö£¯º GßÓõÀ GßÚ? 

5. How do calculate purchase consideration in case of sale to 
a company? 

 J¸ {ÖÁÚzvØS ÂØP¨£mhõÀ öPõÒ•uÀ ©Ö£¯ß 
£›^»øÚø¯ GÆÁõÖ PnUQkÁx? 

Sub. Code 
22BCS3C2 
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6. State the steps involved in closing the books of selling 
firm. 

 ÂØ£øÚ {ÖÁÚ[PÎß ¦zuP[PøÍ ‰kÁvÀ EÒÍ 
|hÁiUøPPøÍU SÔ¨¤hÄ®.  

7. What is Garner Vs Murray Rule? 

 PõºÚº Vs •º÷μ Âv GßÓõÀ GßÚ? 

8. What is dissolution of partnership? 

 Tmhõsø© Pø»¨¦ GßÓõÀ GßÚ? 

9. What is piecemeal distribution?  

 £Sv £[Rk GßÓõÀ GßÚ? 

10. What is proportionate capital method? 

 ÂQuõ\õμ ‰»uÚ •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. (either (a) or (b)) 

11. (a) Distinguish between ‘fixed’ and ‘fluctuating 
capitals’. 

  ‘{ø»¯õÚ’ ©ØÖ® ‘©õÖ£k® ‰»uÚ[PÐUS’ 
Cøh÷¯ ÷ÁÖ£kzuÄ®.  

Or 

 (b) Following is the balance sheet of Mohan and Madan 
on 31st Dec. 2022, after adjustment of profit for 2022 
and drawings. 

Liabilities Rs. Assets Rs. 

Capital  Land 16,000

Mohan — 40,000  Buildings 72,000

Madan — 48,000 88,000 Other Assets 48,000
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Liabilities Rs. Assets Rs. 

Creditors 32,000 Madan’s 
Drawings 

8,000

P & L 
appropriation 24,000

 

 1,44,000  1,44,000

  During the year 2022  

  (i) Profits were Rs. 40,000 

  (ii) Drawings of Mohan were Rs. 12,000 

  (iii) Interest is to be charged at 5% p.a. on opening 
capitals.  

   Calculate the interest on capital of Mohan and 
Madan.  

  31 i\®£º 2022 AßÖ ÷©õPß ©ØÖ® ©uÛß 
C¸¨¦{ø», 2022UPõÚ »õ£® \›ö\´uÀ ©ØÖ® 
Áøμ£h[PÐUS¨ ¤ÓS  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ  {»® 16,000

÷©õPß — 40,000  Pmih[PÒ 72,000

  ©uß — 48,000 88,000 ¤Ó ö\õzxUPÒ 48,000

PhÜ¢÷uõº 32,000 ©uß Gk¨¦  8,000

»õ£ |mh JxURk 24,000  

 1,44,000  1,44,000

  2022 B® BsiÀ  

  (i) »õ£® ¹. 40,000 

  (ii) ÷©õPÛß Áøμ£h[PÒ ¹. 12,000 

  (iii) öuõhUP ‰»uÚ[PÐUS 5% p.a Ámi 
ÂvUP¨£h ÷Ásk®.  

   ÷©õPß ©ØÖ® ©uÛß ‰»uÚzvß «uõÚ 
Ámiø¯U PnUQk[PÒ.  
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12. (a)  From the following information, calculate the value 
of goodwill, at 3 years’ purchase of super profit.  

  (i)  Average capital employed in the business 
Rs.6,00,000  

  (ii)  Net trading profits of the firm for the past 
three years were Rs.1,07,000, Rs.90,700; and 
Rs.1,12,500 

  (iii) Rate of interest expected from capital having 
regard to the risk involved is 12%;  

  (iv)  Fair remuneration to the partners for their 
services Rs.12,000 p.a. 

  ¤ßÁ¸® uPÁ¼¼¸¢x, 3 Á¸h ªøP C»õ£® 
Áõ[S® ÷£õx |Øö£¯º ©v¨ø£ PnUQkP.   

  (i) ÁoPzvÀ £¯ß£kzu¨£k® \μõ\› ‰»uÚ® 
¹. 6,00,000  

  (ii) Ph¢u ‰ßÖ BskPÎÀ {ÖÁÚzvß {Pμ 
ÁºzuP »õ£® ¹. 1,07,000, ¹. 90,700 ©ØÖ® 
¹. 1,12,500 

  (iii) Chº \®£¢u¨£mh ‰»uÚzv¼¸¢x 
Gvº£õºUP¨£k® Ámi ÂQu® 12%  

  (iv) £[SuõμºPÎß ÷\øÁPÐUPõÚ {¯õ¯©õÚ 

Fv¯® ¹. 12,000 p.a.  

Or 

 (b) D retired from a firm on 1-4-2023. The amount due 
to him was Rs.40,400. The terms of retirement 
provided for payment of Rs. 10,400 immediately and 
thereafter the debt was to be extinguished by 
payment of Rs. 10,000 every year on 31st March 
together with interest. The outstanding balance was 
to carry interest @5%. Show the Loan a/c. 
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D 1.4.2023 AßÖ J¸ {ÖÁÚzvß C¸¢x K´Ä 

ö£ØÓõº. AÁ¸US Áμ÷Ási¯ öuõøP ¹. 40,400. 

EhÚi¯õP ¹. 10,400 ö\¾zuÄ®. Auß¤ÓS 

JÆöÁõ¸ Bsk® ©õºa 31 B® ÷uv Ámi²hß 

÷\º¢x ¹. 10,000 ö\¾zv PhøÚ AhUP 

ÁÇ[P¨£k® K´Åv¯ Âv•øÓPÒ. {¾øÁ°À 

EÒÍ öuõøP¯õÚx Ámi @5% BS®. PhøÚU 

Põmk.  

13. (a) X, Y and Z sharing profits in the proportion of 3:2:1 

decided to dissolve partnership on 31.12.2022. Their 

balance sheet on that date was as under : 

Liabilities Rs. Assets  Rs. 

Capital a/c : Leasehold Premises 12,500

X 30,000 Goodwill 20,000

Y 10,000 Machinery 30,520

Z 10,000 Stock 7,550

Bank loan 11,500 Investments 6,330

Leasehold redemption  Debtors 5,800

fund 6,000 Less : reserve 500 5,300

Life policy fund 12,000 Join life policy 12,000

Machinery depreciation fund a/c 16,200 Cash at bank 1,500

 95,700  95,700

  The joint life policy is surrendered for Rs.10,000. 

The investments are taken over by Y for Rs.8,000. X 

agreed to discharge the bank loan. The remaining 

assets are sold for Rs.86,700. The expenses of 

realization amount to Rs.850. prepare realization 

account. 
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  X, Y ©ØÖ® Z 31.12.2022 AßÖ 3:2:1 GßÓ ÂQuzvÀ 

»õ£zøu¨ £QºÁx Tmhõsø©ø¯ Pø»UP •iÄ 

ö\´ux. A¢u ÷uv°À AÁºPÎß C¸¨¦{ø» 

¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ  ¹. 

•uÀ : SzuøP ÁÍõP® 12,500

X 30,000 |Øö£¯º 20,000

Y 10,000 C¯¢vμ[PÒ 30,520

Z 10,000 \μUQ¸¨¦ 7,550

Á[Q Phß 11,500 •u½kPÒ 6,330

SzuøP «m¦ {v  6,000 PhÚõÎPÒ 5,800

 (–) JxURk 500 5,300

B²Ò Põ¨¥k {v 12,000 B²Ò Põ¨¥k 12,000

C¯¢vμ ÷u´©õÚ {v P/S 16,200 öμõUP® 1,500

 95,700  95,700

Tmk B³Ò Põ¨¥k ¹. 10,000UP \μshº 

ö\´¯¨£kQÓx. •u½kPÒ ¹. 8,000US Y‰»® 

GkUP¨£kQÓx. X Á[Q PhøÚ ö\¾zu 

J¨¦UöPõshõº. «u•ÒÍ ö\õzxUPÒ ¹. 86,700US 

ÂØUP¨£kQÓx ö\¯À£kzxÁuØPõÚ ö\»ÄPÒ  

¹. 850 BS®. ©Ö©v¨¥k PnUøP u¯õº ö\´¯Ä®.   

Or 
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 (b) Sarasu, Mangai and Mekala share profits in the 
ratio of 4:3:2. They have decided to sell their firm to 
a limited company on June 30, 2022. Their Balance 
Sheet on that date was as follows  : 

Liabilities Rs. Assets Rs. 

Creditors 12,000 Land and Buildings 18,000

Capital : Machinery 12,000

Sarasu 20,000 Debtors 15,000

Mangal 15,000 Stock 13,000

Mekala 13,000 Cash 2,000

 60,000  60,000

  Purchase consideration agreed upon was Rs.50,000. 
Of this the company has paid Rs.32,000 in its own 
shares and the balance sheet in cash. Dissolution 
expenses of the firm Rs.600 was paid by the 
company. Give Journal entries. 

   \μ_, ©[øP ©ØÖ® ÷©P»õ •øÓ÷¯ 4:3:2 GßÓ 
ÂQuzvÀ C»õ£zøu £Qº¢x öPõÒQßÓÚ.   
áüß 30, 2022 AßÖ u[PÒ {ÖÁÚzøu J¸ 
¼ªöhm {ÖÁÚzvØS ÂØP •iÄ ö\´xÒÍÚº. 
A¢uz ÷uv AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÜ¢÷uõºPÒ 12,000 {»® ©ØÖ® Pmih® 18,000

•uÀ : C¯¢vμ® 12,000

\μ_ 20,000 PhÚõÎPÒ 15,000

©[øP 15,000 \μUQ¸¨¦ 13,000

÷©P»õ 13,000 öμõUP® 2,000

 60,000  60,000

  öPõÒ•uÀ £›^»øÚ ¹. 50,000. CvÀ {ÖÁÚ®  
¹. 32,000 uÚx ö\õ¢u £[SPÍõPÄ®, 
C¸¨¦{ø»ø¯ öμõUP©õPÄ® ö\¾zv²ÒÍx. 
{ÖÁÚzvß Pø»¨¦ ö\»Ä ¹. 600 {ÖÁÚzuõÀ 
ö\¾zu¨£mhx. SÔ¨÷£kPøÍ öPõk[PÒ.  
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14. (a) P, Q and R partners in a firm. They share profits 
and losses equally. Their Balance sheet on 
31.12.2022 is given as under: 

Liabilities Rs. Assets Rs.

Capital Machinery 40,000

P 16,000 Furniture 16,000

R 12,000 Debtors 40,000

Reserve Fund 18,000 Cash at Bank 8,000

Creditors 64,000 Q’s Capital 6,000

 1,10,000  1,10,000

  The partnership is dissolved due to insolvency of Q 
who is  unable to contribute anything in the 
payment of his debt to the firm. Machinery realized 
Rs.30,000 and furniture Rs. 64,000. Only Rs.24,000 
was recovered from debtors. Creditors were paid at 
a discount of 5%. Prepare the necessary accounts in 
the books of the firm when the capitals are 
fluctuating. Apply Garner vs Murray rule. 

  J¸ {ÖÁÚzvÀ P, Q ©ØÖ® R £[SuõμºPÒ »õ£ 
|èhzøu \©©õP¨ £Qº¢x öPõÒQÓõºPÒ.  
31-12-2022 AßÖ AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ 

öPõkUP¨£mkÒÍx: 
ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹.

•uÀ C¯¢vμ[PÒ 40,000

P 16,000 ©μa\õ©õßPÒ 16,000

R 12,000 PhÚõÎPÒ 40,000

C¸¨¦ {v 18,000 öμõUP® 8,000

PhÜ¢÷uõº  64,000 Q ‰»uÚ® 6,000

 1,10,000  1,10,000
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  {ÖÁÚzvØS uÚx PhøÚa ö\¾zxÁvÀ G¢u¨ 
£[PÎ¨ø£²® ö\´¯ •i¯õu Q Cß vÁõÀ 
ußø©¯õÀ Tmhõsø© Pø»UP¨£mhx. C¯¢vμ[PÒ 
¹.30,000 ©ØÖ® ©μa\õ©õßPÒ ¹.6,400. 
PhÚõÎPÎh® C¸¢x ¹.24,000 ©mk÷© 
Á`¼UP¨£mhx. PhÚõÎPÐUS 5% uÒÐ£i 
ÁÇ[P¨£mhx. ‰»uÚ[PÒ HØÓ CÓUP©õP C¸US® 
÷£õx {ÖÁÚzvß ¦zuP[PÎÀ ÷uøÁ¯õÚ 
PnUSPøÍ u¯õº ö\´¯Ä®. PõºÚº Vs •º÷μ 
Âvø¯¨ £¯ß£kzuÄ®. 

Or 

 (b) The following is the balance sheet of Arun, Babu, 
Cheran and David on 31.12.2022. They shared 
profits and losses in the ratio of 4:3:2:l. 

Liabilities Rs. Assets Rs. 

Capitals: Fixed assets 20,000

 Arun 15,000 Current assets 6,000

 Babu 10,000 Goodwill 5,000

 Cheran 1,500 David’s capital 500

Sundry creditors 5,000  

 31,500  31,500

  David has no separate assets and liabilities. The 
partners decided to dissolve the business. Fixed 
assets realized Rs.15,000 and current assets 
realized Rs.5,000. The Goodwill is valueless. 
.Realisation expenses amount to Rs. 1,500. Cheran 
can contribute only Rs.250 from his separate 
resources. Prepare Realisation A/c and insolvent 
partner’s A/c according to Garner Vs. Murray 
assuming that both Cheran and David have become 
solvent. 



S–7412 

  

  10

  31.12.94 AßÖ A¸s, £õ¦, ÷\μß ©ØÖ® ÷hÂm 
BQ÷¯õº 4 : 3 : 2 : 1 GßÓ ÂQuzvÀ »õ£ 
|èhzøu¨ £Qº¢x öPõsh C¸¨¦{ø» 
¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ : Aø\¯õ ö\õzx 20,000
 A¸s 15,000 Aø\²® ö\õzx 6,000
 £õ¦ 10,000 |Øö£¯º 5,000
 ÷\μß 1,500 ÷hÂmiß •uÀ 500
PhÜ¢÷uõº 5,000  

 31,500  31,500

  ÷hÂmiØS uÛ ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ 
CÀø». TmhõÎPÒ ÁoPzøu Pø»UP •iÄ 
ö\´uÚº. {ø»¯õÚ ö\õzxUPÒ ¹. 15,000 ©ØÖ® 
uØ÷£õøu¯ ö\õzxUPÒ ¹. 5,000 |Øö£¯º  
©v¨£ØÓx. ©Ö©v¨¦ ö\»ÄPÒ ¹. 1,500. ÷\μß 
uÚx uÛ Buõμ[PÎÀ C¸¢x ¹. 250 ©mk÷© 
£[PÎUP •i²®. PõºÚº Vs Cß £i ©Ö©v¨¦ P/S 
©ØÖ® vÁõ»õÚ TmhõÎ°ß P/S BQ¯ÁØøÓ 
u¯õ›UPÄ®. ÷\μß ©ØÖ® ÷hÂm BQ¯ C¸Á¸® 
Pøμ¨£õÚõP ©õÔ¯uõP •º÷μ P¸xQÓõº. 

15. (a) From the following distribute cash under 
proportionate capital method : 

  Capital of Partners A – Rs. 20,000; B – Rs. 10,000 ; 
profit sharing ratio – 3:2; I installment (cash) –  
Rs. 5,000; II installment (cash) – Rs. 2,000;  
III Installment (cash) – Rs. 1,000 

  ÂQuõa\õμ ‰»uÚ •øÓ°ß RÌ ¤ßÁ¸® 
£nzv¼¸¢x Â{÷¯õQUPÄ®.  

  £õ[SuõμºPÎß ‰»uÚ® A – ¹. 20,000;  
B – ¹. 10,000 ; C»õ£¨ £QºÄ ÂQu® – 3:2;  
I uÁøn (£n®) – ¹. 5,000; II uÁøn (£n®) – 
¹. 2,000; III uÁøn (£n®) – ¹. 1,000 

Or 

 (b) Explain about the maximum loss method on 
distribution of a partnership.  

  Tmhõsø© Â{÷¯õPzvÀ AvP£m\ CÇ¨¦ •øÓ 
£ØÔ ÂÍUPÄ®.  
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 Part C  (3 × 10 = 30) 
Answer any three questions. 

16. On 1st 31st January 2022, Kavitha and Sumathy entered 
into partnership and contributed Rs.80,000 and Rs.60,000 
respectively. They share profits and losses in the ratio of 
3:2. Sumathy is to be allowed a salary of Rs.16,000 per 
year. Interest on capitals is to be allowed at 5% p.a. and 
5% interest is to be charged on drawings. During the 
year, Kavitha withdrew Rs.12,000 and Sumathy 
Rs.24,000, interest being Kavitha Rs.280 and Sumathy 
Rs.200. Profit in 2022 before the above noted adjustments 
was Rs.42,320. Show the distribution of profits between 
the partners and prepare capital accounts (a) When they 
are fluctuating and (b) when they are fixed. 

áÚÁ› 1, 2022 AßÖ, PÂuõÄ® _©v²® £õºmÚºæ¨¤À 
~øÇ¢x •øÓ÷¯ ¹. 80,000 ©ØÖ® ¹. 60,000 ÁÇ[QÚº. 
AÁºPÒ 3:2 GßÓ ÂQuzvÀ »õ£® ©ØÖ® |èhzøu¨ 
£Qº¢x öPõÒQÓõºPÒ. _©vUS BskUS ¹. 16,000 
\®£Í® AÝ©vUP¨£h EÒÍx. ‰»uÚ[PÒ «uõÚ Ámi 
5% p.a. CÀ AÝ©vUP¨£h ÷Ásk®. ©ØÖ® 
Áμø£h[PÐUS 5% Ámi ÂvUP¨£k®. A¢u BsiÀ, 
PÂuõ ¹. 12,000 ©ØÖ® _©v ¹. 24,000, PÂuõ ¹. 280 
©ØÖ© _©v ¹. 200 Ámi GkzuÚº. ÷©÷» SÔ¨¤mh 
©õØÓ[PÐUS •ß 2022 CÀ »õ£® ¹. 42,320. 
£[SuõμºPÐUQøh÷¯¯õÚ C»õ£[PÎß Â{÷¯õPzøuU 
Põmi ‰»uÚU PnUSPøÍz u¯õ›UPÄ®. (A) AøÁ 
©õÖ£k •uÀ C¸US÷£õx ©ØÖ® (B) {ø» •uÀ. 

17. On 31.12.2022 the balance sheet of Madhan Mohan and 
Madhu showed as under. 

Liabilities Rs. Assets Rs. 

Creditors 45,000 Cash 6,000

Capital account : Stock 36,000

Madhan 45,000 Bills receivable 18,000

Mohan 30,000 Debtors 45,000

Madhu 30,000 Investment 45,000

General reserve 48,000 Buildings 48,000

 1,98,000  1,98,000
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 The partnership deed provides that the profit be shared 
in 2:1:1 and that in the event of death of a partner his 
executors be entitled to be paid out. (a) The capital to his 
credit at the date of last balance sheet. (b) His share of 
reserve at the date of last balance sheet. (c) His share of 
profits to the date of death based on the average profits of 
the last three completed years and (d) By way of goodwill 
his share of the total profits for the preceding three years. 
The profits for the last three years were: 2020  Rs. 48,000; 
2021  Rs. 49,800; 2022 Rs.46,200. Madhu died on 
01.04.2013. He had withdrawn Rs. 12,000 to the date of 
his death. The Investments were sold at par and Madhu’ s 
Executors were paid off. Pass the Journal entries and 
show Madhu’ s Capital Account. 

 31.12.2022 AßÖ ©uß ÷©õPß ©ØÖ® ©xÂß 
C¸¨¦{ø»U SÔ¨¦ RÌUPshÁõÖ Põmh¨£mhx.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
PhÜ¢÷uõº 45,000 öμõUP® 6,000
•uÀ PnUS : \μUQ¸¨¦ 36,000
©uß 45,000 ö£ÓzuUP ©õØÖ ^mk 18,000
÷©õPß 30,000 PhÚõÎPÒ 45,000
©x 30,000 •u½k 45,000
General reserve 48,000 Pmih® 48,000
 1,98,000  1,98,000

 Tmhõsø© £zvμ®, »õ£® 2:1:1 CÀ £Qº¢x öPõÒÍ¨£h 
÷Ásk® GßÖ®, J¸ £[Suõμº CÓ¢uõÀ, AÁøμ 
{øÓ÷ÁØÖ£ÁºPÐUS £n® ö\¾zu E›ø© Esk 
GßÖ® ÁÇ[SQÓx. (A) Pøh] C¸¨¦{ø» ÷uv°À 
AÁμx ÁμÄUPõÚ ‰»uÚ® (B) Pøh] C¸¨¦{ø» 
÷uv°À AÁμx C¸¨¦ £[S (C) Ph¢u ‰ßÖ •i¢u 
BskPÎß \μõ\› »õ£zvß Ai¨£øh°À CÓ¢u ÷uv 
Áøμ°»õÚ »õ£zvß AÁμx £[S ©ØÖ® (D) |Øö£¯º 
‰»® •¢øu¯ ‰ßÖ BskPÐUPõÚ ö©õzu »õ£zvÀ 
AÁμx £[S Ph¢u ‰ßÖ Á¸h[PÎß »õ£®  
2020 & ¹. 48,000; 2021& ¹. 49,800 ; 2022& ¹. 46,200. 
©x 01.04.2013 AßÖ CÓ¢uõº. AÁº CÓ¢u ÷uv°¼¸¢x 
¹. 12,000. •u»kPÒ \© AÍÂÀ ÂØP¨£mk ©xÂß 
{ºÁõQPÐUS £n® öPõkUP¨£mhx. SÔ¨÷£kPøÍ 
u¯õ›US® AÝ¨£Ä® ©ØÖ© ©xÂß ‰»uÚU PnUøPU 
PõmhÄ®.   
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18. The balance sheet of a firm stood as follows on 31.12.2023. 
Liabilities Rs. Rs. Assets Rs. Rs. 

Creditors  17,200 Cash at bank 6,200
Bills payable  1,000 Debtors 20,000
Capital A/cs:  LESS: Provison 1,000 19,000
Amir 20,000 Stock 22,000
Balu 20,000 Plant and Machinery 15,000
Cherian 10,000 50,000 Fixtures 1,500
  Goodwill 4,500
  68,200  68,200

 It was decided to sell the business to Andawar Ltd. which 
agreed to allot 6,000 fully paid shares of Rs. 10 each in 
full satisfaction of the purchase consideration. The 
company assumed liabilities except bills payable and took 
over all the assets excepting the bank balance. The 
partners, Amir, Balu and Cherian shared profits and 
losses in proportions of 1/2, 1/3, and 1/6 respectively. 
Prepare ledger accounts showing the final settlements as 
regards partners, assuming that the shares were duly allotted. 

 31.12.2023® |õÐUPõÚ C¸¨¦{ø»U SÔ¨¦  
¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ öuõøP ö\õzxUPÒ öuõøP 
PhÜ¢÷uõºPÒ 17,000 Á[Q°¸¨¦ 6,200
ö\¾zxuØS›¯  PhÚõÎPÒ    20,000 
  ©õØÖa ^mk 1,200 (–) JxUS        1,000 19,000
•uÀ P/S \μUQ¸¨¦ 22,000

A«º       20,000 ö£õÔ ©ØÖ®  

£õ¾       20,000    C¯¢vμ® 15,000

ö\›¯ß  10,000 50,000 ö£õ¸zxUPÒ 1,500

 |Øö£¯º 4,500

 68,200  68,200

 {ÖÁÚzøu BshÁº ¼m., US ÂØP •iÄ ö\´x, 
öPõÒ•uÀ ©Ö£¯ÝUPõP ¹. 10 Ãu® 6,000 £[SPÒ 
•ÊÁx® ö\¾zx® Âu©õP öPõkUP¨£mhx. 
ö£õÖ¨¦PÎÀ ö\¾zxuØS›¯ ©õØÖa^møh uÂμ 
AøÚzøu²® {Ö©÷© ö\¾zxÁuõPÄ®, ö\õzxUPÎÀ 
Á[Q°¸¨ø£ uÂμ AøÚzøu²® GkzxU öPõÒÁuõPÄ® 
EÖv¯Îzux. TmhõÎPÒ A«º, £õ¾ ©ØÖ® ö\›¯ß 
BQ÷¯õº C»õ£ |mh[PøÍ •øÓ÷¯ 1/2, 1/3 ©ØÖ® 1/6 
GßÓ ÂQuzvÀ £Qº¢x öPõshÚº. 

 £[SPÒ AøÚzx® J¨¦ öPõsh£i ö\¾zu¨£mhuõP 
öPõsk, TmhõÎPÎß PnUøP •iUP ÷£÷μmiÀ 
÷uøÁ¯õÚ PnUSPøÍ Põs¤UPÄ®. 
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19. A and B are in equal partnership. Their Balance sheet 
stood as follows: 

Liabilities Rs Assets Rs 

Capital A 600 Plant and Machinery 1,475

Sundry creditors -3,900 Furniture 400

 
- 

Debtors 500

 Stocks 625

 Bank 300

 B’s Capital 1,200

 4,500  4,500

 The assets were realized as follows: 

 Stock Rs.350, Furniture Rs.200, debtors Rs.500 and plant 
& machinery Rs.700. The cost of collecting and distributing 
the estate amounted to Rs.150. A’s Private estate is not 
sufficient even to pay his private liabilities, where as in B’s 
Private estate, there is a surplus of Rs.50. 

 Prepare realization account, cash account, creditors 
account, capital account and deficiency account of the 
partners. 

 A ©ØÖ© B \©©õÚ Tmhõsø©°À EÒÍÚ. AÁºPÎß 
C¸¨¦{ø» ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ A 600 Bø» ©ØÖ® C¯¢vμ[PÒ 1,475

PhÜ¢÷uõº -3,900 ©μa\õ©õßPÒ 400

 - PhÚõÎPÒ 500

 £[SPÒ 625

 Á[Q 300

 B’s •uÀ 1,200

 4,500  4,500
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 ö\õzxUPÒ ¤ßÁ¸©õÖ Enμ¨£mhÚ.  

 \μUQμ¨¦ ¹. 350, ©μa\õ©õßPÒ ¹. 200, PhÚõÎPÒ  

¹. 500 ©ØÖ® Bø» ©ØÖ® C¯¢vμ[PÒ ¹. 700. 
Gì÷hmøh ÷\P›zx Â{÷¯õQ¨£uØPõÚ ö\»Ä ¹. 150 

BS®. A Cß ¤øμ÷Ám Gì÷hm AÁμx uÛ¨£mh 

PhßPøÍ ö\¾zxÁuØS Th ÷£õx©õÚuõP CÀø», 

A[S B Cß ¤øμ÷Ám Gß÷hmiÀ ¹. 50 E£›¯õP 

EÒÍx.  

 ©Ö©v¨¥k PnUS, £nU PnUS, PhÚõÍº PnUS, 

‰»uÚU PnUS ©ØÖ® £[SuõμºPÎß SøÓ£õk PnUS 
BQ¯ÁØøÓz u¯õ›UPÄ®.  

20. The following is the Balance sheet of X, Y and Z as at 

30.12.22 

Liabilities Rs. Assets Rs. 

Capitals :   Plant and Machinery 50,000

 X 75,000 Land and Buildings 1,00,000

 Y 22,500 Stock 20,000

 Z 67,500 Debtors 70,000

Y’s Loan 13,000  

Creditors 62,000  

 2,40,000  2,40,000

 On the above date, they decided to dissolve the firm and 

to repay the amounts due to partners as and when the 

assets were realized viz. I-Realisation — Rs.45,000;  

II-Realization — Rs. 1,09,500; III-Realization — Rs.70,500. 

Prepare the statement showing the distribution should be 

made. 
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 30.12.22 CÀ EÒÍ X, Y ©ØÖ® Z Cß C¸¨¦{ø» 
¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

•uÀ   Bø» ©ØÖ® C¯¢vμ[PÒ 50,000

 X 75,000 {»® ©ØÖ® Pmih® 1,00,000

 Y 22,500 \μUQ¸¨¦ 20,000

 Z 67,500 PhÚõÎPÒ 70,000

Y&Phß 13,000  

PhÜ¢÷uõº 62,000  

 2,40,000  2,40,000

 ÷©ØTÔ¯ ÷uv°À, AÁºPÒ {ÖÁÚzøu Pø»UP •iÄ 
ö\´uÚº ©ØÖ® ö\õzxUPÒ Enμ¨£mhx®, 
£[SuõμºPÐUS ö\¾zu ÷Ási¯ v¸¨¤a ö\¾zu •iÄ 
ö\´uÚº I-©Ö©v¨¦ — Rs.45,000; II-©Ö©v¨¦ —  

Rs. 1,09,500; III-©Ö©v¨¦ — Rs.70,500. Â{÷¯õP® 
ö\´¯¨£h ÷Ásk® Gß£øuU Põmk® AÔUøPø¯ 
u¯õ›UPÄ®.  

———————— 
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B.Com. (CS) DEGREE EXAMINATION, APRIL 2025 

Fourth Semester 

Commerce with Corporate Secretaryship 

COMPANY LAW AND SECRETARIAL PRACTICE – II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term “director” under the Companies  
Act, 2013. 

 {ÖÁÚ[PÒ \mh® 2013 Cß RÌ “C¯USÚº” GßÓ 
ö\õÀø» Áøμ¯Ö. 

2. Who can become a company director? 

 ¯õº {ÖÁÚzvß C¯US|μõP •i²®? 

3. Which companies are required to appoint a woman 
director mandatorily? 

 G¢u {ÖÁÚ[PÐUS ö£s C¯US|øμ Pmhõ¯©õP 
{¯ªUP ÷Ásk®. 

4. Who is a shareholder director? 

 £[Suõμº C¯USÚº ¯õº? 

5. What is meant by board meeting? 

 ÷£õºk «mi[ GßÓõÀ GßÚ? 

Sub. Code 
22BCS4C1 
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6. What is meaning through video conferencing? 

 Ãi÷¯õ Põß£μß][ ‰»® GßÚ Aºzu®? 

7. What is inspection? 

 B´Ä GßÓõÀ GßÚ? 

8. What is investigation? 

 Â\õμøn GßÓõÀ GßÚ? 

9. What is winding up of companies? 

 {ÖÁÚ[PøÍ ‰kÁx GßÓõÀ GßÚ? 

10. What is dissolution of companies? 

 {ÖÁÚ[PÎß Pø»¨¦ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Explain the rights of directors. 

  C¯US|ºPÎß E›ø©PøÍ ÂÍUSP. 

Or 

 (b) Explain the procedure for allotment of Director 
identification number. 

  C¯USÚº Aøh¯õÍ Gsøn JxUSÁuØPõÚ 
|øh•øÓø¯ ÂÍUSP. 

12. (a) Who is an independent director? How is he 
appointed in companies? 

  J¸ _¯õwÚ C¯USÚº ¯õº? {ÖÁÚ[PÎÀ AÁº 
GÆÁõÖ {¯ªUP¨£kQÓõº? 

Or 

 (b) Explain the role of manager. 

  ÷©»õÍ›ß £[øP ÂÍUSP. 
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13. (a) State the procedure for issue of notice of company 
meetings. 

  {ÖÁÚzvß Tmh[PÎß AÔÂ¨ø£ 
öÁÎ°kÁuØPõÚ |øh•øÓø¯U SÔ¨¤hÄ®. 

Or 

 (b) Explain annual general meeting. 

  Bsk ö£õxU Tmhzøu ÂÍUSP. 

14. (a) Explain the procedure for appointment of an audit. 

  uoUøP {¯ª¨£uØPõÚ |øh•øÓø¯ ÂÍUSP. 

Or 

 (b) Explain the power and duties of an auditor. 

  uoUøP¯õÍ›ß AvPõμ® ©ØÖ® Phø©PøÍ 
ÂÍUSP. 

15. (a) Who can file a petition to the Tribunal for winding 
up companies? 

  {ÖÁÚ[PøÍ ‰kÁuØS ¯õº wº¨£õ¯zvÀ ©Ý 
uõUPÀ ö\´¯»õ®? 

Or 

 (b) List the areas of liquidation functions. 

  Pø»¨¦ ö\¯À£õkPÎß £SvPøÍ £mi¯¼kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the procedure removable of a director in a 
company. 

 J¸ {ÖÁÚzvÀ C¯USÚ›ß }UPUTi¯ ö\¯À•øÓø¯ 
ÂÍUSP. 

17. Explain the various methods of appointing a directors of 
the company. 

 {ÖÁÚzvß C¯USºPøÍ {¯ª¨£uØPõÚ £À÷ÁÖ 
•øÓPøÍ ÂÍUSP. 
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18. Explain the types of board meeting. 

 SÊ Tmhzvß ÁøPPøÍ ÂÍUSP. 

19. Discuss the powers of inspector to investigate any other 
body corporate. 

 ÷ÁÖ G¢u {ÖÁÚzøu²® Â\õ›UP Cßìö£Uh›ß 
AvPõμ[PøÍ¨ £ØÔ ÂÁõv. 

20. Explain the various modes of winding up of companies. 

 {ÖÁÚ[PøÍ ‰kÁuØPõÚ £À÷ÁÖ •øÓPøÍ ÂÍUSP. 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is census and sampling? 
 ©UPÒ öuõøP PnUöPk¨¦ ©ØÖ® ©õv› GßÓõÀ GßÚ? 

2. What is primary data? 
 •ußø© uμÄ GßÓõÀ GßÚ? 

3. What is measures of central tendency? 
 ø©¯¨ ÷£õUQß |hÁiUøPPÒ GßÓõÀ GßÚ? 

4. State any two limitations of arithmetic mean. 
 GsPou \μõ\›°ß H÷uÝ® Cμsk Áøμ¯øÓPÒ 

TÓÄ®. 

5. What is mean deviation? 
 \μõ\› Â»PÀ GßÓõÀ GßÚ? 

6. What is scatter diagram? 
 ]uÓÀ Áøμ£h® GßÓõÀ GßÚ? 

7. Explain the ‘Time series analysis’. 

 “÷|μz öuõhº¨ £S¨£õ´Ä” GßÓõÀ GßÚ? 

8. What is “index number”? 
 SÔ±mk Gs GßÓõÀ GßÚ? 
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9. What do you mean by independent events? 

 “_¯õwÚ {PÌÄPÒ” GßÖ }[PÒ GßÚ ö\õÀQÕºPÒ? 

10. What is dependent events? 

 “\õº¦ {PÌÄPÒ” GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the difference between primary data 
secondary data? 

  •ußø© uμÄ&US® Cμshõ® uμÄUS® EÒÍ 
Âzv¯õ\® GßÚ? 

Or 

 (b) What are the merits and demerits of direct 
interview method? 

  ÷|μi ÷|ºPõnÀ •øÓ°ß |ßø©PÒ ©ØÖ® 
wø©PÒ GßÚ? 

12. (a) Distinguish between weighted and unweighted 
mean. 

  Gøh²ÒÍ ©ØÖ® Gøh¯ØÓ \μõ\›ø¯ 
÷ÁÖ£kzx[PÒ. 

Or 

 (b) Give two properties of median. 

  Cøh{ø» AÍÂß Cμsk £s¦PøÍU öPõk[PÒ. 

13. (a) What are the characteristics of good measures of 
dispersion? 

  ]uÓ¼ß |À» |hÁiUøPPÎß £s¦PÒ GßÚ? 

Or 

 (b) Briefly explain the different methods of measuring 
dispersion. 

  ]uÓø» AÍÂkÁuØPõÚ £À÷ÁÖ Âu©õÚ 
•øÓPøÍ _¸UP©õP ÂÍUP®. 
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14. (a) What are the importance of time series? 

  Põ»z öuõhºÁ›ø\°ß&•UQ¯zxÁ® GßÚ? 

Or 

 (b) Explain the components of time series. 

  Põ»z öuõhº Á›ø\°ß TÖPøÍ ÂÍUPÄ®. 

15.  (a) Explain the different approaches to probability? 

  {PÌuPÄUPõÚ £À÷ÁÖ AqS•øÓPøÍ&ÂÍUS[PÒ. 

Or 

 (b) Briefly explain the mutually exclusive events with 
example. 

  £μì£μ {PÌÄPøÍ Euõμnzxhß _¸UP©õP 
ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the scopes of statistics? 

 ¦ÒÎ°¯¼ß ußø©PÒ ¯õøÁ? 

17. Calculate harmonic mean of the following data : 
Marks : 0-20 20-40 40-60 60-80 80-100

No. of students : 4 5 12 8 6 

 ¤ßÁ¸® uμÂß Ai¨£øh°À “íõº÷©õÛU \μõ\›ø¯U 
PnUQhÄ®”  

©v¨ö£sPÒ : 0-20 20-40 40-60

©õnÁºPÎß GsoUøP : 4 5 12 

©v¨ö£sPÒ : 60-80 80-100  

©õnÁºPÎß GsoUøP : 8 6  
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18. Calculate Karl Pearson’s co-efficient of skewness from the 
following data 

Marks : 0-10 10-10 20-30 30-40 40-50 

No. of students : 4 11 15 26 10 

Marks : 50-60 60-70 70-80 80-90 90-100

No. of students : 11 9 6 2 4 

 ¤ßÁ¸® uμÄPÎ¼¸¢x PõºÀ ¤¯º\Ûß ÁøÍÂß 
Cøn&vÓøÚU PnUQhÄ® 

©v¨ö£sPÒ : 0-10 10-10 20-30 30-40 40-50 
©õnÁºPÎß GsoUøP: 4 11 15 26 10 
©v¨ö£sPÒ : 50-60 60-70 70-80 80-90 90-100
©õnÁºPÎß GsoUøP: 11 9 6 2 4 

19. Calculate 6 yearly moving average from the following 
data and plot them in a graph paper 

Year 1980 1981 1982 1983 1984 1985
Demand (in tonnes) 105 120 115 110 100 130 
Year 1986 1987 1988 1989 1990  
Demand (in tonnes) 135 160 155 140 145  

 ¤ßÁ¸® uμÄPÎ¼¸¢x 6 Bsk |P¸® \μõ\›ø¯U 
PnUQmk AÁØøÓ Áøμ£hz uõÎÀ Áøμ¯Ä®. 

BskPÒ 1980 1981 1982 1983 1984 1985
÷uøÁ (hßPÎÀ) 105 120 115 110 100 130 
BskPÒ 1986 1987 1988 1989 1990  
÷uøÁ (hßPÎÀ) 135 160 155 140 145  

20. Three cards are drawn from a pack of 52 cards without 
replacement. What is the probability that they are all 
king cards? 

 52 AmøhPÒ öPõsh J¸ ÷£UQÀ C¸¢x ‰ßÖ 
AmøhPÒ ©õØÓ¨£hõ©À GkUP¨£kQßÓÚ AøÁ 
AøÚzx® μõáõ PõºkPÍõP C¸¨£uØPõÚ {PÌuPÄ 
GßÚ? 

———————— 


